V.10/24

TIELEE X3is#l

Tianli Electrical Machinery (Ningbo) Co., Ltd

oot wsoasool (@) REACH AV AY CE & & @

-
|

RERFGABRBERESE, RUNEERFREHEEER, BRFTEHN

The technical data of the products in this catalogue are only for reference, Tianli reserves the rights for specification update or change. TC-2303

D/"C0m Singel 3 | B-2550 Kontich | Belgium | Tel. +32 (0)3 458 30 33 | info@alcom.be | www.alcom.be
electronics Rivium 1e straat 52 | 2909 LE Capelle aan den ljssel | The Netherlands | Tel. +31 (0)10 288 25 00 | info@alcom.nl | www.alcom.nl



1Vl fE1 Y Company profile

REBAHL (T ) BRASMILT 1998 F, REMFALNELHTFHNEBTMHFERZ—, ARVRS. T AL,
B, RA. BE. 2R AEXRE. FREFTLNEFRASRENT RTRS. SEHREFRMAT TR
EFX, B8R 2/NNER, BYERMERIGEELERN,

X B2 3K 1S09001, 1SO14001, 1SO45001 1 IATF16949 EIR R LiAIE, FF4#H UL 1 VDE SRR =, =aF
% RoHS 1 REACH ##%57 X, Mk, &5, C€ &, 0 SNk,

ATREASTMEEER, RUX CAD &It, MAFREKE, FRIEMREMATRKEZINBHRRARN.
ZEZFNEN, RINBHEMZRZSHR, FEFMAEFEHSRENSRTETLRS, LR,

Founded in 1998, Tianli Electrical Machinery (Ningbo) Co., Ltd. is one of the leading manufacturers of
terminal blocks and metal parts in Asia, providing high quality products and service to customers of
security system,industrial automation, electric power, lighting, telecommunication, power supply, rail
transportation, new energy and so on. The headquarter and facility is located in Hangzhou Bay New
Zone, Ningbo, only 2 hours to Shanghai. The transportation is very convenient here for goods shipment
& customer visiting.

Tianli has been granted ISO9001, ISO14001, ISO45001 and IATF16949 management system certifications
and own the UL and VDE authorized laboratory. The products are approved by Y, M, &, C€, &),
€59, RoHS and REACH.

To keep advancement and win the favor of customers, Tianli made large investment in CAD design,
mould development equipments, injection/stamping machines and staff skills training. With years of
efforts, Tianli’ s sales network covers the whole world, and will continuously supply customers with high
quality products and professional service, reaching the achievement of win-win prosperity.

B3 Index

102-103 TLF SERIES - Fuse Terminal Block

104-105 FH SERIES - Fuse Holder

106-108 TQQ & TQS SERIES - PCB Fast Connector

04-19 TLPS SERIES - Plug(Female) for Pluggable Terminal Block -
Pitch: 2.5mm, 2.54mm, 3.50mm, 3.81 mm, 5.00mm, 5.08mm, 7.50mm, 7.62mm, 10.16mm, 15.00mm
20-43 TLP SERIES - Header(Male) for Pluggable Terminal Block -
Pitch: 2.5mm, 2.54mm, 3.50mm, 3.81 mm, 5.00mm, 5.08mm, 7.50mm, 7.62mm, 10.16mm, 15.00mm
- Spring-cage Clamp Terminal Block X
44-53 TLC SERIES - Spring-cag p Termi e
Pitch: 2.50mm, 3.50mm, 3.81mm, 5.00mm, 5.08mm, 7.50mm, 7.62mm "\,'ﬁ'
54-61 TL SERIES - Wire Protector PCB Screw Terminal Block ‘
Pitch: 3.50mm, 3.81 mm, 5.00mm, 5.08mm, 7.50mm, 7.62mm
TL SERIES - Raising Clamp PCB Screw Terminal Block
62-76 Pitch: 2.54mm, 3.50mm, 3.81 mm, 5.00mm, 5.08mm, 6.35mm, 7.50mm, 9.52mm, 10.16mm,
12.00mm, 12.70mm, 15.00mm
78-91 TLM SERIES - PCB Spring Terminal Block “
Pitch: 2.50mm, 2.54mm, 3.50mm, 5.00mm, 5.08mm, 7.00mm, 7.50mm, 7.62mm, 10.00mm, 10.16mm
92-97 TLB SERIES - Terminal Strip
Pitch: 8.0mm, 10.0mm, 12.0mm, 13.5mm, 11mm, 14mm, 14.5mm, 16.5mm, 18.5mm v
98-101 TPK SERIES - Panel Feed-through Terminal Block ﬁ;




TLPS SERIES - Plug(Female) for
Pluggable Terminal Block

How to order

TLPS(D)(W)(L) - O]

o

g

VRO -O0O00d0-00prP0O-00

L

Screw: S=Slot screw, C=Cross screw

Color:K=Black, G(G12)=Green, L=Blue, B=Beige:---

5=Double pitch, None=Standard pitch

Poles

Special code

V=180°, R=90°, L=hook on back side

Series number

Pitch: 0=3.50, 1 =8.81, 2=5.00, 3=5.08, 4=7.50, 5=7.62, 8=10.16, 9=15.00
D=Double row, W=With flange, L= with locking flange

TLPS SERIES - Plug(Female) for Pluggable Terminal Block

TLPS-006V

175

19.20

HHIHH
LI
A=230x(P-1)

L=25xP+06

TLPS-001V(TLPS-100V)

.
g .--l
.-
\
L=3.50xP ) 15.60
L=381xP
\F——
oo
350
381

1509001 15045001

15014001 IATF16949 BNUS N c € @ @

TLPSW-001V(TLPSW-100V)

L=350x(P-1}+13.80
L=3.81x(P-1)+14.20

435 195
450 191

-
1

FH AR Technical data

HAEIE Technical data

AR Technical data

Pitch ( [a]EE ): 2.50mm Pitch ( [&]EE ): 3.50mm(3.81mm) Pitch ( J81EE ): 3.50mm(3.81mm)
Approval (TAIE ): AV Approval (TAIE ): AV Approval (IAIE): A
Rated voltage ( BBJE ): 150V Rated voltage (BB/E ): 300V 150V Rated voltage ( EBJE ): 300V 150V
Rated current ( B3 ): 5A Rated current (EB3% ):  8A 10A Rated current (3% ): 8A 10A
Wire range ( %1% ): 28~20AWG Wire range ( %1% ): 30-14AWG  1.5mm’ Wire range ( %1% ): 30-14AWG  1.5mm’
Screw (#8% ): M2 Screw ( 18%2 ): M2
#15 Part Number #5 Part Number #15 Part Number
&% (Poles) A5 (Model) R (Poles) A5 (Model) RE (Poles) A5 (Model)
02 TLPS-006V-02P 02 TLPS-001V-02P(TLPS-100V-02P) 02 TLPSW-001V-02P(TLPSW-100V-02P)
24 TLPS-006V-24P 24 TLPS-001V-24P(TLPS-100V-24P) 24 TLPSW-001V-24P(TLPSW-100V-24P)

TLPS-001R(TLPS-100R)

3.6x(P-1)+4.6
(3.81x(P-1)+4.6)

3.60
(3.81)

TLPSW-001R(TLPSW-100R)

e [l

3.6x(P-1)+14.4
(3.81x(P-1)+14.4)

19.10

3.50
(3.81)

TLPS-001RL(TLPS-100RL)

=h
P

3.6x(P-1)+4.6
(3.81x(P-1)+4.6)

3.50
(3.81)

A EIE Technical data

A EIE Technical data

A HHE Technical data

Pitch ( [&)#E ): 3.50mm(3.81mm)

Pitch ( [&]EE ): 3.50mm(3.81mm)

Pitch ( [a]EE ): 3.50mm(3.81mm)

Approval (IAIE ): s

Approval (IAIE ): A

Approval (IAIE ): A

Rated voltage (/£ ): 300V

Rated voltage (B/E ): 300V

Rated voltage ( BB [% ): 300V

Rated current (E83% ) 8A

Rated current (3% ):  8A

Rated current ( B83% ): 8A

4 www.tielee.com ‘%E:

Wire range ( %1% ): 30-14AWG Wire range ( %1% ): 30-14AWG Wire range ( %413 ): 30-14AWG

Screw ( #84): M2 Screw (484 ): M2 Screw (#1842 ). M2

#1S Part Number #S Part Number #1S Part Number

REL (Poles) #S (Model) REL (Poles) £S5 (Model) 1RE (Poles) #IS (Model)

02 TLPS-001R-02P(TLPS-100R-02P) 02 TLPSW-001R-02P(TLPSW-100R-02P) 02 TLPS-001 RL-02P(TLPS-100RL-02P)
24 TLPS-001R-24P(TLPS-100R-24P) 24 TLPSW-001R-24P(TLPSW-100R-24P) 24 TLPS-001 RL-24P(TLPS-100RL-24P)

? www.tielee.com 5



TLPS SERIES - Plug(Female) for Pluggable Terminal Block

20 Dot Ml N CE & & @ &

TLPS SERIES - Plug(Female) for Pluggable Terminal Block

1509001 15045001

15014001 IATF16949 BN‘US N c € @ @ {

TLPSW-001RL(TLPSW-100RL)

- 5T

&

3.6x(P-1)+14.4
(3.81x(P-1)+14.4)

TLPS-003

TLPS-011(TLPS-111)

L=A+430
L=A+460

TLPHSWA-112

1.0

230 _ A=38P-1)__[450

TLPS-009V(TLPS-109V)

an | Lﬂ_‘ 1380

2
4 (230 TR=3BIXIP-TT

A=350K(P-1)

(Lzm 0]

LH]

680
i
1

(230 L

TLPS-009R(TLPS-109R)

m Az
) (=5

#130-6140 51

[
T

i

W
1230)

HAEIRE Technical data

# AR ¥R Technical data

AR Technical data

10.40
V727 V7Y, I
o ﬁ Oy
Jzz ° LA b 2]
= = [\ 8p-24p
. No rising point
= E:
DI
' A=350x(P-1)
] el ASSP A=381IP1)
A ¥IFE Technical data A #E Technical data FH AR Technical data
Pitch ( [&]EE ): 3.50mm(3.81mm) Pitch ( [a]EE ): 3.50mm Pitch ( J81EE ): 3.50mm(3.81mm)
Approval (IAIE ): AV Approval (IAIE ): AV Approval (IAIE ): AV
Rated voltage ( B8/ ): 300V Rated voltage ( BJE ): 300V Rated voltage (B[ ): 300V 320V
Rated current (3% ): 8A Rated current ( B85} ): 10A Rated current (5% ):  8A 10A
Wire range ( %1% ): 30-14AWG Wire range ( %1% ): 30-16AWG Wire range ( %1% ): 30-14AWG 0.2-1.5mm’
Screw (#2% ): M2 Screw ( 1842 ): M2.0 Screw (18% ): M2
#5 Part Number #1S Part Number #15 Part Number
k% (Poles) #5 (Model) &% (Poles) #5 (Model) &% (Poles) #S (Model)
02 TLPSW-001RL-02P(TLPSW-100RL-02P) 02 TLPS-003-02P 02 TLPS-011-02P(TLPS-111-02P)
24 TLPSW-001RL-24P(TLPSW-100RL-24P) 24 TLPS-003-24P 24 TLPS-011-24P(TLPS-111-24P)
TLPSW-011(TLPSW-111) TLPHS-112 TLPHSW-112

L=A+1380
L=A+14.00

3 g :eir77775
PIRREREE

[ L[]

00.80

110

(|

_ l230] 381
A=381(P-1)

17.90

00.80

o
=i ]
= E
IEL

O

110

1

230 A=381(P-1) _|4.50

Pitch ( [&]E ): 3.81mm Pitch ( [8]8E ): 3.50mm(3.81mm) Pitch ( [8]EE ): 3.50mm(3.81mm)
Approval (IAIE ): AV Approval (TAIE ): Al (3.50mm Applying) Approval (IAIE ): AV (3.50mm Applying)
Rated voltage (% ): 300V 320V Rated voltage ( BBJE ): 300V 320V Rated voltage ( B [E ): 300V 320V
Rated current (EB3% ):  8A 10A Rated current ( B3 ): 8A 10A Rated current ( B85k ): 8A 10A
Wire range ( %1% ): 30-14AWG 0.2-1.5mm’ PCB hole Dia(PCB &fZ ): ®1.3mm-®1.4mm PCB hole Dia(PCB &% ): ®1.3mm-®1.4mm
Screw (#2% ): M2
#15 Part Number #15 Part Number #5 Part Number
&% (Poles) A5 (Model) 1R%% (Poles) #15 (Model) &% (Poles) A5 (Model)
02 TLPHSWA-112-02P 02 TLPS-009V-02P(TLPS-109V-02P) 02 TLPS-009R-02P(TLPS-109R-02P)
24 TLPHSWA-112-24P 24 TLPS-009V-24P(TLPS-109V-24P) 24 TLPS-009R-24P(TLPS-109R-24P)

TLPSW-009V(TLPSW-109V) TLPSW-009R(TLPSW-109R) TLPSD-020

256x(P/2-1)+3.10
_ - [

150

7%

i

—te-

b S

k-
J4D,

1450

%

.
f
!
!
! IR
ébw L 8 s

U 12.00
|10 435
— L%J It o A-350K(P-) il o jghz!\‘gﬁzt
10,50 ‘A[ﬂ}“) (L=Ae14.20) o = E!E =
§l ‘ mwwy [EXwD) 5 gi‘ayga‘b 5 ;: E Ef‘é E
L] i
350 |
1381 A (3:‘] A \ \
L L
HABIE Technical data A HIRE Technical data HABE Technical data
Pitch ( [&]EE ): 3.50mm(3.81mm) Pitch ( [E]EE ): 3.50mm(3.81mm) Pitch ( [a]#E ): 2.54mm

Approval (IAIE ): Al VDE(Applying) Approval (A ): A\ VDE(Applying) Approval (TAIE ): UL(Applying) VDE(Applying)
Rated voltage (BB/% ): 300V 320V Rated voltage (EB/E ): 300V 320V Rated voltage ( B [E ): 150V 320V
Rated current (E83% ):  8A 10A Rated current (3% ):  8A 10A Rated current ( B3% ): 5A 6A

A B4R Technical data AR, Technical data #H A B} Technical data

Pitch ( [a]#E ): 3.50mm(3.81mm) Pitch ( [a]EE ): 3.81mm Pitch ( [&1EE ): 3.81mm

Approval (IAIE ): AV Approval (IAIE ): AV Approval (IAIE ): A
Rated voltage (B8/E ): 300V 320V Rated voltage (EB/E): 300V 320V Rated voltage (EEJ£): 300V 320V
Rated current (83 ):  8A 10A Rated current (83 ):  8A 10A Rated current (B85 ):  8A 10A
Wire range ( %1% ): 30-14AWG 0.2-1.5mm? Wire range ( %1% ): 30-14AWG 0.2-1.5mm? Wire range ( %442 ): 30-14AWG 0.2-1.5mm?
Screw (4842 ). M2 Screw (1242 ). M2 Screw (#842): M2

#S Part Number #1S Part Number #1S Part Number

&% (Poles) S (Model) &% (Poles) S (Model) R (Poles) AUS (Model)

02 TLPSW-011-02P(TLPSW-111-02P) 02 TLPHS-112-02P 02 TLPHSW-112-02P
24 TLPSW-011-24P(TLPSW-111-24P) 24 TLPHS-112-24P 24 TLPHSW-112-24P

6 www.tielee.com ‘%E:

PCB hole Dia(PCB % ): ®1.3mm-®1.4mm

PCB hole Dia(PCB 1% ): ®1.3mm-®1.4mm

Wire range ( %412 ): 30-20AWG  0.2-0.5mm?

#1S Part Number

#1S Part Number

#S Part Number

R (Poles) #U-S (Model) &% (Poles) S (Model) R (Poles) S (Model)
02 TLPSW-009V-02P(TLPSW-109V-02P) 02 TLPSW-009R-02P(TLPSW-109R-02P) 04 TLPSD-020-04P
24 TLPSW-009V-24P(TLPSW-109V-24P) 24 TLPSW-009R-24P(TLPSW-109R-24P) 48 TLPSD-020-48P

? www.tielee.com 7



TLPS SERIES - Plug(Female) for Pluggable Terminal Block

1509001 15045001 @
1S014001 IATF16949

TLPS SERIES - Plug(Female) for Pluggable Terminal Block

1509001 15045001 @
1S014001 IATF16949

Al AY C€ @ @:

TLPSDW-020

256x(P/2-1+10.30
515 254

1200

(19.10)

180

TLPSDL-020

250x(P/2-11+13.60

fiE
1k

}

reae)
| [

B

1200

i

m00000

pooooo

o IT0UTo
T

4

[

(20.10)

[Clkg

o

=4

TLPSDR-020

256x(P/2-1+3.10

2l
Il

H A BE Technical data

FH AR Technical data

AR Technical data

TLPSW-007(TLPSW-107)

L=A+13.80
L=A+14.00

A=3.50x(P-])
A=3.81xIP-1)

ki

ly

6.60

§

I

TLPSL-007(TLPSL-107)

TLPSD-007

00

A=3.50x(P-1) IS
A=381x(P-1] =
350
381 O
F] _ L=A+6.20
N A=3.50x(P/2-1]
ot __Bso
&\ u [: al| =
GO [E\\8 S
n;anana\ O
i

4.65) L=A+4.20

4.65) T

L=A+4.20

Pitch ( [a]E ): 2.54mm Pitch ( Ja1EE ): 2.54mm Pitch ( J81EE ): 2.54mm

Approval (IAIE ): UL(Applying) VDE(Applying) Approval (TAIE ): UL(Applying) VDE(Applying) Approval (IAIE ): UL(Applying) VDE(Applying)
Rated voltage ( BB JE ): 150V 320V Rated voltage ( BJE ): 150V 320V Rated voltage ( BBJE ): 150V 320V

Rated current ( 3% ): 5A 6A Rated current ( B3 ): 5A 6A Rated current ( 3% ): 5A 6A

Wire range ( 412 ): 30-20AWG  0.2-0.5mm’ Wire range ( %12 ): 30-20AWG  0.2-0.5mm? Wire range ( %12 ): 30-20AWG  0.2-0.5mm?
Screw ( 1842 ): M2

#15 Part Number #15 Part Number #15 Part Number

&% (Poles) #15 (Model) #R%1 (Poles) 5 (Model) &% (Poles) A5 (Model)

04 TLPSDW-020-04P 04 TLPSDL-020-04P 04 TLPSDR-020-04P

48 TLPSDW-020-48P 48 TLPSDL-020-48P 48 TLPSDR-020-48P

TLPS-002V(TLPS-101V)

350

6.70 [381]
I EN Rl
|

il

[IHEy I
7/

19.40
(20.90)

TLPSW-002V(TLPSW-101V)

TLPS-007(TLPS-107)

6.90

(20.90)

4.9 L=3.50xP+112 4.90 |

L=A+4.20

L=A+4.20

A=3.50x(P-1)
A=3.81x(P-1)

I

[ERE

i

6.60

(22.90)
20.90

F AR Technical data A IE Technical data AR Technical data

Pitch ( Ja1EE ): 3.50mm(3.81mm) Pitch ( [a]EE ): 3.50mm(3.81mm) Pitch ( J81EE ): 3.50mm

Approval (IAIE ): A (3.81Applying) Approval (TAIE ): Al (3.81Applying) Approval (IAIE ): AV

Rated voltage ( B JE ): 300V 160V Rated voltage ( BJE ): 300V 160V Rated voltage (B8 /& ): 300V 160V

Rated current ( 37 ): 8A 10A Rated current ( E23% ): 8A 10A Rated current ( 3% ): 8A 10A

Wire range ( %42 ): 28-16AWG  0.34-1.5mm’ Wire range ( 412 ): 28-16AWG  0.34-1.5mm’ Wire range ( %1% ): 28-16AWG 0.34-1.5mm’

#15 Part Number #1S Part Number #1S Part Number

&% (Poles) #5 (Model) 1R%¢ (Poles) 15 (Model) &% (Poles) #15 (Model)

02 TLPSW-007-02P(TLPSW-107-02P) 02 TLPSL-007-02P(TLPSL-107-02P) 04 TLPSD-007-04P

24 TLPSW-007-24P(TLPSW-107-24P) 24 TLPSL-007-24P(TLPSL-107-24P) 48 TLPSD-007-48P
TLPSDW-007 TLPSDL-007 TLPSD-010

b=

-

A=350x(P/2-1)

[

:

L

L

(22.90)

\

B.5

A=3.50x(P/2-1

il

li

lifh

=
6.60

215, A=3.50x(P/2-1,

L

3.50)

|
Y

i

(6.70) ‘ L=A+4.20

‘ [4.70)

THUgo 3u§/

A A
L=A+4.30

A EIR Technical data

A EIR Technical data

A EIR Technical data

12.40 L@Zﬂig:gg [=3.81xP+0.80 -t
A4 Technical data H AR’ Technical data #H A %4RE Technical data
Pitch ( [8]EE ): 3.50mm(3.81mm) Pitch ( &8 ): 3.50mm(3.81mm) Pitch ( j8]BE ): 3.50mm(3.81mm)
Approval (IAIE ): Al Approval (TAIE ): A Approval (TAIE ): A (3.81Applying)
Rated voltage (EB[E): 300V Rated voltage (FEJE): 300V Rated voltage (EBJE ): 300V 160V
Rated current (3% ):  8A Rated current (E23% ):  8A Rated current (3% ):  8A 10A

Wire range ( 4% ): 28-16AWG Wire range ( %442 ): 28-16AWG Wire range ( 4% ): 28-16AWG  0.34-1.5mm’
Screw ( #842): M2.5

#}5 Part Number #S Part Number #}5 Part Number

#R¥ (Poles) A2 (Model) R (Poles) S (Model) R (Poles) #-S (Model)

02 TLPS-002V-02P(TLPS-101V-02P) 02 TLPSW-002V-02P(TLPSW-101V-02P) 02 TLPS-007-02P(TLPS-107-02P)

24 TLPS-002V-24P(TLPS-101V-24P) 24 TLPSW-002V-24P(TLPSW-101V-24P) 24 TLPS-007-24P(TLPS-107-24P)

8 www.tielee.com ‘%E:

Pitch ( [a]EE ): 3.50mm Pitch ( [818E ): 3.50mm Pitch ( [&18E ): 3.50mm

Approval ( IAILE ): AV Approval (IAIE ): AV Approval (AL ): AV

Rated voltage (EB[E ): 300V 160V Rated voltage (EB[&): 300V 160V Rated voltage (BB& ). 300V 160V

Rated current ( B3 ): 8A 10A Rated current ( 3% ): 8A 10A Rated current ( 3% ): 8A 10A

Wire range ( %442 ): 28-16AWG 0.34-1.5mm’ Wire range ( %42 ). 28-16AWG 0.34-1.5mm? Wire range ( %1% ): 28-16AWG 0.34-1.5mm*
Screw (1242 ): M2.5

#5 Part Number #5 Part Number #5 Part Number

&% (Poles) A5 (Model) #R¥ (Poles) #S (Model) RE (Poles) 2 (Model)

04 TLPSDW-007-04P 04 TLPSDL-007-04P 04 TLPSD-010-04P

48 TLPSDW-007-48P 48 TLPSDL-007-48P 48 TLPSD-010-48P

? www.tielee.com 9



1509001

TLPS SERIES - Plug(Female) for Pluggable Terminal Block R M N CE & & @ & TLPS SERIES - Plug(Female) for Pluggable Terminal Block

TLPSDW-010 TLPSDL-010 TLPS-200V(TLPS-300V) TLPS-200RL(TLPS-300RL) TLPSW-200RL(TLPSW-300RL) TLPS-207

S

L=A+10.50 30 5.00 % (P-1)+5.00 5.00xP+10.00
2 - 1 s (5.08x (P-1)+5.08) 12.60 (5.08xP+10.16) 1260 ’:W:W:W:q
= — ; AR L=5.00xP ) 2.50 H
[=5.08+P : - T (ngu"[ 1
= j;g l { A 42;50 3.00 A500p-1) ’/" i | :
! A A=5.08x(P-1) ;22 15.00 | .l I 550 Lso]
715 St = : m @ @ @ i T (2.54) 1 ”f?%ﬁfp” 250
A=350x(P/2-1 é% 69 ; Ea \ & : 8 =
D}WH = dnin O+ - —@—@—\‘\ —H ° T &
R | i fanYan Yz
AL X = /] S ] ° J [T
L L s 4L : A
& L o THTH]
o 15.087 15.08] "
FH AR Technical data FABHR Technical data A IE Technical data A IE Technical data A HIE Technical data F A B’ Technical data
Pitch ( [E1EE ): 3.50mm Pitch ( [8]8E ): 3.50mm Pitch ( [E]EE ): 5.00mm(5.08mm) Pitch ( [8]8E ): 5.00mm(5.08mm) Pitch ( [8]8E ): 5.00mm(5.08mm) Pitch ( [E]%E ): 5.00mm
Approval (IAIE): AV Approval (A ): A Approval (IAIE ): A Approval (IAIE ): oA Approval (TAIE ): AV Approval (TAIE ): AV
Rated voltage (B8/&): 300V 160V Rated voltage ( BBJE ): 300V 160V Rated voltage (BB/E ): 300V 320V Rated voltage ( BBJE ): 300V 630V Rated voltage ( B[ ): 300V 630V Rated voltage ( BBJE ): 300V 630V
Rated current (E83f):  8A 10A Rated current ( B3 ): 8A 10A Rated current (B33 ):  16A 20A Rated current ( 3% ): 16A 15A(16A) Rated current (B3 ):  16A 15A(16A) Rated current ( B3 ): 16A 20A
Wire range ( %1% ): 28-16AWG 0.34-1.5mm’ Wire range ( %% ): 28-16AWG  0.34-1.5mm’ Wire range ( 412 ): 30-12AWG  0.2-4mm? Wire range ( 1% ): 30-12AWG  0.2-4mm® Wire range ( 412 ): 30-12AWG 0.2-4mm? Wire range ( %72 ): 12-30AWG  0.2-4mm’
Screw (1842 ): M2 Screw ( 1242 ): M3 Screw ( 1242 ): M3 Screw ( 1842 ): M3 Screw ( 12%2 ): M3
#15 Part Number #15 Part Number #15 Part Number #15 Part Number #15 Part Number #15 Part Number
#R%x (Poles) 15 (Model) %% (Poles) 5 (Model) %% (Poles) 5 (Model) %% (Poles) 5 (Model) %% (Poles) 5 (Model) 1R#x (Poles) #15 (Model)
04 TLPSDW-010-04P 04 TLPSDL-010-04P 02 TLPS-200V-02P(TLPS-300V-02P) 02 TLPS-200RL-02P(TLPS-300RL-02P) 02 TLPSW-200RL-02P(TLPSW-300RL-02P) 02 TLPS-207-02P
48 TLPSDW-010-48P 48 TLPSDL-010-48P 24 TLPS-200V-24P(TLPS-300V-24P) 24 TLPS-200RL-24P(TLPS-300RL-24P) 24 TLPSW-200RL-24P(TLPSW-300RL-24P) 24 TLPS-207-24P
TLPSW-200V(TLPSW-300V) TLPS-200R(TLPS-300R) TLPSW-200R(TLPSW-300R) TLPSW-207 TLPS-215(TLPS-301) TLPSW-215(TLPSW-301)
-
--._II‘:_ -~ '.*
e ,‘"F -

" .
' “' ’
W ;
‘" it <
P-1) 5.00x P+10.00 Ugggogxgﬂ 500
5,00 A=5.00x(P-1 250 C(P—1)e xP+ A -5.08xP+
) e T Eoee ity 1260 AT ) Wl /e —— ’ ]
%w%%ﬂ[{jﬂ@ - oo e 9 & N7 :;: A‘:‘g :E ]
i : I ! ‘ d [ FEOL P11 00 | 500
il o Lsn] I 480 ‘ 508 | [508
Ll I | | 2 & oo A-500P-0 _| 50 [\ oo @ =
i : & VU Ros] | S |\ <
500 XU 2 — \ o L=A+15.00 - B0 i ~
208 508 — & K o m
NS & ) (XK 7 | | | ‘ H ‘
VWl ‘ % [ %ﬂ ol
NEASZASASZAS I U J m W | ‘ /‘ | pa/
ag = ol K =3 _ ' ' '
ii @ Iy ) T T Il Il
i = @ ) < H u H 250 | | A=5.00x(P-1] —
K 1 L L i 254 A:sos:(M L-5.00xP 580
L=5.00xP 5.00 L=5.00xP L=5.08xP 14.25
L-5.08xP (5.08) U soxp | [=5.08xP 1420
HABIE Technical data A IR Technical data KA YR Technical data AR Technical data AR Technical data A HHE Technical data
Pitch ( [a1EE ): 5.00mm(5.08mm) Pitch ( [a1EE ): 5.00mm(5.08mm) Pitch ( [a]%E ): 5.00mm(5.08mm) Pitch ( [&]EE ): 5.00mm Pitch ( &8 ): 5.00mm(5.08mm) Pitch ( [a1%E ): 5.00mm(5.08mm)
Approval (IAIE ): A Approval ( TAIE ): s Approval ( IAIE ): s Approval (IAIE ): s Approval (IAIE ): A & (5.00mm Applying) Approval (TAIE ): B\ (5.00mm Applying)
Rated voltage (FBJE): 300V 320V Rated voltage (EB[E ): 300V 320V Rated voltage (EB[&): 300V 320V Rated voltage ( B [% ): 300V 630V Rated voltage ( EBJE ): 300V 320V Rated voltage ( B8 [% ): 300V 320V
Rated current (B85 ):  16A 20A Rated current (83 ) 16A 20A Rated current (B83% ):  16A 20A Rated current ( 3% ): 16A 20A Rated current ( B33 ): 16A 20A Rated current ( 83 ): 16A 20A
Wire range ( %1% ): 30-12AWG 0.2—4mm’ Wire range ( %1% ): 30-12AWG 0.2-4mm’* Wire range ( 412 ): 30-12AWG 0.2-4mm? Wire range ( 412 ): 12-30AWG  0.2-4mm® Wire range (#4%):  30-12AWG  0.34-2.5mm’ Wire range (412 ):  30-12AWG  0.34-2.5mm’
Screw (4842 ): M3 Screw (1842 ): M3 Screw (4842 ): M3 Screw ( #84): M3 Screw ( #84): M2.5 Screw (1842 ). M2.5
#1S Part Number #1S Part Number #S Part Number #1S Part Number #1S Part Number #1S Part Number
RE (Poles) #1S (Model) &% (Poles) £S5 (Model) %% (Poles) #IS (Model) 1R%% (Poles) #15 (Model) 1R%% (Poles) £S5 (Model) %% (Poles) #1S (Model)
02 TLPSW-200V-02P(TLPSW-300V-02P) 02 TLPS-200R-02P(TLPS-300R-02P) 02 TLPSW-200R-02P(TLPSW-300R-02P) 02 TLPSW-207-02P 02 TLPS-215-02P(TLPS-301-02P) 02 TLPSW-215-02P(TLPSW-301-02P)
24 TLPSW-200V-24P(TLPSW-300V-24P) 24 TLPS-200R-24P(TLPS-300R-24P) 24 TLPSW-200R-24P(TLPSW-300R-24P) 24 TLPSW-207-24P 24 TLPS-215-24P(TLPS-301-24P) 24 TLPSW-215-24P(TLPSW-301-24P)

10 www.tielee.com {: ? www.tielee.com 11



TLPS SERIES - Plug(Female) for Pluggable Terminal Block

1509001 15045001 @
1S014001 IATF16949

Al Y C€ @ @

TLPS SERIES - Plug(Female) for Pluggable Terminal Block

1509001 15045001

18014001 IATF16949 c“us N c € @ @

TLPS-225

1 [

afin

il RN

=

1 =

L
5.00

A=5.0x{P-1)

L=5.0XP

TLPS-313V

15.50

11.10

L=5.08xP

TLPSW-313V

H A BE Technical data

FH AR Technical data

HABE Technical data

TLPSW-312V

BT

SSOOE
fppnt

2150

5.08

[

=5

ke

B
®;

BfTE 1

i
i

i =0=
=l

ey
i
ifi

=

il
i

JH=

B=5.08x(P-1)+5.80

V=5.08x(P-1)+15.04

TLPHS-304

A=5.08x(P-1)

3291508

L=A+6.58

mm
l\

29999/
=\

19.10

TLPHSW-304

L=A+15.30

V1

7“:u

EEELE)
e

HAEIRE Technical data

FH AR Technical data

H A BE Technical data

Pitch ( [B]8E ): 5.00mm Pitch ( [8]8E ): 5.08mm Pitch ( &)3E ): 5.08mm

Approval (IAIE ): AV Approval (TAIE ): AV Approval (INIE ): AV

Rated voltage ( BJE ): 300V Rated voltage (B8/E): 300V 630V Rated voltage (B8[& ): 300V 630V

Rated current ( B3 ): 15A Rated current (3% ):  11A 13A Rated current (3% ):  11A 13A

Wire range ( 412 ): 28-12AWG Wire range ( %1% ): 30-14AWG 0.2-1.5mm? Wire range ( %1% ): 30-14AWG 0.2-1.5mm’

Screw ( 1842 ): M2.5 Screw ( $842): M2 Screw ( #842 ): M2

#15 Part Number #15 Part Number #5 Part Number

&K (Poles) A2 (Model) &L (Poles) A2 (Model) FRE (Poles) FI2 (Model)

02 TLPS-225-02P 02 TLPS-313V-02P 02 TLPS-313V-02P

24 TLPS-225-24P 24 TLPS-313V-24P 24 TLPS-313V-24P
TLPS-308 TLPSW-308 TLPS-312V

A=5.08x(P-1)

254

2560

830

5.80

5.0 A5.08x(P-1)

5.0

508 254

q e

Tl — T |~

T

15.50

Pitch ( [818E ): 5.08mm Pitch ( [8]8E ): 5.08mm Pitch ( [8]8E ): 5.08mm

Approval (A ): A Approval (TAIE ): A VDE(Applying) Approval (IAIE ): i VDE(Applying)
Rated voltage (% ): 300V 630V Rated voltage ( BBJE ): 300V 630V Rated voltage ( BJE ): 300V 630V

Rated current (3% ):  16A 20A Rated current ( 3% ): 20A 20A Rated current ( B3 ): 20A 20A

Wire range ( %1% ): 30-12AWG 0.2-4mm? Wire range ( %1% ): 30-12AWG  §2-25mm sol/st Wire range ( 412 ): 30-12AWG  §2-25mmesol /st
Screw (#2842 ): M3 Screw (#1242 ): M3 Screw ( 484 ): M3

#5 Part Number #15 Part Number #1S Part Number

&% (Poles) #S (Model) &% (Poles) #15 (Model) 1R%% (Poles) A5 (Model)

02 TLPSW-312V-02P 02 TLPHS-304-02P 02 TLPHSW-304-02P

24 TLPSW-312V-24P 24 TLPHS-304-24P 24 TLPHSW-304-24P

L=5.08xP

Il

o —
Py

£

2150

=

508

o
=

AL

i3

i

=
| =ih=n

B

(¢ sl
N

i

28.90

V=5.08x(P-1)+5.80

TLPHSWA-304

1.65 A=5.08x(P-1) _ 508

508

L=A+15.30

o
3.80

=23

I

Il

EEERE)
=

TLPS-205V(TLPS-305V)

L=A+7.08

L=A+7.00

354) A=5.08x(P-1)

(3.50) A=5.00x(P-1)
050

—2d

g

)
L

H i

{TH;

19.00

3

|

B=5.08xP

5.08
500 8140

B=5.00xP

8.30
5.08 138
el

350 L

TLPSW-205V(TLPSW-305V)

L=A+15.24

L=A+1500
(762) A=5.08x(P-1)
TS0 A5.00x) 50
S0, oa) oo [T, 13
500 5 A
g 10
"
@E’!
\
g N | H
T
= wl [
= i |1

138

830
508
© D
9
& b

AR IR Technical data

AR Technical data

AR EIE Technical data

A EIE Technical data

A B4R Technical data

A B4R Technical data

Pitch ( [a]E ): 5.08mm Pitch ( [a1EE ): 5.08mm Pitch ( [a]%E ): 5.08mm

Approval (TAIE ): A VDE(Applying) Approval ( IAILE ): s VDE(Applying) Approval (TAIE ): A

Rated voltage ( BB [% ): 300V 630V Rated voltage (% ): 300V 630V Rated voltage (EB[&): 300V 630V
Rated current ( B37% ): 16A 18A Rated current ( B3 ): 16A 18A Rated current (E83% ):  16A 20A

Wire range ( %412 ): 30-12AWG  0.2-4mm’ Wire range ( %1% ): 30-12AWG  0.2-4mm’ Wire range ( %412 ): 30-12AWG 0.2-4mm?
Screw (4842 ). M3.0 Screw (4842 ): M3.0 Screw (4842 ). M3

#S Part Number #1S Part Number #S Part Number

&% (Poles) 2 (Model) #RE (Poles) A2 (Model) &% (Poles) S (Model)

02 TLPS-308-02P 02 TLPSW-308-02P 02 TLPS-312V-02P

24 TLPS-308-24P 24 TLPSW-308-24P 24 TLPS-312V-24P

12 www.tielee.com %

Pitch ( [a1EE ): 5.08mm Pitch ( [a]E ): 5.00mm(5.08mm) Pitch ( [a]E ): 5.00mm(5.08mm)

Approval (IAIE ): s VDE(Applying) Approval (TAIE ): A VDE(Applying) Approval (TAIE ): s VDE(Applying)
Rated voltage ( BB JE ): 300V 630V Rated voltage ( BB [% ): 300V 630V Rated voltage (BB% ): 300V 630V

Rated current ( B3 ): 20A 20A Rated current ( 3% ): 16A 20A Rated current ( 3% ): 16A 20A

Wire range ( %1% ): 30-12AWG  §225mmesol/str PCB hole Dia(PCB &f2): ®1.4mm PCB hole Dia(PCB &fZ ): ®1.4mm

Screw (#842): M3

#1S Part Number #1S Part Number #1S Part Number

1R%x (Poles) S (Model) %% (Poles) #-S (Model) %% (Poles) S (Model)

02 TLPHSWA-304-02P 02 TLPS-205V-02P(TLPS-305V-02P) 02 TLPSW-205V-02P(TLPSW-305V-02P)
24 TLPHSWA-304-24P 24 TLPS-205V-24P(TLPS-305V-24P) 24 TLPSW-205V-24P(TLPSW-305V-24P)

f;‘-‘ www.tielee.com 13



TLPS SERIES - Plug(Female) for Pluggable Terminal Block

TLPS-205R(TLPS-305R)

L=A+7.08

[=AT.00
356, A=5.084(P-1)
Foo) A5 00x(P-1)

1509001 15045001

15014001 IATF16949

TLPSW-205R(TLPSW-305R)

L=A+15.24

L=A+15.00
762 A=5.08x(P-1)

s Y C€ @ @

TLPS-201V(TLPS-302V)

TLPS SERIES - Plug(Female) for Pluggable Terminal Block

TLPS-201R(TLPS-302R)

1670 (2

L=A+5.10
0 25 [=A:5.T0

SER ]

26.60

0

285

=i==li=

==
EEEE)
3

ZON ZON

J- ¢
I

5.0
A=5.00x(P-1)
A=5.08x(P-1

255 5

1509001 15045001

15014001 IATF16949

TLPSW-201R(TLPSW-302R)

16.70 (2.00)

L=A+15.10
L=A+1524

26.60

830

] ]

e
(@ay

U

s =1 [T

255 500 5.00

508
A=5.00x(P-1)
A=5.08x(P-1)

s Y C€ @ @

TLPS-201RL(TLPS-302RL)

230

L=A+5.10
2% | [=A+S.70
285

255 1500

508
A=5.00x(P-1
A=5.08x[P-1

HAEIRE Technical data

AR Technical data

A IR Technical data

Pitch ( [8]88 ):

5.00mm(5.08mm)

Pitch ( [8185 ):

5.00mm(5.08mm)

Pitch ( [8]8E ):

5.00mm(5.08mm)

q%_ ‘ (7.50) A5, gﬂ;;P—” -—-} .
" 500 LS
I =1
= @ \\F 4=
s [ H A . i - — [k
g L ] 2 EREN g
ET ! ! < 4 2 f
e J = 2 508 : d
| { R Jﬁ [ M n
BUNK <
BiS 08<P P & @//@ ‘ ‘ ::.‘-.-
B=5.00<P _ Fr sl = 140 ] | L | K% L
B i £ & @f\i S 200 " 70
5.08
762 A L=5.00xP
3.54 750 L L=5.08xP
350 L
AR Technical data AR Technical data AR Technical data
Pitch ( J81EE ): 5.00mm(5.08mm) Pitch ( [&]E ): 5.00mm(5.08mm) Pitch ( J81EE ): 5.00mm(5.08mm)
Approval (IAIE ): AV VDE(Applying) Approval (IAIE ): AV VDE(Applying) Approval (IAIE ): AV
Rated voltage ( B JE ): 300V 630V Rated voltage ( B [E ): 300V 630V Rated voltage (EBJE ): 300V 320V
Rated current ( 3% ): 16A 20A Rated current ( B33 ): 16A 20A Rated current (3% ):  12A 15A
PCB hole Dia(PCB &1% ): ®1.4mm PCB hole Dia(PCB E1%): ®1.4mm Wire range ( %1% ): 24-12AWG 0.34-2.5mm’
#15 Part Number #15 Part Number #15 Part Number
& (Poles) A5 (Model) R (Poles) A5 (Model) & (Poles) A5 (Model)
02 TLPS-205R-02P(TLPS-305R-02P) 02 TLPSW-205R-02P(TLPSW-305R-02P) 02 TLPS-201 V-02P(TLPS-302V-02P)
24 TLPS-205R-24P(TLPS-305R-24P) 24 TLPSW-205R-24P(TLPSW-305R-24P) 24 TLPS-201 V-24P(TLPS-302V-24P)
TLPSW-201V(TLPSW-302V) TLPS-214V TLPSW-214V
- e
ok "\. -1\-
L=5.00xP U=5.00x(P+2)
B |
= Sz &® =
| S0 (Eo@oFo& |
29 Pt

jL\
1 B
i

I

(25.60)

i

5.00

i

Approval ( TAIE ): s Approval (TAIE ): s Approval (TAIE ): A
Rated voltage (% ): 300V 630V Rated voltage (EB[& ): 300V 630V Rated voltage (EB[% ): 300V 630V
Rated current (83 ):  12A 15A Rated current (B85 ):  12A 15A Rated current (B3 ):  12A 15A
Wire range ( %12 ): 26-12AWG 0.2-2.5mm’ Wire range ( %412 ): 26-12AWG 0.2-2.5mm’ Wire range ( %1% ): 26-12AWG 0.2-2.5mm’
Screw (484 ): M2.5
#1S Part Number S Part Number #1S Part Number
R (Poles) #S (Model) &% (Poles) E1S (Model) REL (Poles) A5 (Model)
02 TLPS-201R-02P(TLPS-302R-02P) 02 TLPSW-201R-02P(TLPSW-302R-02P) 02 TLPS-201RL-02P(TLPS-302RL-02P)
24 TLPS-201R-24P(TLPS-302R-24P) 24 TLPSW-201R-24P(TLPSW-302R-24P) 24 TLPS-201RL-24P(TLPS-302RL-24P)
TLPSW-201RL(TLPSW-302RL) TLPS-309 TLPSW-309
_ ——
" = g u
- -
L=A+15.10
L=5.08XP-01 508 L=5.08XP-0.1 508
A=5.08X(P-1) A=5.08X(P-1)
208, 208,
! RO ! |
I

255 200 500

50
A=5.00x(P-1)
A=5.08x[P-1)

210

1=5.00xP * 250 A=5.00x(P-1)

[=5.08xP 250 | | A=5.00x(P-1] | L=5.00<P
# A ¥4} Technical data AR ¥R Technical data A B4R Technical data
Pitch (/&35 ): 5.00mm(5.08mm) Pitch ( j&)3E ): 5.00mm Pitch ( &)3E ): 5.00mm
Approval (IAIE ): R\ Approval (AIE ): AV Approval (IAIE ): AV
Rated voltage (FEJE): 300V 320V Rated voltage (EB[&): 300V 630V Rated voltage (B [£ ): 300V 630V
Rated current (B3 ):  12A 15A Rated current ( EE3% ) 12A 15A Rated current (B3R ):  12A 15A
Wire range ( %1% ): 24-12AWG 0.34-2.5mm’ Wire range ( 472 ): 26-12AWG 0.2-2.5mm? Wire range ( 412 ): 26-12AWG 0.2-2.5mm’
Screw ( #842): M2.5
#12 Part Number #S Part Number #1S Part Number
HEK (Poles) S (Model) REL (Poles) A5 (Model) RE (Poles) A5 (Model)
02 TLPSW-201V-02P(TLPSW-302V-02P) 02 TLPS-214V-02P 02 TLPSW-214V-02P
24 TLPSW-201V-24P(TLPSW-302V-24P) 24 TLPS-214V-24P 24 TLPSW-214V-24P

FH A ¥IFE Technical data A IE Technical data FARBHR Technical data

Pitch ( [&]EE ): 5.00mm(5.08mm) Pitch ( [a]EE ): 5.08mm Pitch ( [a]EE ): 5.08mm

Approval (IAIE ): A Approval (IAIE ): A Approval (AL ): A
Rated voltage (/% ): 300V 630V Rated voltage (EE[& ): 300V 320V Rated voltage ( B[ ): 300V 320V
Rated current (B83% ):  12A 15A Rated current ( B3} ): 12A 15A Rated current (B3 ):  12A 15A
Wire range ( %1% ): 26-12AWG 0.2-2.5mm’ Wire range ( %1% ): 26-12AWG 0.34-2.5mm? Wire range ( %1% ): 26-12AWG 0.34-2.5mm’
Screw (12% ): M2.5 Screw ( 1242 ): M2.5

#5 Part Number #5 Part Number #15 Part Number

R (Poles) A5 (Model) &% (Poles) A5 (Model) &% (Poles) #S (Model)

02 TLPSW-201RL-02P(TLPSW-302RL-02P) 02 TLPS-309-02P 02 TLPSW-309-02P

24 TLPSW-201RL-24P(TLPSW-302RL~24P) 24 TLPS-309-24P 24 TLPSW-309-24P

14 www.tielee.com ‘%E:

? www.tielee.com 15



TLPS SERIES - Plug(Female) for Pluggable Terminal Block

1509001 15045001

15014001 IATF16949 c“‘us N c€ @ @ c?c

TLPS SERIES - Plug(Female) for Pluggable Terminal Block

1509001 15045001

15014001 IATF16949 BN‘US N c € @ @ {

TLPS-400V(TLPS-500V)

7.50%(P-1)+5.6
(7.62x(P-1)+5.6)

AN
\\
)
11

7.50

(7.62)

O
r0

TLPSW-400V(TLPSW-500V)

750 (P-1)+5.6
(7.62x(P-1)+5.6)

oo
oo

<>

18.20

= vavaval

=

9.90
7.80
e

TLPS-400R(TLPS-500R)

a
W
[}
an
W
LT
an
A%
[}
an
W

2580

i
i

— g [
==l

215 A=150x(P-1
(280) [762x(P-1)]
L=As550
[A+5.60]

HAEE Technical data

FHAEIR Technical data

# A ¥R Technical data

Pitch ( [&]EE ): 7.50mm(7.62mm)

Pitch ( Ja]EE ): 7.50mm(7.62mm)

Pitch ( [8]8E ): 7.50mm (7.62mm)

Approval (TAIE ): s Approval (TAIE ): Al Approval (IAIE ): A

Rated voltage (8% ): 300V 630V Rated voltage (BB/& ): 300V 630V Rated voltage (B8J& ): 300V 630V

Rated current (B83% ):  16A 20A Rated current ( B3 ): 16A 20A Rated current (EB3% ):  16A 20A

Wire range ( %1% ): 30-12AWG  0.2-4mm? Wire range ( %72 ): 30-12AWG  0.2-4mm’ Wire range ( 412 ): 30-12AWG 0.2-4mm?
Screw ( #8#2 ): M3 Screw (#2# ): M3 Screw ( 1842 ): M3.0

#5 Part Number #15 Part Number #15 Part Number

#R#x (Poles) 5 (Model) 1R# (Poles) 15 (Model) %% (Poles) A5 (Model)

02 TLPS-400V-02P(TLPS-500V-02P) 02 TLPSW-400V-02P(TLPSW-500V-02P) 02 TLPS-400R-02P (TLPS-500R-02P)
12 TLPS-400V-12P(TLPS-500V-12P) 12 TLPSW-400V-12P(TLPSW-500V-12P) 12 TLPS-400R-12P (TLPS-500R-12P)

TLPSW-400R(TLPSW-500R)

TLPS-400RL (TLPS-500RL)

s

2580

TLPSW-400RL(TLPSW-500RL)

=1
=]
=1

E -
=l

i |
]| H] ‘ ‘ I
215 r; :g) A=T50x{P-1) %‘ H
ee e 62 ) T62xP-1) S e
TA5.60] L=A+550 L=A+550 6.23
TAs5.60] (A5 601
A EIR Technical data A EIRE Technical data HAEIRE Technical data
Pitch ( [81EE ): 7.50mm (7.62mm) Pitch ( J8]BE ): 7.50mm (7.62mm) Pitch( [B18E ): 7.50mm (7.62mm)
Approval (TAIE ): AV Approval( TAIE ): AV VDE(Applying) Approval( TAIE ): A VDE(Applying)
Rated voltage (EBJ& ). 300V 630V Rated voltage( BE[E ): 300V 630V Rated voltage( BE[E ): 300V 630V
Rated current (3% ):  16A 20A Rated current (3% ):  16A 20A Rated current( B85 ):  16A 20A
Wire range ( %1% ): 30-12AWG 0.2-4mm?® Wire range( 412 ): 30-12AWG  0.2-4mm® Wire range( 412 ): 30-12AWG 0.2-4mm?
Screw (#8%2): M3.0 Screw( #8422 ) M3.0 Screw( #8422 ). M3.0
#5 Part Number #S Part Number #S Part Number
#R¥ (Poles) EIS (Model) R (Poles) A5 (Model) R (Poles) EJS (Model)
02 TLPSW-400R-02P(TLPSW-500R-02P) 02 TLPS-400RL-02P (TLPS-500RL-02P) 02 TLPSW-400RL-02P(TLPSW-500RL-02P)
12 TLPSW-400R-12P(TLPSW-500R-12P) 12 TLPS-400RL-12P(TLPS-500RL-12P) 12 TLPSW-400RL-12P(TLPSW-500RL-12P)

16 www.tielee.com ‘%E:

TLPS-505V TLPSW-505V TLPS-505R
i B d""‘-'--..
- — — l“
T M
T
g i
A=762x(P-1)
3% 162 _l 0.50
10.20 1020 020 LAP B=A+5.60
T 7T 710
I I I I
5 < ﬂ_ \
2 g [z g
gE N | _ . :U
@7 B
E 76 u u o j 8% 76 v 050 ? ?H/{m' ?
L ——tzm.m%—] L A<1.624P-1 Lehe752
L=A+7.52 L=A+152
El L=AT52 el LA 92 t?@ & [l & &
3
%lﬁree Ve & s s o N o g§rle olle &
o oy e ¢« I R i >
376|162 b 89% 162 140 %] 162
A=162(P-1) AT 62x(P-1) \=7.62+(P-1)
A ¥4 Technical data R ¥ E Technical data H A B Technical data
Pitch ( [&]E ): 7.62mm Pitch ( [a]%E ): 7.62mm Pitch ( [a1EE ): 7.62mm
Approval (IAIE ): UL(Applying)  VDE(Applying) Approval (TAIE ): UL(Applying)  VDE(Applying) Approval (IAIE ): UL(Applying)  VDE(Applying)
Rated voltage (BE[E ): 300V 1000V Rated voltage (EB[%): 300V 1000V Rated voltage (FEJ£): 300V 1000V
Rated current ( B85k ): 16A 20A Rated current ( B3% ): 16A 20A Rated current ( 3% ): 16A 20A
PCB hole Dia(PCB &if% ): ®1.4mm PCB hole Dia(PCB &f2): ®1.4mm PCB hole Dia(PCB &fZ ): ®1.4mm
#1S Part Number #1S Part Number #1S Part Number
B3 (Poles) A2 (Model) %% (Poles) #IS (Model) R (Poles) A5 (Model)
02 TLPS-505V-02P 02 TLPSW-505V-02P 02 TLPS-505R-02P
16 TLPS-505V-16P 16 TLPSW-505V-16P 16 TLPS-505R-16P
TLPSW-505R TLPS-501 TLPSW-501
l‘_
. — s l'“
] 5l
Sl
11 '
T 1 i
A=1.62x(P-1)
8% 76 ‘ﬁ ﬂ
6.10
o i = s A
L] [T )
I I I I
§| L 2 | i\l |
S E: . ) -
am
i L L /A S
;1 lﬂ g L—_L:"”" [ N W ==l
g Loas2 I | e
I g
& © & & = —
vie 4 J il ‘T‘F L ﬂ‘b =
896 762 . \& B Lﬁjiﬁﬁﬁl B [ 762, %762)((#7—1! 762, =
A=1.62x(P-1) M 70 U=L+15.28
A HIRE Technical data H A Bi#E Technical data A EIRE Technical data
Pitch ( [E]EE ): 7.62mm Pitch ( [8]8E ): 7.62mm Pitch ( [a]EE ): 7.62mm
Approval (TAIE ): UL(Applying)  VDE(Applying) Approval (IAIE ): A Approval (TAIE ): A
Rated voltage ( B JE ): 300V 1000V Rated voltage ( BJE ): 600V 1000V Rated voltage ( B JE ): 600V 1000V
Rated current ( 837 ): 16A 20A Rated current ( B3 ): 41A 41A Rated current ( B3 ): 41A 41A
PCB hole Dia(PCB &12 ): ®1.4mm Wire range ( 412 ): 8-24AWG  0.34-6mm° Wire range ( %1% ): 24-8AWG  0.34-6mm’
Screw ( #8%2): M3 Screw ( $842): M3
#1S Part Number #5 Part Number #£S Part Number
1R (Poles) A5 (Model) RE (Poles) A5 (Model) #RE (Poles) A5 (Model)
02 TLPSW-505R-02P 02 TLPS-501-02P 02 TLPSW-501-02P
16 TLPSW-505R-16P 16 TLPS-501-12P 14 TLPSW-501-14P

? www.tielee.com 17



TLPS SERIES - Plug(Female) for Pluggable Terminal Block

1509001 15045001 @
1S014001 IATF16949

s Y C€ @ @

TLPS SERIES - Plug(Female) for Pluggable Terminal Block

1509001 15045001
15014001 IATF16949

BNUSN‘ c€ @ @

TLPS-502

TLPS-516V TLPSW-516V TLPSW-900V

5',%:'!?- e t--_ -y
u&ﬁ% g4 mwww ' i

...‘
i ._-

A=T.62x(P-1) \
T Mﬂ M Mﬂ
[} ="
WA= .
2 = T LR T
an W an \ 5 g
’g ‘? o @ @ @ o
1.621.6 15.00
—— hohh oo
mm N .l L7 624(P-1+157 A= [ [ [ [ 1
! : : — 2%
BEEE o Ot : SEEEER L
= = = = N 52.00 19.70 A=15.00x(P-1] 14.50
L=A+740 2100 U=762P+2) LAt

AR Technical data F AR B’ Technical data A IE Technical data AR Technical data
Pitch ( J81EE ): 7.62mm Pitch ( [a]EE ): 7.62mm Pitch ( [a]EE ): 7.62mm Pitch ( [&]E ): 15.00mm
Approval (IAIE ): AV VDE(Applying) Approval (IAIE ): Al Approval (TAIE ): s Approval (IAIE ): AV
Rated voltage (B JE ): 600V 1000V Rated voltage ( BBJE ): 300V 1000V Rated voltage ( BJE ): 300V 1000V Rated voltage ( B8/ ): 600V 1000V
Rated current ( 3% ): 20A 20A Rated current ( B3 ): 30A 32A Rated current ( B3} ): 30A 32A Rated current (E83% ):  115A 125A
Wire range ( %442 ): 30-12AWG  0.2-4mm’ Wire range ( %1% ): 30-10AWG  0.2-4mm’ Wire range ( %1% ): 30-10AWG  0.2-4mm° Wire range ( %42 ): 20-2AWG 0.5-35mm”
Screw (#2% ): M3 Screw ( 12%2 ): M3 Screw ( #842 ): M3 Screw (12% ): M5
#1S Part Number #15 Part Number #5 Part Number #5 Part Number
R (Poles) A5 (Model) &% (Poles) £S5 (Model) &% (Poles) A5 (Model) R (Poles) A5 (Model)
02 TLPS-502-02P 02 TLPS-516V-02P 02 TLPSW-516V-02P 02 TLPSW-900V-02P
12 TLPS-502-12P 16 TLPS-516V-16P 16 TLPSW-516V-16P 08 TLPSW-900V-08P

TLPS-800V TLPSW-800V TLPS-900V

- -
-‘- -
= '

L=A+10.00

26.00 ‘

o e e e
T T T T

R

21.80

AL

lee%e
> AS”ASPAS
B
L=As2192 15.00
- ] EERET
T T T T
] = o] ] ]
- @Eﬂﬁﬂlﬂﬂﬁt@
.16] 0.6

26.00

21.80
35.65

40.00

M}g 0 500 r 5.00 52.00 8.15 A=15.00x(P-1)

A-10.16xP-1 A=10.16xP-1) | 13.96 | L=A+1650

A B4R Technical data AR Technical data AR Technical data

Pitch ( [&]EE ): 10.16mm Pitch ( [&]EE ): 10.16mm Pitch ( [8]BE ): 15.00mm

Approval (IAIE ): A Approval (TAIE ): AV Approval (TAIE ): A VDE(Applying)

Rated voltage (EB[& ): 600V 1000V Rated voltage ( EB[& ): 600V 1000V Rated voltage (EBJE ): 600V 1000V

Rated current (3% ):  55A 76A Rated current (B83% ):  55A 76A Rated current (83 ):  115A 125A

Wire range ( 472 ): 20-B6AWG 0.5-16mm’ Wire range ( 472 ): 20-B6AWG 0.5-16mm’ Wire range ( %1% ): 20-2AWG 0.5-35mm*

Screw (4842 ). M4 Screw (1842 ). M4 Screw ( #842): M5

#S Part Number #5 Part Number S Part Number

%% (Poles) S (Model) REL (Poles) #15 (Model) &% (Poles) #E (Model)

02 TLPS-800V-02P 02 TLPSW-800V-02P 02 TLPS-900V-02P

12 TLPS-800V-12P 12 TLPSW-800V-12P 08 TLPS-900V-08P

18 www.tielee.com ‘%E:

? www.tielee.com 19



How to order

TLPHO)C)W)(L) - D OO VR - 0000 - DOP O - O

L Color: K=Black, G(G12)=Green

5=Double pitch, None=Standard pitch
Poles

Special code

V=180°, R=90°
Series number

Pitch: 0=3.50, 1=3.81, 2=5.00, 3=5.08, 4=7.50, 5=7.62, 8=10.16, 9=15.00

D=Double row, C=With side panels, L=With engagement noses

20 www.tielee.com %

TLPH SERIES - Header(Male) for Pluggable Terminal Block

TLPHC-006V

8.0
S
[oso

O
1

2.21 A=2.50x(P-1)

L=25xP+19

TLPHC-006R

1509001 15045001

15014001 IATF16949

1010

A=250x(P-1)
L=25xP+19

@
:
I
©
€
810
W&Lﬂ‘

220

A=250x(P-1)

cmus“ce@@

TLPHC-001V(TLPHC-100V)

N

A

245

o 9 -

A |

381 250

725

L=A+4.90

9120 — R ‘ | g T g |
j& | i r SIS S /7 350
Nob-bibbbi 2 -y T 1 il
| P | = S e <l
I M | T E A 00T
! ! A=3.50x(P-1) 230
250x(P- I S S 1
220 ‘ A=250xP-1) N A=381x[P-1] 235
A $IE Technical data # A ¥4} Technical data AR Technical data
Pitch ( [a12E ): 2.50mm Pitch ( a1EE ): 2.50mm Pitch ( [&]EE ): 3.50mm(3.81mm)
Approval (IAIE ): Al Approval (IAIE ): Al Approval (TAIE ): Al
Rated voltage ( BB J% ): 150V Rated voltage (EEJE ): 150V Rated voltage (EB/& ): 300V 150V
Rated current ( B3 ): 5A Rated current (37 ): 5A Rated current (EB3% ):  13A 10A
PCB hole Dia(PCB B2 ):  ®1.3mm PCB hole Dia(PCB &% ):  ®1.3mm PCB hole Dia(PCB B7Z ): ®1.3mm
#5 Part Number S Part Number #1S Part Number
REL (Poles) A5 (Model) R (Poles) S (Model) 1RE (Poles) EIS (Model)
02 TLPHC-006V-02P 02 TLPHC-006R-02P 02 TLPHC-001V-02P(TLPHC-100V-02P)
24 TLPHC-006V-24P 24 TLPHC-006R-24P 24 TLPHC-001V-24P(TLPHC-100V-24P)

TLPHW-001V(TLPHW-100V)

435 350 690

12501 i

710

3.0

i

725

I

TLPHC-001R(TLPHC-100R)

Iiii ¥
¥ ¥ L

L=A+4.90

L=A+5.00

TLPHW-001R(TLPHW-100R)

RTULE

L=A+13.80

1.25

7.00

6@@%@% =

/’ 0 o{
o200/ 8130/ LA = 3
L 435 | 350 o800 |
L=A+1380 245 8.00 %50 361
0.25] ER) 250 690 | A=350«(P-1)
f\g gg]x(['f,;]) L=Aed 30 M A3EP-1 L=As1380
= ) S— =38P~ =A+5.00 L=A+T.20
& 350 245 A=3504(P-1] 690__350 8130
: 361 250 A=38H(P-1 | 7108t
< oA\ W N N, N A V. N
= Uy Qo NN 7 ol RARH
A=350(P-1) | 690 %’l 2130 g =g
A38KP-1T 7.0 (\
FARBHR Technical data AR Technical data A ¥IFE Technical data

Pitch ( j&]EE ):

3.50mm(3.81mm)

Pitch ( j&lgE ):

3.50mm(3.81mm)

Pitch ( &FE ):

3.50mm(3.81mm)

Approval (AL ): AV Approval (TAIE ): AV Approval (IAIE ): AV

Rated voltage (EBJE): 300V 150V Rated voltage (EBJE ): 300V 150V Rated voltage (EB/E ): 300V 150V

Rated current (3% ):  13A 10A Rated current (E83% ):  13A 10A Rated current ( 3% ): 13A 10A

PCB hole Dia(PCBE{2): ®1.3mm PCB hole Dia(PCB &1%): ®1.3mm PCB hole Dia(PCB &f£): ®1.3mm

#5 Part Number #5 Part Number #S Part Number

%% (Poles) #5 (Model) % (Poles) 5 (Model) #R# (Poles) 5 (Model)

02 TLPHW-001V-02P(TLPHW-100V-02P) 02 TLPHC-001R-02P(TLPHC-100R-02P) 02 TLPHW-001R-02P(TLPHW-100R-02P)
24 TLPHW-001V-24P(TLPHW-100V-24P) 24 TLPHC-001R-24P(TLPHC-100R-24P) 24 TLPHW-001R-24P(TLPHW-100R-24P)

f;‘-‘ www.tielee.com 21



AN €A E @

1509001 15045001 @
15014001 IATF16949

M N CE & & @

TLPH SERIES - Header(Male) for Pluggable Terminal Block 15011001 1ATF16919 TLPH SERIES - Header(Male) for Pluggable Terminal Block

TLPHC-100RL TLPHW-100RL TLPHL-001V(TLPHL-100V) AF TLPHC-004(TLPHC-104) TLPHW-004(TLPHW-104) TLPHW-114
S - ““ - L K "
—— — - - ﬁ l"‘_ _
w4 . ! | - "] = e ; i &
¥¥ lll e llllll e I f « 343
] I L ¥ =,
4 —— = ,_.ﬂ-r""'l s
v v ;
L=A+4.80 L=A+13.80 _ 3BIX(P-1)+14.70 36IX(P-1)+10.00
v R ESL) JE5 ==
a4, L3y, o :')Fé e & EI | P eLr Rpica / ] .
L R GiE L | EOME U 1578
= /i ;Ia S ZANNN <N N 0o | g § v @‘l ——— S —
& #9130 {{ |SR v = = = |
i 0 $240 o [ ; 1= 3BAP-1.900
L=A+5.00 v L=A+16.00 i R
9.20 240 350 Q. = 381X(P-1)+1820
9.20 230|361 16.90] 0080
| ]J:I g A=350x(P-1 Y i 710
= & 8 A=381lP-1] e | o -
= S 8 —O{f % ?m('ﬁ— _ 77{\ A
00.80 P S v = 240 | 350 il @ 690 Hﬁ:ﬁ}? =
39381 8.00 :F 381 &0 V 230 bl A ! 110 381 (\'\ A Vagrd YV _M
8.00 i ~3.50x(P- A X
ps A=3.81x(P-1) 7.00 | A=3.81x(P-1) /ﬁ 22({“} L L nfﬁ?’.’;.’ﬁu
A ¥4} Technical data AR ¥R Technical data A BHE Technical data # A ¥4 Technical data A B4R Technical data A ¥ Technical data
Pitch ( [a]#E ): 3.81mm Pitch ( [a]#E ): 3.81mm Pitch ( [a]#E ): 3.50mm(3.81mm) Pitch ( j8]EE ): 3.50mm(3.81mm) Pitch ( [8]%E ): 3.50mm(3.81mm) Pitch ( [a]EE ): 3.81mm
Approval (IAIE ): A VDE(Applying) Approval (IAIE ): A \e VDE(Applying) Approval (IAIE ): A \e VDE(Applying) Approval ( TAIE ): s & Approval ( TAIE ): s & Approval ( TAIE ): UL(Applying)  VDE(Applying)
Rated voltage ( BB [% ): 300V 320V Rated voltage (EB[&): 300V 320V Rated voltage ( B[ ): 300V 250V Rated voltage ( EJE ): 300V 160V(3.5) 320V(3.81) Rated voltage ( BB JE ): 300V 160V(3.5) 320V(3.81) Rated voltage (FEJE): 300V 160V
Rated current ( B3% ): 13A 10A Rated current (B85 ):  13A 10A Rated current (B3R ): 13A 10A Rated current ( 3% ): 10A 10A Rated current ( B3 ): 10A 10A Rated current (3% ):  8A 8A
PCB hole Dia(PCB H%): ®1.3mm PCB hole Dia(PCB &% ): ®1.3mm PCB hole Dia(PCB Ef2 ): ®1.3mm PCB hole Dia(PCB &7 ): ®1.3mm PCB hole Dia(PCB E{2): ®1.3mm
S Part Number S Part Number S Part Number #1S Part Number #S Part Number #1S Part Number
RE (Poles) A5 (Model) &% (Poles) S (Model) RE (Poles) #1S (Model) %25 (Poles) A5 (Model) #R¥L (Poles) A5 (Model) R (Poles) A5 (Model)
02 TLPHC-100RL-02P 02 TLPHW-100RL-02P 02 TLPHL-001V-02P-AF(TLPHL-100VL-02P-AF) 02 TLPHC-004-02P(TLPHC-104-02P) 02 TLPHW-004-02P(TLPHW-104-02P) 02 TLPHW-114-02P
24 TLPHC-100RL-24P 24 TLPHW-100RL-24P 24 TLPHL-001V-24P-AF(TLPHL-100VL-24P-AF) 24 TLPHC-004-24P(TLPHC-104-24P) 24 TLPHW-004-24P(TLPHW-104-24P) 24 TLPHW-114-24P
TLPHL-001R(TLPHL-100R) AF TLPHL-100RL TLPHC-003V TLPH-200V(TLPH-300V) TLPHC-200V(TLPHC-300V) TLPHW-200V(TLPHW-300V)

=
- - —_— et b [
T - - i
iii l l l l l : -
e ik _ o
o _ L,flq‘li“"‘“ =
L
L=A+15.00
[—— (7.62) L=A+51 =] < [=A+T.2%
7/ < 360381 9130 n n n n A=350x (- B é *ggi 617 8140
" « P . V.Y i £ 1350, i PN . ~ B O b b
| T& P9 R [0 0L D N 1 - i s T pPRLT] Fﬁu TU “ T;&
g LA 30 q =S =y 20 LeA-6.68 L=A+6.60 Ter e e
[=A+L.T0 = . i A | = _330 [=A+668 Az5.00x(P-1)
g / EET LeAE00 A=5.08x(P-1]
%‘% 9.20 - I ‘ I 1 L=A15.24 18.50)_
; = y .k | mmatm iy i :
bid § § It = ‘ 508 v I~
N = ;@@@@E i osi [ |ison g w U LGl o Gl G
& Y i W e 2 g a0 a1 2000 o100 G
A=3.50(P-1) 8.00 34 ) 0080 55 ] L)l w03 K001 > & 00p-1 A-500P T BB
=3.50x(P- N 3 5P- ! (L=6.08:0) 5 08x(P- 5.08x(P- 175
A3 81P1) 220 | |A=381x(P-1) A=35x(P-1) =582 A=5.08x(P-1] A5 08P
A B4R Technical data K ¥i4& Technical data # A ¥4} Technical data # A ¥4} Technical data # A ¥4} Technical data AR ¥i4& Technical data
Pitch ( [a]E ): 3.50mm(3.81mm) Pitch ( [a]EE ): 3.81mm Pitch ( [a)#E ): 3.50mm Pitch ( a1EE ): 5.00mm(5.08mm) Pitch ( [a)#E ): 5.00mm(5.08mm) Pitch ( [a]EE ): 5.00mm(5.08mm)
Approval (IAIE ): AV VDE(Applying) Approval ( TAIE ): A VDE(Applying) Approval (TAIE ): Vs Approval ( TAIE ): A\ Approval (TAIE ): A Approval ( IAIE ): R
Rated voltage (& ): 300V 250V Rated voltage ( BBE ): 300V 320V Rated voltage ( BJE ): 300V Rated voltage ( BBJE ): 300V 320V Rated voltage (BB/% ): 300V 320V Rated voltage (EBJE ). 300V 320V
Rated current (B85 ):  13A 10A Rated current ( 3% ): 13A 10A Rated current ( 3% ): 10A Rated current ( 3% ): 16A 20A Rated current (B3 ):  16A 20A Rated current (83 ):  16A 20A
PCB hole Dia(PCBE#%): ®1.3mm PCB hole Dia(PCB &f% ): ®1.3mm PCB hole Dia(PCB E% ): ®1.2-1.3mm PCB hole Dia(PCB EfZ): ®1.6-1.7mm PCB hole Dia(PCB H#Z): ®1.6-1.7mm PCB hole Dia(PCBE#%): ®1.6-1.7mm
#S Part Number #1S Part Number #S Part Number #1S Part Number #1S Part Number #1S Part Number
#REL (Poles) 2 (Model) &% (Poles) S (Model) R (Poles) S (Model) R (Poles) #U-S (Model) RE (Poles) #2 (Model) &% (Poles) A2 (Model)
02 TLPHL-001R-02P-AF(TLPHL-100R-02P-AF) 02 TLPHL-100RL-02P 02 TLPHC-003V-02P 02 TLPH-200V-02P(TLPH-300V-02P) 02 TLPHC-200V-02P(TLPHC-300V-02P) 02 TLPHW-200V-02P(TLPHW-300V-02P)
24 TLPHL-001R-24P-AF(TLPHL-100R-24P-AF) 24 TLPHL-100RL-24P 24 TLPHC-003V-24P 24 TLPH-200V-24P(TLPH-300V-24P) 24 TLPHC-200V-24P(TLPHC-300V-24P) 24 TLPHW-200V-24P(TLPHW-300V-24P)

22 www.tielee.com %

f;‘-‘ www.tielee.com 23



TLPH SERIES - Header(Male) for Pluggable Terminal Block

TLPH-200R(TLPH-300R)

L=5.00xP

L=5.08xP

1509001 15045001
15014001 IATF16949

TLPHC-200R(TLPHC-300R)

L=A+6.68

s AN C€ @ @

TLPHW-200R(TLPHW-300R)

- o « [

L=A+15.00

A+15.24

TLPH SERIES - Header(Male) for Pluggable Terminal Block

TLPHW-300R-0544

L=A+18.44
P=A+152L 1200
' \A:SOSx(P—‘U : 762 K
O s ADLls B = = S
i AV [ < "
O - ! [ =
5.08 508 922 0100
4,00 | 2.00
il DO l
NHH,C} ;‘ O |2
¢15-011/ | 5.08 b
82.40 508 922J §
=

TLPH-225

1509001 15045001

15014001 IATF16949

Il

A=5.00P-1)

L=5.00xP.

L=A+S0

A=5.0X(P-1

1050

10.50

TLPH-201

R

cNusNCG@@

o,

20.00

vl 12.00 | 350

Ty

16-017
¢ o o o

150

500

1500 ‘
|
1800

NS

200
150 1500

1800

: g p: B iy
5 ‘ 500150 0100
UJ, I % 06]5.08
250 A=5.00x(p-1) 730 | A=6.00x(P-1
25% A=5.08+(P1] AZ5.00x(P-1) 62 A-5.08+/P1
250 A=5.00x(P-1) A=5.08x(P-1) A=5.00x(P-1) c
25k A=5.08x(P-1) T ASS.08P) 10 300 16-17
: 762 1508 -
+ A . ey . D
roTh s nujcwj AR &6 G\/,¢
s0p | \ o601 i |2l TR el SIS A=5.00x(P-1) s g
S = o L A=B.00ulP-1] | S
i A=5.08x(P-1) N
\
L5000 L=As660 L=A15.00
1=5.08xP [=A4668 L-A-5.26
A ¥4’ Technical data % K ¥14& Technical data A ¥4 Technical data

AR Technical data

AR Technical data

AR Technica

| data

Pitch ( [&]%E ): 5.00mm(5.08mm) Pitch ( [8]%E ): 5.00mm(5.08mm) Pitch ( [8]BE ): 5.00mm(5.08mm)

Approval (TAIE ): R\ Approval (A ): A Approval (IAIE ): A

Rated voltage ( BBJE ): 300V 320V Rated voltage (/& ): 300V 320V Rated voltage (EBJE): 300V 320V

Rated current ( B3% ): 16A 20A Rated current ( B3 ): 16A 20A Rated current (3% ):  16A 20A

PCB hole Dia(PCB % ): ®1.6-1.7mm PCB hole Dia(PCB EfZ): ®1.6-1.7mm PCB hole Dia(PCBEfZ): ®1.6-1.7mm

#1= Part Number #15 Part Number #15 Part Number

R (Poles) A= (Model) R (Poles) A2 (Model) 3L (Poles) #IE (Model)

02 TLPH-200R-02P(TLPH-300R-02P) 02 TLPHC-200R-02P(TLPHC-300R-02P) 02 TLPHW-200R-02P(TLPHW-300R-02P)
24 TLPH-200R-24P(TLPH-300R-24P) 24 TLPHC-200R-24P(TLPHC-300R-24P) 24 TLPHW-200R-24P(TLPHW-300R-24P)

TLPH-200R-1603(TLPH-300R-1603)

TLPHC-200R-1603(TLPHC-300R-1603)

TLPHW-200R-1603(TLPHW-300R-1603)

Pitch ( &]#E ): 5.08mm Pitch ( j&]8E ): 5.00mm Pitch ( [8]8B ): 5.00mm

Approval (IAIE ): A Approval (IAIE ): A Approval (IAIE ): Al

Rated voltage ( BB JE ): 300V Rated voltage ( BB [E ): 300V Rated voltage (B JE ): 300V 630V

Rated current ( B3k ): 16A Rated current ( B35 ): 15A Rated current ( 3% ): 16A 20A

PCB hole Dia(PCB &£ ): ®1.5-1.7mm PCB hole Dia(PCB E1# ): ®1.3-1.5mm PCB hole Dia(PCB E1? ): ®1.6-1.7mm

#= Part Number #1= Part Number #S Part Number

B3 (Poles) 2 (Model) %% (Poles) A2 (Model) B3 (Poles) A2 (Model)

02 TLPHW-300R-0544-02P 02 TLPH-225-02P 02 TLPH-201R-02P

24 TLPHW-300R-0544-24P 36 TLPH-225-36P 04 TLPH-201R-04P
TLPH-201RL TLPHW-306 TLPH-300A

L=A+254

L=5.00xP 200 L=A+15.00
I — [=A+5.0%
I: ‘ H
300
250 A=5.00x{P-1) P " ks 00np-) “ =
256 A= 060P-1 A5 08x(P-1 e gg([;:f
A=5.00x(P-1) 150 500 ’

250 A=5.00x(P-1) A<5.08PT $150-9170

254 A=5.08x(P-1] 015-011 320 5.00 oL pal 8240

= — B30%.08 $150-6170 i o

5007 T T S &_drd Sy [ iy ~

5 5,08 i N A7 = 500 | A5 00xP-1

= 2 - I AZ5.08x(P-1]

< 1=5.00xP

& = A L=A+15.00

= T500P & el [=A-5.20
AR Technical data AR Technical data #H AR’ Technical data
Pitch ( Ja1EE ): 5.00mm(5.08mm) Pitch ( [a1EE ): 5.00mm(5.08mm) Pitch ( [&]EE ): 5.00mm(5.08mm)
Approval (IAIE ): AV Approval (IAIE ): Al Approval (TAIE ): Al
Rated voltage (EBJE): 300V 320V Rated voltage (EBJE ): 300V 320V Rated voltage (BB/E ): 300V 320V
Rated current (83 ):  16A 20A Rated current (B3 ):  16A 20A Rated current (B3 ):  16A 20A
PCB hole Dia(PCB &1%): ®1.5-1.7mm PCB hole Dia(PCB Ef%): ®1.5-1.7mm PCB hole Dia(PCBE{&): ®1.5-1.7mm
#1S Part Number #1S Part Number #S Part Number
1R#x (Poles) S (Model) &% (Poles) £S5 (Model) REL (Poles) 3 (Model)
02 TLPH-200R-1603-02P(TLPH-3000R-1603-02P) 02 TLPHC-200R-1603-02P(TLPHC-300R- 1603-02P) 02 TLPHW-200R-1603-02P(TLPHW-300R-1603-02P)
24 TLPH-200R-1603-24P(TLPH-3000R-1603-24P) 24 TLPHC-200R-1603-24P(TLPHC-300R- 1603-24P) 24 TLPHW-200R-1603-24P(TLPHWW-300R-1603-24P)

L=A+5.08
135 5.08xP+10.16 9.30+0.30_
I
ba A Ard A |
2 s 2 5 \\ ;
N = i - TV
ow ||| = 254|508 o100
3 425.08(P- S0P A=5.08x[P-1)
3 TR L
o~ Tttt ¢ t— =
G{/MH‘H :] 1T I ? ¢’ f -
9 © caj S i 254 508 o16-1741 2
150 | 15,00 | e —— A )
18.00 5.08xP+ 1122

AL Technical data AR Technical data AR Technical data
Pitch ( [8]%E ): 5.00mm Pitch ( &]3E ): 5.08mm Pitch ( [8]EE ): 5.08mm
Approval (IAIE ): A Approval (IAIE ): AV VDE(Applying) Approval (A ): s
Rated voltage ( BB JE ): 300V 630V Rated voltage ( B [E ): 300V 630V Rated voltage (B ): 300V 630V
Rated current ( B3k ): 16A 20A Rated current ( 3% ): 16A 18A Rated current ( 3% ): 16A 20A
PCB hole Dia(PCB E% ): ®1.6-1.7mm PCB hole Dia(PCB Ef&): ®1.6-1.7mm
#1S Part Number #1S Part Number #1S Part Number
&# (Poles) A5 (Model) &# (Poles) A5 (Model) %% (Poles) A5 (Model)
02 TLPH-201RL-02P 02 TLPHW-306-02P 02 TLPH-300A-02P
04 TLPH-201RL-04P 24 TLPHW-306-24P 24 TLPH-300A-24P

24 www.tielee.com ‘%E:

? www.tielee.com 25



TLPH SERIES - Header(Male) for Pluggable Terminal Block

1509001 15045001

15014001 IATF16949 I:NUS N

(€A@@

TLPH SERIES - Header(Male) for Pluggable Terminal Block

1509001 15045001

15014001 IATF16949 BNUS N c € @ @ {

TLPHC-300A

TLPHW-300A

v
v .

rﬂF‘

L=A+15.24

TLPHC-313V

TLPH-400V(TLPH-500V)

A=150x(P-1)

A=T.62x(P-1)

tN\0160-170

EI :J,r o — o

280
162 281

L=

A+5.60

L=

A+5.67

TLPHC-400V(TLPHC-500V)

for

L=A+1.50

L=A+T.62
375 A=150x(P-1)
381 A=TE2{P-1]

g

8.60

Z

TLPHW-400V(TLPHW-500V)

L=A+17.90

L=A+11.92
895 A=T50x(P-1)

8.96 A=T62xIP-1)

of—t—colo

(8.60)

150

6.10

‘ L=A+5.60 750 762
| L:A52 161 A=150x(P-1) LA 150
FE A=T62x(P-1] N
| 150 ;gi 3?3 2160-0170 895 A%Bﬂ&zﬂ
} ( T W i 896 A=T62x(P-1]
0100 = ” 3
T 5 -
\ A=150x(P-1) 280 N = =]
A=T62x[P-1] 781 L=A+7.50 610 | 750_| @16-817 P2.40
L=AT62 762
A B4R Technical data # A ¥4} Technical data A ¥4 Technical data

Pitch ( jE]8E ):

7.50mm(7.62mm)

Pitch ( /&35 ):

7.50mm(7.62mm)

Pitch ( [a]EE ):

7.50mm(7.62mm)

Approval (A ): A e Approval (TAIE ): A Approval (TAIE ): A

Rated voltage ( BB [E ): 300V 630V Rated voltage ( B % ): 300V 630V Rated voltage (EBJE ): 300V 630V

Rated current ( B3% ): 16A 20A Rated current ( B3} ): 16A 20A Rated current (3% ):  16A 20A

PCB hole Dia(PCB &1 ): ®1.6-1.7mm PCB hole Dia(PCB &1 ): ®1.6-1.7mm PCB hole Dia(PCB H1%): ®1.6-1.7mm

#5 Part Number #5 Part Number S Part Number

&% (Poles) A5 (Model) &% (Poles) A5 (Model) #RE (Poles) A5 (Model)

02 TLPH-400V-02P(TLPH-500V-02P) 02 TLPHC-400V-02P(TLPHC-500V-02P) 02 TLPHW-400V-02P(TLPHW-500V-02P)
12 TLPH-400V-12P(TLPH-500V-12P) 12 TLPHC-400V-12P(TLPHC-500V-12P) 12 TLPHW-400V-12P(TLPHW-500V-12P)

508 U 91405, 5.08
l H 8 ) ‘ = T 46?‘,/‘/ =
: ! o
: i © S A=5.08x(P-1) =
\\ ‘ \\ ‘ = L o
PV \ i
s TTTl :
A=5.08x(P-1) 334 508 01,00 390 | |
L A=5.08x(P- 1) L b
n n + E |
b1 M ? i } H H H
T - - o
334 5.08| ¢16-17)1 < 2 762 |5.08 I XM 00.80 3 | w !H
A A A=5.08x(P-1) 254
# A ¥4 Technical data A B Technical data % A %14 Technical data
Pitch ( [a1#E ): 5.08mm Pitch ( [818E ): 5.08mm Pitch ( [818E ): 5.08mm
Approval (IAIE ): A & Approval (IAIE ): A Approval (IAIE ): A
Rated voltage ( B JE ): 300V 630V Rated voltage ( BBJE ): 300V 630V Rated voltage ( BE ): 300V 400V
Rated current ( B35 ): 16A 20A Rated current ( 3% ): 16A 20A Rated current ( 3% ): 13A 13A
PCB hole Dia(PCB &1z ): ®1.6-1.7mm PCB hole Dia(PCB E{2): ®1.6-1.7mm PCB hole Dia(PCB &1 ):  ®1.4mm
#= Part Number #15 Part Number #15 Part Number
&% (Poles) A= (Model) 1R#x (Poles) #IS (Model) 1R#x (Poles) S (Model)
02 TLPHC-300A-02P 02 TLPHW-300A-02P 02 TLPHC-313V-02P
24 TLPHC-300A-24P 24 TLPHW-300A-24P 24 TLPHC-313V-24P
TLPHW-313V TLPHC-313R TLPHW-313R

"Il..ililin v

TLPH-400R(TLPH-500R)

L=A+5.60

(8.60)

280,

TLPHC-400R(TLPHC-500R)

L=A+150

L=A+7.62

(860)

3SLIS0 oo

TLPHW-400R(TLPHW-500R)

(8.60)

150 ] J
762 0100

LI i»“«% J240 L=5.08xP 9.20 =5.08x(P-1)
@’*’?ﬁ?ﬁgfﬂﬂgi 450 - ) [ 105 1508,
‘ 450, q g f_2185 =1 e r>
THNSENE . = R Vi A Fe e
= eEEERe o s
1% bl dlbihd 0080 800 L=A+ 1,10 i
L=A+14.10 - L=As1h.10
7.00 A=5.08x(P-1]
9.20
0o ofif ool | Sh_ A508:p-1) 2
i <) 2 T oREEE" [=:
S ! S PP —P ! T i
1 |08 7o) |8 U =
e 105_| 509 o i 450 5.08 0080 800
A=5.08{P-1] = 1=5.08xP 7205 | A=5.08<P-1)
AR Technical data AR Technical data A EIR Technical data
Pitch ( J81EE ): 5.08mm Pitch ( [a]EE ): 5.08mm Pitch ( [a]EE ): 5.08mm
Approval (IAIE ): A Approval (TAIE ): A Approval (IAIE ): AV
Rated voltage ( B JE ): 300V 400V Rated voltage ( BBJE ): 300V 400V Rated voltage ( BBJE ): 300V 400V
Rated current ( B3 ): 13A 13A Rated current ( B3 ): 13A 13A Rated current ( B3 ): 13A 13A
PCB hole Dia(PCB &1% ): ®1.4mm PCB hole Dia(PCB &1% ): ®1.4mm PCB hole Dia(PCB &1% ): ®1.4mm
#1S Part Number #15 Part Number #15 Part Number
1REL (Poles) £S5 (Model) &% (Poles) 5 (Model) 1R# (Poles) S (Model)
02 TLPHW-313V-02P 02 TLPHC-313R-02P 02 TLPHW-313R-02P
24 TLPHW-313V-24P 24 TLPHC-313R-24P 24 TLPHW-313R-24P

L s Aclsip) T
MIEED sy o A=T5D:(P-1 S
AT62P1 A=162x(P-1) i
e e S SRR T R W
~ = 315 150 o S 150 | \o16-17 SIS
gg? ;ZgJ 2160170 5|8 9 725+ o160-110) g g s e ! 60| | S|
A L=A+750 895 A=T50x(P-1)
Ewy A6 8% A=T624(P1)
A %#E Technical data % A ¥4 Technical data A B4 Technical data
Pitch ( [&]3E ): 7.50mm(7.62mm) Pitch ( Ja]EE ): 7.50mm(7.62mm) Pitch ( [a]EE ): 7.50mm(7.62mm)
Approval (IAIE ): A Approval (A ): Al Approval (IAIE ): oA
Rated voltage ( BB [% ): 300V 630V Rated voltage (EBJE ): 300V 630V Rated voltage (BB/E ): 300V 630V
Rated current ( B85} ): 16A 20A Rated current (EB3% ):  16A 20A Rated current (B85 ):  16A 20A
PCB hole Dia(PCB % ): ®1.6-1.7mm PCB hole Dia(PCB &f2): ®1.6-1.7mm PCB hole Dia(PCB &{Z): ®1.6-1.7mm
#1S Part Number #15 Part Number #1S Part Number
R (Poles) A= (Model) R (Poles) #I= (Model) %% (Poles) A= (Model)
02 TLPH-400R-02P(TLPH-500R-02P) 02 TLPHC-400R-02P(TLPHC-500R-02P) 02 TLPHW-400R-02P(TLPHW-500R-02P)
12 TLPH-400R-12P(TLPH-500R-12P) 12 TLPHC-400R-12P(TLPHC-500R-12P) 12 TLPHW-400R-12P(TLPHW-500R-12P)

26 www.tielee.com ‘%E:

? www.tielee.com 27



TLPH SERIES - Header(Male) for Pluggable Terminal Block

TLPH-500RL

TLPHC-500RL

1809001 15045001 @
15014001 IATF16949

A Y C€

TLPHW-500RL

& @

TLPH SERIES - Header(Male) for Pluggable Terminal Block

TLPHW-501R

TLPHC-501RL

1509001 15045001 @
15014001 IATF16949

TLPHW-501RL

AN €A E @

L .
g 38 A g _ 89 A
S| 28 A S — g
~ 162 9157 162 4151 610_|_ 762 $15~17
T % éf’ & S - 9— @74 $— ﬁ
£ T 2 { g [P o (-
b= il Y uy
’ L L L
L=A+162 12.00 L=A+17.92 12.00
. 9} SO [JNE
o L = - =
m b0 = 5
T 280 162 atoo 381,162 01.00 .10, -
200] | 1100 A=T.62¢(P-1) A=1.62x(P-1) Lo | | 200 896 | AT62P-1) oo | | 200
AR ¥R Technical data A IE Technical data A IE Technical data
Pitch ( [8]%E ): 7.62mm Pitch ( [8]%E ): 7.62mm Pitch ( [8]%E ): 7.62mm

Approval (IAIE ):

CUL(Applying) VDE(Applying)

Approval (IAIE ):

CUL(Applying) VDE(Applying)

Approval (IAIE ):

CUL(Applying) VDE(Applying)

Rated voltage (B8 / ): 300V 630V Rated voltage ( BBJE ): 300V 630V Rated voltage ( BJE ): 300V 630V

Rated current (B83% ) 16A 20A Rated current ( B85 ): 16A 20A Rated current ( B85 ): 16A 20A

PCB hole Dia(PCB &% ): ®1.5-1.7mm PCB hole Dia(PCB Ef%): ®1.5-1.7mm PCB hole Dia(PCB &fz): ®1.5-1.7mm

#£}= Part Number #15 Part Number #15 Part Number

%% (Poles) #5 (Model) %% (Poles) #IS (Model) %% (Poles) = (Model)

02 TLPH-500RL-02P 02 TLPHC-500RL-02P 02 TLPHW-500RL-02P

12 TLPH-500RL-12P 12 TLPHC-500RL-12P 12 TLPHW-500RL-12P
TLPHC-501V TLPHW-501V TLPHC-501R

s 1

— S g
. o N b arias
.l " s £
‘ll
L
R —
g | ytss [162 = 51| (162 S
|r < H\\\\ N
[ i ¢ sk L T = f nalE £
6250 r Mo g S L i o/ |8 3
#3.20 ‘ | W\ &
1=A:23.72 295 LA-1042 XSS L=A23.72 2925
T
g [= 2 3 e o %% I D
e ST I E o I =:z3E EEEEe Il
T 1 00T T 1 100 T 1 I ‘
11.86_|762] 0.80 5.08 183 521 (162 | 080 _1 508 183 1186 762] | 080 5.08] | 183
A=T62¢(P-1) 8 162 A=1.62x(P-1 2 i) A=7.62x(P-] 3 1262)
A Technical data A IE Technical data F AR Technical data
Pitch ( j8]BE ): 7.62mm Pitch ( [8]%E ): 7.62mm Pitch ( J8]BE ): 7.62mm
Approval (TAIE ): AL Approval (3N ): A & Approval (IAIE ): Al &
Rated voltage ( B/E ): 300V 630V Rated voltage ( BB JE ): 300V 630V Rated voltage (B JE ): 300V 630V
Rated current ( H3% ): 41A 41A Rated current ( E23% ): 41A 41A Rated current ( B35 ): 41A 41A
PCB hole Dia(PCB &Ef%): ®1.5mm PCB hole Dia(PCB Ef%): ®1.5mm PCB hole Dia(PCB &f£): ®1.5mm
#}= Part Number #15 Part Number #15 Part Number
#R#x (Poles) -5 (Model) %% (Poles) #IS (Model) 1R%x (Poles) = (Model)
02 TLPHW-501R-02P 02 TLPHC-501RL-02P 02 TLPHW-501RL-02P
16 TLPHW-501R-16P 16 TLPHC-501RL-16P 16 TLPHW-501RL-16P
TLPHC-516V TLPHW-516V TLPHC-516R
A =K
g ] SR
= —— S I 7#7 I ) L e
1 21 soff ?ﬁ <
L=762xP \\
" -
o i & ; R | ;W
T Jj:%,ﬂ!( = T s {
161 08x10 i 162 762] |19
6P A=T624P-] L s A=T624(P-1

# A ¥4} Technical data

A ¥R Technical data

A ¥4 Technical data

L
521, 162 9150 2 = 6150 & T i
. % == ‘% . 1186 !sz‘ T H HHD 0 iz 3
palares SiibGSas 31 i A DTN iI < ' ST T
426 3 - -t X i 2y | oot
L=A1042 L»f«i L-A23 T2 L ; == - Vol T AT |
2 #6150 =
1429 I \wni Il gl
j)— oo 1\
e i B LA 0.2
| Jygll® L el |
105 = 105 (o i 5
1.00 |
521 | [762] 080 254 252 1186_[762] 0.80 254 ] 252 so1 | (6] 080 sop || || 183
A=762X(P-1 162 A=T62XP-1) L8Z A=7.62x(P-1) 52|
A B4R Technical data A B4R Technical data # A ¥4} Technical data
Pitch ( [8EE ): 7.62mm Pitch ( [8EE ): 7.62mm Pitch ( [8EE ): 7.62mm
Approval ( iNE ): s Approval ( IMIE ): s Approval ( INIE ): s
Rated voltage ( B/% ): 300V 630V Rated voltage ( BBJE ): 300V 630V Rated voltage ( BJE ): 300V 630V
Rated current ( 3% ): 41A 41A Rated current ( 3% ): 41A 41A Rated current ( 3% ): 41A 41A
PCB hole Dia(PCB &£ ): ®1.5mm PCB hole Dia(PCB H%): ®1.5mm PCB hole Dia(PCB Ef#%): ®1.5mm
#S Part Number #S Part Number #S Part Number
#REL (Poles) 2 (Model) #REL (Poles) 2 (Model) R (Poles) S (Model)
02 TLPHC-501V-02P 02 TLPHW-501V-02P 02 TLPHC-501R-02P
16 TLPHC-501V-16P 16 TLPHW-501V-16P 16 TLPHC-501R-16P

28 www.tielee.com %

Pitch ( a1EE ): 7.62mm Pitch ( [a]EE ): 7.62mm Pitch ( [a1EE ): 7.62mm

Approval (TAIE ): Al Approval (IAIE ): Al Approval (IAIE ): A
Rated voltage ( BBJE ): 300V 1000V Rated voltage ( BJE ): 300V 1000V Rated voltage ( BB JE ): 300V 1000V
Rated current ( B3 ): 30A 32A Rated current ( 3% ): 30A 32A Rated current ( B8 ): 30A 32A
PCB hole Dia(PCB Ef&): ®1.5mm PCB hole Dia(PCB H%): ®1.5mm PCB hole Dia(PCB &Ef%): ®1.5mm

#1S Part Number #S Part Number #1S Part Number

1R%x (Poles) S (Model) %% (Poles) S (Model) 1R%% (Poles) S (Model)

02 TLPHC-516V-02P 02 TLPHW-516V-02P 02 TLPHC-516R-02P
16 TLPHC-516V-16P 16 TLPHW-516V-16P 16 TLPHC-516R-16P

f;‘-‘ www.tielee.com 29



TLPH SERIES - Header(Male) for Pluggable Terminal Block

1809001 15045001 @
15014001 IATF16949

M N CE & & @

TLPH SERIES - Header(Male) for Pluggable Terminal Block

1509001 15045001 @
15014001 IATF16949

AN €A E @

TLPHW-516R

13.15
1
=ht
o+
’Ijéru*;
29.00

TLPHC-800V

=
[

U
l'-.Il

-
ROSHT
PG

& e 1]
1016 | \#180 \9200S| 3

TLPHW-800V

L=A+2792

b

# I"

13.49

32.00

TLPHW-800RL

TLPHC-900V

AN »
TR

q‘aﬂﬂ"i
§ LR

13.40 olo
120
L of 162 ‘ |5.08
2900 13.96_|_ A=10.16x(P-1 S L1016 |
13.96 A
S 1
m — ?TI 92 D D N N S .
S 600 |wis| 100 R “ TR s
A=10.16x(P-1) ~ 10.16 | 10.16 M/m.zo b=
A B4R Technical data % A %4 Technical data # A ¥4} Technical data
Pitch ( [&]FE ): 7.62mm Pitch ( [a1EE ): 10.16mm Pitch ( [a]#E ): 10.16mm
Approval (TAIE ): R-\\H & Approval ( TAIE ): AN & Approval (IAIE ): A
Rated voltage ( BB [% ): 300V 1000V Rated voltage ( % ): 300V 1000V Rated voltage ( B JE ): 300V 1000V
Rated current ( B3% ): 30A 32A Rated current ( B3 ): 55A 76A Rated current ( 837 ): 55A 76A
PCB hole Dia(PCB &2 ): ®1.5mm PCB hole Dia(PCB &% ): ®1.8mm PCB hole Dia(PCB EfZ): ®1.8mm
#5 Part Number #5 Part Number #%5 Part Number
REL (Poles) #S (Model) & (Poles) A5 (Model) R4 (Poles) E1S (Model)
02 TLPHW-516R-02P 02 TLPHC-800V-02P 02 TLPHW-800V-02P
16 TLPHW-516R-16P 11 TLPHC-800V-11P 10 TLPHW-800V-10P
TLPHC-800R TLPHW-800R TLPHC-800RL

6 A 13.96 A = H,ﬁﬂe#,‘
= = 1
B | B o o S J1EET ==
gl [+t Sl o T+t - SERY.ARE
B sl o180/ (2 Z " &@LMQWOMO} éIg A o o0/ |33
32.00 10, 01 3200 32.00
T 11 y 1 50 | | {3-120 vy
6.60 10.16] 1.00 5.08 3-120 13.96 [10.16] 1.00 A Byran 3-1.20 5.08 6.60 1016/ 1.00
Al0JsxlP-1)| S 19.60_10.16 A=10.16x(P-1) = 0.6 1960 A0t | T
A B4R Technical data AR Technical data #HABH]E Technical data
Pitch ( [a]E ): 10.16mm Pitch ( [a1EE ): 10.16mm Pitch ( [a]%E ): 10.16mm
Approval ( IAIE ): s Approval ( TAIE ): Al Approval ( INIE ): s
Rated voltage ( BB [% ): 300V 1000V Rated voltage (% ): 300V 1000V Rated voltage ( BB [% ): 300V 1000V
Rated current ( B3% ): 55A 76A Rated current ( EB37 ): 55A 76A Rated current ( 837} ): 55A 76A
PCB hole Dia(PCB & ): ®1.8mm PCB hole Dia(PCB &Ef%): ®1.8mm PCB hole Dia(PCB Ef#Z): ®1.8mm
#S Part Number #1S Part Number #S Part Number
&% (Poles) 2 (Model) #RE (Poles) A2 (Model) R (Poles) AJS (Model)
02 TLPHC-800R-02P 02 TLPHC-800V-02P 02 TLPHC-800RL-02P
11 TLPHC-800R-11P 10 TLPHC-800V-10P 11 TLPHC-800RL-11P

30 www.tielee.com %

2380 o|s
139 A ) 3= 95.40 8360 e
i s B tlililal = B RbElE====
D = 3 @14 % ,&4 )| 2| 1 ——
R T R = SECy ‘ Bl | 2 3?’9 i e ,SOOESTﬁ
10.16110.16| 2180 S L=A+16.40 A 820 § 1,50 ‘—t—J E‘i
9320/ |2} < 1=A+39.40 A 11970
2850 2850
3200 } 1‘0“&1 106 __\H ‘ K ‘ R —
T iI P W 4 BI‘QMM%J s M s
L \ = [ Sy
TR AHLE 1ot 250 1500 | 820 1 Lew Bt B0 t&oo
0.16]_19.60 A0t6P-1)| S - Y A=15.00x(P-1]_| 1970 815, | [noo
A=15.00x(P-1) 875 11.00
# A ¥4} Technical data % A %14 Technical data A %14 Technical data
Pitch ( a1EE ): 10.16mm Pitch ( [a]EE ): 15.00mm Pitch ( [a]EE ): 15.00mm
Approval (IAIE ): A Approval ( TAILE ): A VDE(Applying) Approval ( TAILE ): A &
Rated voltage ( HJE ): 600V 1000V Rated voltage ( BB [E ): 600V 1000V Rated voltage ( BB % ): 600V 1000V
Rated current ( 3% ): 55A 76A Rated current ( B3 ): 115A 125A Rated current ( 3% ): 115A 125A
PCB hole Dia(PCB &fZ): ®1.8mm PCB hole Dia(PCB &f%): ®3.6mm PCB hole Dia(PCB &f%): ®3.6mm
1S Part Number #5 Part Number #5 Part Number
R (Poles) A5 (Model) REL (Poles) A5 (Model) &% (Poles) A5 (Model)
02 TLPHW-800RL-02P 02 TLPHC-900V-02P 02 TLPHW-900V-02P
10 TLPHW-800RL-10P 08 TLPHC-900V-08P 08 TLPHW-900V-08P
TLPHC-900R TLPHW-900R TLB21-002
h. -
-“H‘b“h‘h .
s _ >
.'. “ III |
Lt e
2000 1030
7 A S . 1970, A wiécg‘ I
o) = [ o
" “ T——4 =
;S‘. t = | Hmmﬂ[ i é :?; g Il =lo = LN N |
0 e . 1 j Rk = s
00 8360/, a ‘ pedisonlesan” | | 2] L oy 3
: : 38.00 D:;ao v #0.60 n
36.00 508 i 25 |
g 2 | 325 5w
ST sy ﬁ <
< /I & o &+
Sy 6,00 =[] 3 =
11 600 1100 2355 19.70 | A=15.00x(P-1) = ‘T—?mm \:E =
11.00 23.55 03-10
# A ¥4 Technical data FH AR Technical data AR HIR Technical data
Pitch ( a1EE ): 15.00mm Pitch ( [a]EE ): 15.00mm Pitch ( [a]§E ): 2.0mm (5.08mm)
Approval (TAIE ): A VDE(Applying) Approval (IAIE ): s Rated voltage ( BB [% ): 50V
Rated voltage ( BBJE ): 600V 1000V Rated voltage ( BB[% ): 600V 1000V Rated current ( B3 ): 12A/3A
Rated current ( B35 ): 115A 125A Rated current ( 83 ): 115A 125A PCB hole Dia(PCB H1% ): ®1.6-1.7mm/®1.0mm
PCB hole Dia(PCB &f&): ®3.6mm PCB hole Dia(PCB &Ef%): ®3.6mm
#1S Part Number #1S Part Number #1S Part Number
1REL (Poles) S (Model) %% (Poles) S (Model) %% (Poles) S (Model)
02 TLPHC-900R-02P 02 TLPHW-900R-02P - TLB21-002
08 TLPHC-900R-08P 08 TLPHW-900R-08P

f;‘-‘ www.tielee.com 31



TLPH SERIES - Header(Male) for Pluggable Terminal Block

1509001 15045001

15014001 IATF16949 c“‘us N c € @ @

TLPH SERIES - Header(Male) for Pluggable Terminal Block

1509001
15014001

s Y C€ @ @

TLB21-004

e

20.00

L

23550 | pie11

1.25
[J

1: WI%IHBG}*%D’ r

0000
#100 zszszszszu%[

TLPHDC-020V

$140

-

1l

)

1050

i

G- G-
-y 4

254| 366

il

L]

225 2.56x(P/2-1)

254xIP/2-1+4.50

254x(P/2-1)+4.50

|
/

[l

254]

225 254x(P/2-1

=

10.50

14.20

|
!

350

TLPHDW-020V

P80 B140

e g Y =
o 9 J@m&@mﬁﬁ
- {3‘63@33//@632‘“ N

{1

330 254xIP/2-1 5.05

256x(P/2-

1410.10

256x(P/2-1410.10

1050

010

i

254 0080 L‘ 300
330 | 256xlP/2-1) | 505 134

146,20

I
L

350

3.66,

TLPHDL-020R

254x(P/2-141.10

TLPHDC-005V(TLPHDC-105V)

TLPHDW-005V(TLPHDW-105V)
T = =

254x(P/2-1) T 9130 < S
- = I -
~ 1
& A @& o~ [ [N
315834 A st |12 8 o=
s A I IS HOI 8
; \\ T F 1 1Y T
\ 245] 350x1P/2-1)
254xIP2- 14110 %20 2300 38hP/2-1
L=A+14.20
FOO 17
S| @H 3 2 \ _
=i i E =l " S SR
4{ ' S ——
= B 00.80 00.80 T ﬂ“u T
o 3 ¥
‘ sy 10.40 254, - 350x(P/2-1)] ™ 15.24 2.90 6.95(3.50x(P/2-1) = 00.80
355 | 256xlP/2-1) 381x(P/2-1) 7.0 3.81x(P/2-1) | 290
H A BE Technical data A EIR Technical data HABE Technical data

Pitch ( [B]5E ): 2.54mm Pitch ( [8]8E ): 3.50mm (3.81mm) Pitch ( [8]EE ): 3.50 (3.81mm)

Approval (TAIE ): UL(Applying) VDE(Applying) Approval (IAIE ): A Approval (IAIE ): AV

Rated voltage ( BBJE ): 150V 320V Rated voltage (EBJE): 300V 160V(3.5) 320V(3.81) Rated voltage (BB[E ): 300V 160V(3.5) 320V(3.81)
Rated current ( B35 ): 5A 6A Rated current (B3 ):  10A 10A Rated current (B3R ):  10A 10A

PCB hole Dia(PCB EfZ): ®1.40mm PCB hole Dia(PCB &{£): ®1.3mm PCB hole Dia(PCB &1%): ®1.3mm

#15 Part Number #15 Part Number #5 Part Number

1R%% (Poles) #15 (Model) #R%1 (Poles) 15 (Model) k% (Poles) #15 (Model)

04 TLPHDL-020R-04P 04 TLPHDC-005V-04P(TLPHDC-105V-04P) 04 TLPHDC-005V-04P(TLPHDC-105V-04P
48 TLPHDL-020R-48P 48 TLPHDC-005V-48P(TLPHDC-105V-48P) 48 TLPHDC-005V-48P(TLPHDC-105V-48P

AR Technical data A EIRE Technical data HABE Technical data

Pitch ( [8]8E ): 2.50mm (5.0mm) Pitch ( [8]8E ): 2.54mm Pitch ( [&]%E ): 2.54mm

Rated voltage ( B JE ): 150V Approval (TAIE ): UL(Applying) VDE(Applying) Approval (IAIE ): UL(Applying) VDE(Applying)

Rated current ( 3% ): 12A/5A Rated voltage ( B JE ): 150V 320V Rated voltage ( BB JE ): 150V 320V

PCB hole Dia(PCB E{? ): ®1.6-1.7mm/® 1.0mm Rated current ( 3% ): 5A B6A Rated current ( BB3% ): 5A 6A
PCB hole Dia(PCB &f%): ®1.40mm PCB hole Dia(PCB &f%): ®1.40mm

#15 Part Number #15 Part Number #5 Part Number

#R%x (Poles) A5 (Model) 1R%x (Poles) 5 (Model) R (Poles) 1S (Model)

- TLB21-004 04 TLPHDC-020V-04P 04 TLPHDW-020V-04P
48 TLPHDC-020V-48P 48 TLPHDW-020V-48P

TLPHDL-020V TLPHDC-020R TLPHDW-020R

I:‘l Il

#140

W

1050

sod00e g
776}4}@/@%% -
1l

Jzst

355, 254x(P/2-1)

256xIP/2-1)+110

25kx(P/2-1)+110

050

)
I
I

2
355 | 2.54x1P/2-1)

16.20

1
DMJZVSL 366

254x(P/2-1)+4.50

254x(P/2-1)

254

10.40

1420

16.20

254
225 || 25xip/2-1)

Oog0

10.40 254

254x(P/2-11+10.10

5.05 254x(P/2-1)

330

254

0S54

10.40

14.20

25
505 | 256x{P/2-1) | 330,

o100 JL 0080

1040 254

TLPHDC-005R(TLPHDC-105R)

TLPHDW-005R(TLPHDW-105R)

TLPHDC-007V

# A ¥4} Technical data

A ¥4 Technical data

AR Technical data

Pitch ( [a1EE ): 2.54mm Pitch ( [a1EE ): 2.54mm Pitch ( [a)EE ): 2.54mm

Approval (IAIE ): UL(Applying) VDE(Applying) Approval (IAIE ): UL(Applying) VDE(Applying) Approval (TAIE ): UL(Applying) VDE(Applying)
Rated voltage ( BBJE ): 150V 320V Rated voltage ( BBJE ): 150V 320V Rated voltage ( BE ): 150V 320V

Rated current ( B3 ): 5A 6A Rated current ( B3 ): 5A 6A Rated current ( 83 ): 5A 6A

PCB hole Dia(PCB &£ ): ®1.40mm PCB hole Dia(PCB &Ef%): ®1.40mm PCB hole Dia(PCB &% ): ®1.40mm

#1S Part Number #1S Part Number #1S Part Number

R (Poles) #U-S (Model) &% (Poles) A2 (Model) &% (Poles) S (Model)

04 TLPHDL-020V-04P 04 TLPHDC-020R-04P 04 TLPHDW-020R-04P

48 TLPHDL-020V-48P 48 TLPHDC-020R-48P 48 TLPHDW-020R-48P

; T
ISR ‘!j; [ 13501 } 130 | o L H .
oLf (358, = #:ig 3¢81/ s \ S = ‘ g
telepgh ™ T — i g I — 1./ - i
245_| 350:0P/2-]] L=Arh90 5% §§?{§j§1’f =T / = (EREHEIE
2307 380P/2-T L=As460 30 o b s
L3 A=350<(P/2-1)
L=A+4.90
— 20080 =
2080 770—“\_”0 35 172.70_| 800 S5 <
ol | 2 [350x(P/2-118.35 Néi
S 38%(P/2-1) 110
A ¥4 Technical data AR Technical data A ¥4 Technical data
Pitch ( [81%E ): 3.50 (3.81mm) Pitch ( [a1EE ): 3.50 (3.81mm) Pitch ( J8]BE ): 3.50mm
Approval (IAIE ): Ay Approval ( IAILE ): AV Approval (IAIE ): AV
Rated voltage (/& ): 300V 160V(3.5) 320V(3.81) Rated voltage (/& ): 300V 160V(3.5) 320V(3.81) Rated voltage (#/E ): 300V 160V
Rated current (3% ):  10A 10A Rated current (E83% ):  10A 10A Rated current (3% ):  8A 10A
PCB hole Dia(PCB &1 ): ®1.3mm PCB hole Dia(PCB B2 ): ® 1.3mm PCB hole Dia(PCB &2 ): ® 1.3mm
#15 Part Number 5 Part Number S Part Number
&% (Poles) #-5 (Model) & (Poles) #S (Model) &% (Poles) #S (Model)
04 TLPHDC-005R-04P(TLPHDC-105R-04P) 04 TLPHDW-005R-04P(TLPHDW-105R-04P) 04 TLPHDC-007V-04P
48 TLPHDC-005R-48P(TLPHDC-105R-48P) 48 TLPHDW-005R-48P(TLPHDW-105R-48P) 48 TLPHDC-007V-48P

32 www.tielee.com ‘%E:

? www.tielee.com 33



TLPH SERIES - Header(Male) for Pluggable Terminal Block R M N CE & & @ & TLPH SERIES - Header(Male) for Pluggable Terminal Block Eorions Liveioets AN €A & @

TLPHDL-007V TLPHDC-007R TLPHDL-007R TLPHDC-008R(TLPHDC-108R) TLPHDW-008R(TLPHDW-108R) TLPHDC-010V

(o R e o)

A
28 5 36 iAso g Eﬁ@ Euﬁ' o @DE s ==’ i 215 350
N e o i e o oioo S 0. Dol AT g
g /H? ? RE o DO b = oy Py Py PR iy o fefeishela vieiaieo = bi30 \h/{%;I .
a ] P = BABdBA DA bR ababdbd S $130 2
. AN = f‘??"“ R TIv Ty mAALAAAN sl o[ -
140/ |11 = 381§ 800 1210 _|[ § 3500 A=381(P/2-1) |10 2190 —
n 30| 1 A=387(P/2-1) 260 T AISIP/ 255 250 | L @ A=350x(P/2-1)
A=350x(P/2-1] ) e [=A+14.20 -
LEAs5.20 [=A+13.90 L=A+L.30
Fdld-o—b —
Q Wl (\‘\ 350 = $130 *u¢ A "
o) o) & bk i %%ﬂé ! = § = ;; % S 5 [i/ g
we 5| ‘ i oo | ? WS o =4 aalaniuala
350 LN | s 245 3% 350 930 [ o 220 b 3 = I
= ‘ 3 = s A 26 —T 55 0080 ) =
A=35x(P/2-1)| < Az35x(P/2-1)] S L A |70 2
A 69
K B4E Technical data A ¥4} Technical data A ¥4 Technical data A %14 Technical data A ¥4} Technical data A %148 Technical data
Pitch ( 18]35 ): 3.50mm Pitch ( [&)3E ): 3.50mm Pitch ( [B18E ): 3.50mm Pitch ( E]8E ): 3.50mm (3.81mm) Pitch ( [&]8E ): 3.50mm (3.81mm) Pitch ( [&]2E ): 3.50mm
Approval (JAIE ): A Approval (TAIL ): A Approval (IAIE ): MAw Approval (IAIE ): A Approval (IAIE ): A Approval (IATE ): A
Rated voltage ( BJE ): 300V 160V Rated voltage (/& ): 300V 160V Rated voltage ( BBJE ): 300V 160V Rated voltage (B[ ): 300V 160V(3.5) 320V(3.81) Rated voltage (EB[% ): 300V 160V(3.5) 320V(3.81) Rated voltage ( BB JE ): 300V 160V
Rated current ( B3 ): 8A 10A Rated current (B3 ):  8A 10A Rated current ( B83# ): 8A 10A Rated current (3% ):  8A 10A Rated current (B85 ):  8A 10A Rated current ( BB ): 8A 10A
PCB hole Dia(PCB &£ ): ®1.3mm PCB hole Dia(PCB E%): ®1.3mm PCB hole Dia(PCB &1 ): ®1.3mm PCB hole Dia(PCB E1%): ®1.3mm PCB hole Dia(PCB Hf%): ®1.3mm PCB hole Dia(PCB H1%): ®1.3mm
#5 Part Number #1S Part Number #1S Part Number 5 Part Number S Part Number #1S Part Number
R (Poles) A2 (Model) 1% (Poles) A2 (Model) 3 (Poles) A2 (Model) R (Poles) #JZ (Model) %% (Poles) #JS (Model) R (Poles) #IS (Model)
04 TLPHDL-007V-04P 04 TLPHDC-007R-04P 04 TLPHDL-007R-04P 04 TLPHDC-008R-04P(TLPHDC-108R-04P) 04 TLPHDW-008R-04P(TLPHDW-108R-04P) 04 TLPHDC-010V-04P
48 TLPHDL-007V-48P 48 TLPHDC-007R-48P 48 TLPHDL-007R-48P 48 TLPHDC-008R-48P(TLPHDC-108R-48P) 48 TLPHDW-008R-48P(TLPHDW-108R-48P) 48 TLPHDC-010V-48P
TLPHDC-008V(TLPHDC-108V) TLPHDW-010V TLPHDW-008V(TLPHDW-108V) TLPHDC-010R TLPHDW-010R TLPHDC-200V(TLPHDC-300V)
-
K I
.
= b
.‘!_ I g ol
L=A+14.20 A (L=A+708)
L-AS20 A A=350x(P/2-)) CAB90 525E :j; 5 = T
A381(P/ 2T 260 525_B.50 9130 | | LSy AN/ 110 g = /e o~ G54 | Ao
B e A — | BN e = | 350 | AS00XP/2)
I P i 08
35 ] P& *é—é‘([ . Rlelelele. slelelel " —- -
Llelslelelslelelel o T Tia o b R o A W 7 To 00
AR AR WA b 1= I 3 / T = NZNAANG
e apen s ans s ii e, O OO f . ¢130/ 1/ ==
o H%}{b &) 300 O 00 Il v =
g 0 0 0 o RTehTed Alelelel o 7 L=A+10.50
REREE S EEE L = Oisirlsifisleialsi© i 2l [ ] 30 L
Nl o e :l T A=3.50<(P/2-1)
(s o s ——— A 525 A=350x(P/2]) 1160
HTo-—¢ &l & . ity I
NRTAN reo—4 215 350 =
1350 & E 32 & - — ii M —
#130 | i SR 9130 bl S & L =
R ‘y‘y¢ ¢ l‘”». N K M;PO //'E%g 3 ) =
# it G ]
A | 260 255 A {110 L
L = N L E
B AR Technical data A YR Technical data AR Technical data AR Technical data HAEIE Technical data HABIE Technical data
Pitch ( [E]EE ): 3.50mm (3.81mm) Pitch ( [a]EE ): 3.50mm Pitch ( [8]BE ): 3.50mm (3.81mm) Pitch ( [a]E ): 3.50mm Pitch ( [8]8E ): 3.50mm Pitch ( [8]8E ): 5.00mm (5.08mm)
Approval (GAJE ): A Approval (FAIE ): A Approval (IAIE ): A Approval (IAIE ): A Approval (IAIE ): A Approval (IAE ): A
Rated voltage (/& ): 300V 160V(3.5) 320V(3.81) Rated voltage ( BBE ): 300V 160V Rated voltage (B8 ): 300V 160V(3.5) 320V(3.81) Rated voltage ( BBJE ): 300V 160V Rated voltage ( BBJE ): 300V 160V Rated voltage (B[ ): 300V 320V
Rated current (83 ):  8A 10A Rated current ( 3% ): 8A 10A Rated current (B3%i):  8A 10A Rated current ( 3% ): 8A 10A Rated current ( B3 ): 8A 10A Rated current (B3 ) 16A 20A
PCB hole Dia(PCB 12 ): ®1.3mm PCB hole Dia(PCB &f2): ®1.3mm PCB hole Dia(PCB 1% ): ®1.3mm PCB hole Dia(PCB &f2): ®1.3mm PCB hole Dia(PCB #{2): ®1.3mm PCB hole Dia(PCB 2 ): ®1.6-1.7mm
#1S Part Number #5 Part Number #1S Part Number #S Part Number 15 Part Number #15 Part Number
REL (Poles) A5 (Model) &L (Poles) A5 (Model) R (Poles) S (Model) &% (Poles) A5 (Model) & (Poles) A5 (Model) #RE (Poles) A5 (Model)
04 TLPHDC-008V-04P(TLPHDC-108V-04P) 04 TLPHDW-010V-04P 04 TLPHDW-008V-04P(TLPHDW-108V-04P) 04 TLPHDC-010R-04P 04 TLPHDW-010R-04P 04 TLPHDC-200V-04P(TLPHDC-300V-04P)
48 TLPHDC-008V-48P(TLPHDC-108V-48P) 48 TLPHDW-010V-48P 48 TLPHDW-008V-04P(TLPHDW-108V-04P) 48 TLPHDC-010R-48P 48 TLPHDW-010R-48P 48 TLPHDC-200V-48P(TLPHDC-300V-48P)

34 www.tielee.com {: ? www.tielee.com 35



TLPH SERIES - Header(Male) for Pluggable Terminal Block

1509001 15045001

15014001 IATF16949 c“‘us N c€ @ (S: c?c

TLPH SERIES - Header(Male) for Pluggable Terminal Block

1509001 15045001
15014001 IATF16949

c‘i\\us‘i\lCG@@

TLPHDW-200V(TLPHDW-300V)

TLPHDC-200R(TLPHDC-300R)

TLPHDW-200R(TLPHDW-300R)

TLPHD-203R(TLPHD-303R)

L=A+500 250
(4+5.08) [254)
A5.00X(P/2-1)
5.08X(P/2-1]

5.00 21

TLPHDC-203R(TLPHDC-303R)

L=A+7.00 250
(A+T08 (254)
A5.00X(P/2-1)
590 POBKIP/Z-1

(5.08) ‘

2210

TLPHDW-203R(TLPHDW-303R)

L=A+15.00 250

TA+15.24) 254)
A+1000
A0, 6]
A500XP/2-1)
S PP

0]

210

===
eepeo
ElS E L L N
guguyrogud o Jr JUguguguyy fow {1 T *%w %J
1 w0 1
Fort o 4 %}:ﬂm 0¥ “ o ﬂknvww g
™ |, w177 wl 0T
s 255 0 0 o] oS o o ol
AR Technical data AR Technical data % K %148 Technical data
Pitch ( [8]EE ): 5.00mm (5.08mm) Pitch ( [8]EE ): 5.00mm (5.08mm) Pitch ( [E]EE ): 5.00mm (5.08mm)
Approval (IAIE ): A Approval (IAIE ): A Approval (A ): A
Rated voltage ( BB JE ): 300V 320V Rated voltage ( B[ ): 300V 320V Rated voltage ( B8JE ): 300V 320V
Rated current ( B3 ): 16A 20A Rated current (B3 ):  16A 20A Rated current ( B3 ):  16A 20A

PCB hole Dia(PCB &1z ): ®1.6-1.7mm

PCB hole Dia(PCB EfZ): ®1.6-1.7mm

PCB hole Dia(PCB Ef% ): ®1.6-1.7mm

#}5 Part Number

#15 Part Number

£}= Part Number

g
!
g . [L=A+7.08) (L=5.08XP/2+10.16)
Lo ng i Lo
» . A=5.08X(P/2-1) (B=5,08XP/2+5.08)
“gf;",f?,fjﬁj 35 ) @ gf Az5.00X(P/2.]] (10.16) B=0.0XP/245.00
A 05X(P/2-1 s R g
ASSI0XIP/2-]) ™ K WL e | 200
= ? EER 2 >
— i F— = n <] &
2000 390 / aT =
1=5.08XP/2+10.16, 68 (L=5.08XP/2+1076)
(1:5 00XP/2:10 ua) LS DOXP7 1000
il
- 7
H A BE Technical data AR Technical data H A BE Technical data
Pitch ( [8]8E ): 5.00mm(5.08mm) Pitch ( [8]BE ): 5.00mm(5.08mm) Pitch ( [8]5E ): 5.00mm (5.08mm)
Approval (IA\IE ): AV Approval (IAIE ): AV Approval (IAIE ): AV
Rated voltage ( BB ): 300V 320V Rated voltage (BB/& ). 300V 320V Rated voltage (B[ ): 300V 320V
Rated current ( BB3% ): 16A 20A Rated current (B3R ):  16A 20A Rated current (B3 ): 16A 20A
PCB hole Dia(PCBE12): ®1.6-1.7mm PCB hole Dia(PCBE%): ®1.6-1.7mm PCB hole Dia(PCB Ef2): ®1.6-1.7mm
#1S Part Number #15 Part Number #15 Part Number
1R (Poles) 5 (Model) %% (Poles) 5 (Model) %% (Poles) 5 (Model)
04 TLPHDW-200V-04P(TLPHDW-300V-04P) 04 TLPHDC-200R-04P(TLPHDC-300R-04P) 04 TLPHDW-200R-04P(TLPHDW-300R-04P)
48 TLPHDW-200V-48P(TLPHDW-300V~-48P) 48 TLPHDC-200R-48P(TLPHDC-300R-48P) 48 TLPHDW-200R-48P(TLPHDW-300R-48P)

&% (Poles) #S (Model) 1R%% (Poles) #15 (Model) %% (Poles) #15 (Model)
04 TLPHD-203R-04P(TLPHD-303R-04P) 04 TLPHDC-203R-04P(TLPHDC-303R-04P) 04 TLPHDW-203R-04P(TLPHDW-303R-04P)
48 TLPHD-203R-48P(TLPHD-303R-48P) 48 TLPHDC-203R-48P(TLPHDC-303R-48P) 48 TLPHDW-203R-48P(TLPHDW-303R-48P)

TLPHD-203V(TLPHD-303V)

235
1237

1500
(1524

DEL

AS00X(P/2-1)
(5.08X(P/2-1))
250 L=A+5.00
{254) [A+5.08)

TLPHDC-203V(TLPHDC-303V)

L=AeT00 250
ThT08) 254)
A5 00XIP/2-1)
T5.08X(P/2-1)

2210 39

(237)

o ]

o

TLPHDW-203V(TLPHDW-303V)

-

L1500 250
(A+15.26) (254)
000
TA0.16]
AS00X0P/2-1
5 0EXP/2-1) ‘

210 390

i

500

(237]

i
i
0

s S

i ;}:5:'1 T e & \P
AR Technical data KA YR Technical data AR Technical data
Pitch ( [&]EE ): 5.00mm (5.08mm) Pitch ( [a]%E ): 5.00mm (5.08mm) Pitch ( [E]EE ): 5.00mm(5.08mm)
Approval (IAIE ): Al Approval (A ): AV Approval (IAIE ): Al
Rated voltage (EBJE): 300V 320V Rated voltage ( B8/ ): 300V 320V Rated voltage ( EBJE ): 300V 320V
Rated current ( B8 ): 16A 20A Rated current (E83% ):  16A 20A Rated current (83 ):  16A 20A

PCB hole Dia(PCB &f& ): ®1.6-1.7mm

PCB hole Dia(PCB & ): ®1.6-1.7mm

PCB hole Dia(PCB &% ): ®1.6-1.7mm

#1S Part Number

#S Part Number

#1S Part Number

¥ (Poles) S (Model) &% (Poles) S (Model) B3 (Poles) S (Model)
04 TLPHD-203V-04P(TLPHD-303V-04P) 04 TLPHDC-203V-04P(TLPHDC-303V-04P) 04 TLPHDW-203V-04P(TLPHDW-303V-04P)
48 TLPHD-203V-48P(TLPHD-303V-48P) 48 TLPHDC-203V-48P(TLPHDC-303V-48P) 48 TLPHDW-203V-48P(TLPHDW-303V-48P)

36 www.tielee.com ‘%E:

? www.tielee.com 37



TLPH SERIES - Header(Male) for Pluggable Terminal Block T M A CE & & @ & TLPH SERIES - Header(Male) for Pluggable Terminal Block Eorions Liveioets M NCEH G @

TLPHC-001V(TLPHC-100V) HT TLPHL-001V(TLPHL-100V) HT TLPHW-001V(TLPHW-100V) HT TLPH-200V(TLPH-300V) HT TLPHC-200V(TLPHC-300V) HT TLPHW-200V(TLPHW-300V) HT

350 9140 690 _350 435

"'.T'ji' SR 1 55 70 1381 2140 757 A )
:‘Gj:‘c::{gﬂf o el 14s U B 3 ISR
s BB TS 1 ‘ JELENIPY &0 0 §I N : 1 NN Hé 020 40—
s 350 < ) ~ Lo00p 250 | [500| e16:17 e 330|500 ete-17 Pl ‘
235 EI 2 re A Crnp 750 i [=A+668 33508 750_|500] 500
L=A+4.30 1=A+1380 L 250 5 Ltizg% 762 525500 o 508
A+ L=A+14.00 e . A =5.00<(P-
L=A10 | 1.00 700 7 EEI ) A5 08x(P-1)
= ‘ T ‘ ‘ ‘ ‘ f ‘ ‘ L=A+15.00
H o [ TV oo 1 T T 45
NIE 5 NN I T’ | o |
= & o o = Looag0g rog1ss <
| i ™z irailindivin [l 7 G G d Dol 1IN, 2
z =t a 2 U1 Ll Gyl G G
13 ™ sgg %M 0080 | 3.00 _,2_8%_4 _lilotoo 200 _ L0100 25 UJ UJJ oo
A=350(P-1 38 350p-1 A=350P-1 A5.00x(P-1) >R 0p-1 A=5 00<(P-1] 2o
A=3.8%(P-1] A=3.8m(P-1) A=38(P-1) A=5.08«(P-1] A<5.08x[P-1] A=5.08x(P-1) 170
AR Technical data AR Technical data HABE Technical data HAEIRE Technical data H A BE Technical data HABE Technical data
Pitch ( [8]EE ): 3.50mm(3.81mm) Pitch ( [8]BE ): 3.50mm(3.81mm) Pitch ( [E]EE ): 3.50mm(3.81mm) Pitch ( [a]EE ): 5.00mm(5.08mm) Pitch ( [E]RE ): 5.00mm(5.08mm) Pitch ( [E]EE ): 5.00mm(5.08mm)
Approval (TAIE ): A Approval (IAIE ): s VDE(Applying) Approval (INIE ): s Approval (TAIE ): A Approval (TAIE ): s Approval (IAIE ): s
Rated voltage (BB/&): 300V 320V Rated voltage (EBJE ): 300V 320V Rated voltage (B[% ): 300V 320V Rated voltage (EB[E): 300V 630V Rated voltage (BB [&): 300V 630V Rated voltage (8% ): 300V 630V
Rated current ( 3% ): 13A 10A Rated current (3% ):  13A 10A Rated current ( B83% ): 13A 10A Rated current ( 3% ): 16A 20A Rated current (B3 ): 16A 20A Rated current ( B3% ): 16A 20A
PCB hole Dia(PCB Ef2): ®1.4mm PCB hole Dia(PCBEZ): ®1.4mm PCB hole Dia(PCB &1 ): ®1.4mm PCB hole Dia(PCB EfZ): ®1.6-®1.7mm PCB hole Dia(PCB EfZ): ®1.6-®1.7mm PCB hole Dia(PCB EfZ): ®1.6-®1.7mm
#15 Part Number #5 Part Number #5 Part Number #15 Part Number #15 Part Number #5 Part Number
&% (Poles) #15 (Model) &% (Poles) A5 (Model) k% (Poles) #5 (Model) &% (Poles) #15 (Model) 1R%% (Poles) A5 (Model) 1R% (Poles) #5 (Model)
02 TLPHC-001V(TLPHC-100V)-02P-HT 02 TLPHL-001V(TLPHL-100V)-02P-HT 02 TLPHW-001V(TLPHW-100V)-02P-HT 02 TLPH-200V(TLPH-300V)-02P-HT 02 TLPHC-200V(TLPHC-300V)-02P-HT 02 TLPHW-200V(TLPHW-300V)-02P-HT
24 TLPHC-001V(TLPHC-100V)-24P-HT 24 TLPHL-001V(TLPHL-100V)-24P-HT 24 TLPHW-001V(TLPHW-100V)-24P-HT 24 TLPH-200V(TLPH-300V)-24P-HT 24 TLPHC-200V(TLPHC-300V)-24P-HT 24 TLPHW-200V(TLPHW-300V)-24P-HT
TLPHC-001R(TLPHC-100R) HT TLPHL-001R(TLPHL-100R) HT TLPHW-001R(TLPHW-100R) HT TLPH-200R(TLPH-300R) HT TLPHC-200R(TLPHC-300R) HT TLPHW-200R(TLPHW-300R) HT
L=5.004P L=A+6.60 L=A15.00
B MT A spp L0 1200 33| sog, LeA668 1524 .
LA 00 17556 A - r % 5 o5 s EEN T ] %
§[ B30 91407, S L=A+4.30 q B! = ] = LU LU '
381 i T=A+LT0 = = - _ 5001500 o100
0080 UJ Lu = 9
: sl dosrd st L AR RS
250 . L50 7 A=381{P-1] A<5.00x(P-1) A=5.08x(P-1) A=5.00x(P-1)
A=350x0P-1 LA+L90 690 350 A=5.08P-1] T a5l | S0 ge 2 3
A=38T(P-1) L=A+5.00 00T T 38 2140 T 162 [5.08] I
245 A=350x(P 1)" | = AF & q) $H b ‘ pra
250 A=38x(P-1) E =0~ 0o —m A B0 {500) g i S = & N AN
py: .y r AR ol I P Lsoo |\ o16-017 /1 ISIS 334 508 - LS < A=5.00x(P-1 T2 S
o | ks I I s S i = gl =
s, W 8|S EE] — iT 't {o) | = 508 ! \o24y ASOBP-TT] ~
381 i A=3.50x(P-1) L=A+13.80 L=5.00xP L=A+6 60 L=A+15.00
A38TP-1) A [=5.084P L=A+6.68 [=A+5.26
A IR Technical data A YIE Technical data KA YR Technical data AR Technical data KA EE Technical data AR Technical data
Pitch ( [a1EE ): 3.50mm(3.81mm) Pitch ( [81EE ): 3.50mm(3.81mm) Pitch ( [a]#E ): 3.50mm(3.81mm) Pitch ( [a1EE ): 5.00mm(5.08mm) Pitch ( [a]E ): 5.00mm(5.08mm) Pitch ( [a]#E ): 5.00mm(5.08mm)
Approval ( TAIE ): A Approval ( TAIE ): A \TS VDE(Applying) Approval ( TAIE ): s Approval ( TAIE ): AN Approval (IAIE ): A \Te Approval ( TAIE ): s
Rated voltage (EBJE): 300V 320V Rated voltage (EBJE ): 300V 320V Rated voltage (BB/E ): 300V 320V Rated voltage (EBJE): 300V 630V Rated voltage (B8/£): 300V 630V Rated voltage (B/E): 300V 630V
Rated current (B85 ):  13A 10A Rated current (83 ):  13A 10A Rated current (B3 ):  13A 10A Rated current (83 ):  16A 20A Rated current (B83% ):  16A 20A Rated current (B83% ):  16A 20A
PCB hole Dia(PCB EfZ): ®1.4mm PCB hole Dia(PCBE#Z): ®1.4mm PCB hole Dia(PCB &1 ): ®1.4mm PCB hole Dia(PCB EfZ): ®1.6-®1.7mm PCB hole Dia(PCB EfZ): ®1.6-®1.7mm PCB hole Dia(PCB EfZ ): ®1.6-®1.7mm
#1S Part Number #1S Part Number #1S Part Number #1S Part Number #1S Part Number #1S Part Number
1R%x (Poles) #-S (Model) 1REL (Poles) S (Model) tR%L (Poles) S (Model) 1R%% (Poles) S (Model) %% (Poles) S (Model) tR# (Poles) S (Model)
02 TLPHC-001R(TLPHC-100R)-02P-HT 02 TLPHL-001R(TLPHL-100R)-02P-HT 02 TLPHW-001R(TLPHW-100R)-02P-HT 02 TLPH-200R(TLPH-300R)-02P-HT 02 TLPHC-200R(TLPHC-300R)-02P-HT 02 TLPHW-200R(TLPHW-300R)-02P-HT
24 TLPHC-001R(TLPHC-100R)-24P-HT 24 TLPHL-001R(TLPHL-100R)-24P-HT 24 TLPHW-001R(TLPHW-100R)-24P-HT 24 TLPH-200R(TLPH-300R)-24P-HT 24 TLPHC-200R(TLPHC-300R)-24P-HT 24 TLPHW-200R(TLPHW-300R)-24P-HT

38 www.tielee.com % f;‘-‘ www.tielee.com 39



TLPH SERIES - Header(Male) for Pluggable Terminal Block

1509001 15045001

18014001 IATF16949 L‘“‘Us N c € @ @

TLPH SERIES - Header(Male) for Pluggable Terminal Block

1509001 15045001

18014001 IATF16949 c“xus “ c € @ @

TLPHC-313V HT

TLPHW-313V HT

TLPHC-313R HT

TLPHDL-020V HT

8140

A\
¢ oo
$oo a0
U

1050

2.56] 366,

G &
@
Jost]

3.55, 254xIP/2-1)

256x(P/2-1)+11

0

254x(P/2-1)+710

TLPHDC-020R

HT

254xIP/2-1)+4 50
254x(P/2-1)
254

2
{

& A& -4

S o
\Z\ o4/

1040

14.20

256x(P/2-1)+4.50

16.20

TLPHDW-020R

HT

254x(P/2-1)+10.10

505 254x(P/2-1) 330

254

2
}

Far e

10.40

.20

14.20

3140, 5.08 P40 308, 2240 L=5.08xP 9.20
g b Li 1 |BY ol
SINERIAENS M’%?{gﬁﬂ:i 450 e =
A=5.08x(P-1) = E 705 A |45 g? 3 s { = o
L ~ T T = L - ™ =
olelsiieliso T 2
(125 1% A 254 08 0080 800
700 5.08 70 A=5.08x(P-1)
) oo _ 5 A5.08<P-1)
§ | S | | | |
ﬂ H H 53] P—OTY
508 ? =S
= U | Ao |SS
o M M Q080 105 | 5.08] < i
A=5.08x(P-1) 254 A5 08x(P-1) i L=5.08+P
AR Technical data F AR Technical data A ¥IE Technical data
Pitch ( [B18E ): 5.08mm Pitch ( [8]8E ): 5.08mm Pitch ( &)3E ): 5.08mm
Approval (IAIE ): AV Approval (TAIE ): Al Approval (INIE ): AV
Rated voltage (B8 JE): 300V 630V Rated voltage (BB/&): 300V 630V Rated voltage (B[% ): 300V 630V
Rated current ( 3% ): 13A 13A Rated current ( 3% ): 13A 13A Rated current ( B83% ): 13A 13A
PCB hole Dia(PCB E1Z): ®1.4mm PCB hole Dia(PCB E1Z ): ®1.4mm PCB hole Dia(PCB B {Z): ®1.4mm
#5 Part Number #15 Part Number #5 Part Number
&% (Poles) #5 (Model) &%t (Poles) #15 (Model) %% (Poles) #5 (Model)
02 TLPHC-313V-02P-HT 02 TLPHW-313V-02P-HT 02 TLPHC-313R-02P-HT
24 TLPHC-313V-24P-HT 24 TLPHW-313V-24P-HT 24 TLPHC-313R-24P-HT

i =
ﬂ @ & Do [II) JHL 0080
254 oo [l ! I— 254 870

355 | 254xIP/2-1) ZSL! 366 140 254 5.05 ‘ 254x(P/2-1) I 330 10.40 2.54]
A ¥4} Technical data A B4R Technical data AR Technical data
Pitch ( 8]EE ): 2.54mm Pitch ( [a]EE ): 2.54mm Pitch ( J81EE ): 2.54mm
Approval (IAIE ): UL(Applying) VDE(Applying) Approval (TAIE ): UL(Applying) VDE(Applying) Approval (IAIE ): UL(Applying) VDE(Applying)
Rated voltage ( EJE ): 150V 160V Rated voltage ( BJE ): 150V 160V Rated voltage ( BBJE ): 150V 160V
Rated current ( B57% ): 5A 6A Rated current ( B3 ): 5A 6A Rated current ( 3% ): 5A 6A
PCB hole Dia(PCB E1¥): ®1.40mm PCB hole Dia(PCB Hf2): ®1.40mm PCB hole Dia(PCB &1%): ®1.40mm
#1S Part Number #15 Part Number #1S Part Number
#R#x (Poles) S (Model) %% (Poles) #-S (Model) 1R#x (Poles) S (Model)
04 TLPHDL-020V-04P-HT 04 TLPHDC-020R-04P-HT 04 TLPHDW-020R-04P-HT
48 TLPHDL-020V-48P-HT 48 TLPHDC-020R-48P-HT 48 TLPHDW-020R-48P-HT

TLPHW-313R HT

A5.08+0P)
; 105|508
L B
fots e C’ti: .
i Y o
LA L1 )
Q o
% ©
L50] 508 0080
105 | A-5.08xP-1)

TLPHDC-020V

HT

8140

\\\\

1050

© & Db

254 366

\ i

&b oo

254

25 | 254xP/2-1)

254x(P/2-1]+

450

254x(P/2-1)+4.50

)

=

/

[l
2.54]
20 | 256x(P/2-1)

1050

1620

1
¥
DMJE*EL 366,

260

TLPHDW-020V HT

8180 @140
ple

Pany

1050

T
é%%a@&&ﬁi
{}{B{B{%@h AW;sz.

2.54) 366

il

330 254xIP/2-1 505

256x(P

/2-1)+10.10

254x(P/2-1)+10.10 1050

o190
330 | 254x(P/2-1)

[

8]
14.20

260

ous ||

g
E

TLPHDL-020R H

T

256x(P/1-1)+1.10

TLPHDC-007V HT

TLPHDL-007V HT

# A ¥4} Technical data

2
A ¥4 Technical data

A YR Technical data

Pitch ( [81EE ): 5.08mm Pitch ( [a1EE ): 2.54mm Pitch ( [a1EE ): 2.54mm

Approval (iAIE ): Al Approval (IAIE ): UL(Applying) VDE(Applying) Approval (TAIE ): UL(Applying) VDE(Applying)
Rated voltage (EBJE): 300V 630V Rated voltage (% ): 150V 320V Rated voltage (% ): 150V 320V

Rated current (B85 ):  13A 13A Rated current ( 83 ): 5A 6A Rated current ( B8 ): 5A 6A

PCB hole Dia(PCB EfZ): ®1.4mm PCB hole Dia(PCB &% ): ®1.40mm PCB hole Dia(PCB &Ef% ): ®1.40mm

#1S Part Number #1S Part Number #1S Part Number

1R%L (Poles) S (Model) %% (Poles) S (Model) 1R%% (Poles) S (Model)

02 TLPHW-313R-02P-HT 04 TLPHDC-020V-04P-HT 04 TLPHDW-020V-04P-HT

24 TLPHW-313R-24P-HT 48 TLPHDC-020V-48P-HT 48 TLPHDW-020V-48P-HT

—
254x(P/2-1)
‘ 254 - S ”éf} + - / 1
$IGT0 g | e | g S < %& ‘”4”
OIS Ve TSR J S 140] 1\ g
< 7,/61:1&0 g /j %ﬁ? = =] LE LA g},H‘B L o L
2 \\ 245 350 “ps s /i =
A A=350x(P/2-1 34 350
256x(P/2-11+710 14.20 A A=3.50x(P/2-1,
" L=A+£.90 L=A+b b !
= AR s
2 it 2 /
i - i
T I ]
1040 254 S “‘u*uu vy UL"DW
# A ¥4 Technical data R ¥R Technical data K HI] Technical data
Pitch ( a1EE ): 2.54mm Pitch ( [a]E ): 3.50mm Pitch ( [a]EE ): 3.50mm
Approval (TAIE ): UL(Applying) VDE(Applying) Approval ( IAIE ): A Approval (TAIE ): A\
Rated voltage ()% ): 150V 160V Rated voltage (EB[&): 300V 160V Rated voltage (BB [% ): 300V 160V
Rated current ( B3 ): 5A 6A Rated current (B83% ):  8A 10A Rated current ( 3% ): 8A 10A
PCB hole Dia(PCB EfZ ): ®1.40mm PCB hole Dia(PCB&E7%): ®1.4mm PCB hole Dia(PCB &f%): ®1.4mm
#1S Part Number #1S Part Number #1S Part Number
1R#x (Poles) S (Model) %% (Poles) S (Model) %% (Poles) S (Model)
04 TLPHDL-020R-04P-HT 04 TLPHDC-007V-04P-HT 04 TLPHDL-007V-04P-HT
48 TLPHDL-020R-48P-HT 48 TLPHDC-007V-48P-HT 48 TLPHDL-007V-48P-HT

40 www.tielee.com %

f;‘-‘ www.tielee.com 41



TLPH SERIES - Header(Male) for Pluggable Terminal Block

1509001 15045001

14001 IATF16949 l:“‘us N c € @ @

150

TLPH SERIES - Header(Male) for Pluggable Terminal Block

1509001 15045001

15014001 IATF16949

s Y C€ @ @

TLPHDC-007R

HT

>

TLPHDL-007R HT

TLPHDC-010V

HT

TLPCK-001-S

TLPCK-002-S

bl %

(38.94)

M

294

233
i

,/ ’ \\

60°Typ

(39.44)

TLPCK-003-S

160

St~ Lo

(39.34)

&R & Applicable product

&M & Applicable product

i& FA7= & Applicable product

TLPHC/W/L—-001 (TLPHC/W/L—100)

TLPS(W)— 200/300/400/500

TLPH(C/W)-200/300/400/500

245 350 w350 g 215 350
e vl R ey O <
i o=l SRS BEREE- - & o s
j:j‘ﬂr'/’r RS .- 41t s dime 8 14 j’(’ s
= #140 M ‘ = - . il 215 | 350
] L e A=3.50xP/2-1)
) — 1 L=A+4.30
= 83 1
[f]
w80 ‘ LT = | chrhch
350 930 | = 245 350 1930 | e
= = < ooso VYV
A=35x(P/2-1| S 25 =1
A ¥4R Technical data A ¥4} Technical data KA YR Technical data
Pitch ( [a]EE ): 3.50mm Pitch ( J81EE ): 3.50mm Pitch ( [a]E ): 3.50mm
Approval (AL ): A Approval (IAIE ): AV Approval (TAIE ): AV
Rated voltage (B8[& ): 300V 160V Rated voltage ( BB JE ): 300V 160V Rated voltage ( BJE ): 300V 160V
Rated current (B83% ):  8A 10A Rated current ( B83# ): 8A 10A Rated current ( 3% ): 8A 10A
PCB hole Dia(PCB &H1Z): ®1.4mm PCB hole Dia(PCB &1% ): ®1.4mm PCB hole Dia(PCB HfZ): ®1.4mm
#5 Part Number #15 Part Number #15 Part Number
%% (Poles) 15 (Model) #RE (Poles) £S5 (Model) %% (Poles) #-S (Model)
04 TLPHDC-007R-04P-HT 04 TLPHDL-007R-04P-HT 04 TLPHDC-010V-04P-HT
48 TLPHDC-007R-48P-HT 48 TLPHDL-007R-48P-HT 48 TLPHDC-010V-48P-HT

TLPHDW-010V HT

10.60

10.60

255

| 1000

260 |

TLPHDC-010R HT

IR
1350
A= ESOX(P/Z‘H

215

5.50 2.55

?
@
=598
¢
800 | []250

1160

TLPHDW-010R HT

J

+ 11
=21
S
<4
8.00_|
11.60

=
B
=

/L

L=A+10.50

&

5.2

A=3.50x(P/2-1)
oo

250

AR IR Technical data

AR Technical data

KA YR Technical data

TLPHC/W~-004 (TLPHC/W—104) TLPS(W)-2 TLPHDC/W-200
TLPHDC/W-005 (TLPHC/W-105) TLPS(W)— 214 TLPH-201
TLPHDC/W/L-007 TLPS(W)-215/301 TLPHD(C/W)—203/303
TLPHDC/W~-008 (TLPHDC/W~-108) TLPS(W)-305 TLPHS(W/WA)-304
TLPHS-100 TLPS(W)-201/302 TLPHW-306
TLPHS (W/WA)-112 TLPS(W)-308
TLPHC/W-313 TLPS(W)-309

TLPS(W)-312

TLPS(W)-502

TLPCK-004-S TLPCK-006-S

visual angle. ' —

&M ™= & Applicable product

&M 7 & Applicable product

TLPS(W)-501

TLPSD(W/L)-010

TLPHC(W)-501

TLPHDC(W)-010

TLPS(W)-516

TLPHC(W)-516

TLPS(W)-800

TLPHC(W)-800

Pitch ( [a]E ): 3.50mm Pitch ( [a]EE ): 3.50mm Pitch ( [a]%E ): 3.50mm

Approval (IAIE ): A Approval (TAIE ): AN Approval (TAIE ): AN

Rated voltage ( BB [% ): 300V 160V Rated voltage ( BB [% ): 300V 160V Rated voltage ( BB [% ): 300V 160V
Rated current ( 3% ): 8A 10A Rated current ( 3% ): 8A 10A Rated current ( 3% ): 8A 10A

PCB hole Dia(PCB H%): ®1.4mm PCB hole Dia(PCB E%): ®1.4mm PCB hole Dia(PCB EZ): ®1.4mm

#S Part Number S Part Number #S Part Number

#REL (Poles) S (Model) REL (Poles) A2 (Model) R (Poles) S (Model)

04 TLPHDW-010V-04P-HT 04 TLPHDC-010R-04P-HT 04 TLPHDW-010R-04P-HT
48 TLPHDW-010V-48P-HT 48 TLPHDC-010R-48P-HT 48 TLPHDW-010R-48P-HT

42 www.tielee.com %

f;‘-‘ www.tielee.com 43



TLC SERIES - Spring-cage Clamp

TLC SERIES - Spring—cage Clamp Terminal Block

1509001 15045001 @
1S014001 IATF16949

cNusNCG@@

TLCH-002V TLCH-002R TLCH-001V(TLCH-100V)
Terminal Block
""’.-” #,,..--' 1 ’
1-A+5,00 CLiELL 1=A+5.90
. 25/:0:250xrp4) 250 L=£WE”%J % AZPX}EOM;?;;; 10 10.30 380:030
el s B g bTar AT s
e g bsia e | |
I I = =] g oo e 3
g % LA i R AT
A+ [}

1=A+5.00
250 A=250x(P-1)
250 250,

b2

7.80

390

250 A=250x(P-1]
P50 .50

8.90

,@/(3 GO O € *J

8120

L=A+5.90

A=Px350(A

=Px3.81)

35068113

8.50

Y

T & ©IO &

9120 8
AR ¥1E Technical data F A LR Technical data AR ¥IE Technical data
Pitch ( [8]E ): 2.50mm Pitch ( Ja]EE ): 2.50mm Pitch ( [8]EE ): 3.50mm (3.81mm)
Approval (IAIE ): Al VDE(Applying) Approval (IAIE ): AV VDE(Applying) Approval (IAIE ): AV
Rated voltage (BB [& ): 150V 160V Rated voltage (/& ): 150V 160V Rated voltage (B8 [& ): 300V 160V
Rated current (B85 ) 4A 6A Rated current (83t ) 4A 6A Rated current (B85 ):  12A 10A
PCB hole Dia(PCB &{2): ®1.2mm PCB hole Dia(PCB {2 ): ®1.2mm PCB hole Dia(PCB &Ef2): ®1.6mm
#15 Part Number #l5 Part Number #15 Part Number
&% (Poles) A5 (Model) &% (Poles) A5 (Model) &% (Poles) EJS (Model)
02 TLCH-002V-02P 02 TLCH-002R-02P 02 TLCH-001V-02P(TLCH-100V-02P)
24 TLCH-002V-24P 24 TLCH-002R-24P 24 TLCH-001V-24P(TLCH-100V-24P)
TLCH-001R(TLCH-100R) TLCH-200V(TLCH-300V) TLCH-200VA
L. ‘_-a- . L . # )
L -
- | .
-
L:Ao[i 90 ; L=5.0XP+3.2 (L=5.08xP+3.2)) L=5.0XP+3.2
AP3SUAPA3 81 - -
1030 A=5.0x(P-1) (A=5.08xP-1) Az5.0xP-1)
3503801310 W( ‘ “_00‘ [ 5o,
[500] o
Vigipsinlesies g : = T e .
! = i S g g E i -
How to order UJ 1 z
0100 o Lﬂ L=5.0XP+3.2 (1=5.084P+32)
TLeHPO -0 000-0000-00P0-0 ErrTer i S0Pk S0P b
350380310 J{ 500 .08 J( 500 }» }
M= = o o W\ 9160 —FH -t F1E i e
Color: M=Gray, A=Orange EI 9 /) A A et jaj:(ea Rk g L QJ“LEB o7
5=Double pitch, None=Standard pitch S miiaa v . (R ]
Poles AR Technical data # A ¥4} Technical data A IR Technical data
Special code Pitch ( [a1EE ): 3.50mm (3.81mm) Pitch ( 8 ): 5.00mm(5.08mm) Pitch ( [a1EE ): 5.00mm
° ° . A . . A Approval ( I\ ): oAl Approval (AIE ): oAl Approval (IAIE ): Al
V=180°, R=90°(A=against mismatch, F=with snap—in mounting feet) Rated voltage ( BB/E ): 300V 160V Rated voltage ( B2/ ): 300V 320V Rated voltage ( B ). 300V 320V
Series number Rated current (B85 ). 12A 10A Rated current (83 ):  16A 16A Rated current ( 3% ): 16A 16A
Pitch: 0=2.50 or 3.50, 2=5.0, 3=5.08, 4=7.5, 5=7.62 PCB hole Dia(PCB EfZ): ®1.6mm PCB hole Dia(PCB EfZ):  ®1.6mm PCB hole Dia(PCB Ef% ): 1.6
M=With fixing hole, W=with flange, L=with locking levers ¥1= Part Number EI= Part Number %= Part Number
H=male headers, P=famale plugs %% (Poles) A5 (Model) &% (Poles) ES (Model) &% (Poles) ES (Model)
02 TLCH-001R-02P(TLCH-100R-02P) 02 TLCH-200V-02P(TLCH-300V-02P) 02 TLCH-200VA-02P
24 TLCH-001R-24P(TLCH-100R-24P) 24 TLCH-200V-24P(TLCH-300V-24P) 24 TLCH-200VA-24P

44 www.tielee.com {: ? www.tielee.com 45



TLC SERIES - Spring—cage Clamp Terminal Block o SR M N CE A & @ & TLC SERIES - Spring—cage Clamp Terminal Block Heoron Kapeieats AN €A & @

TLCHM-200V(TLCHM-300V) TLCHM-200VA TLCH-200R(TLCH-300R) TLCH-400V(TLCH-500V) TLCH-400VA TLCHM-400V(TLCHM-500V)
‘-al‘" > - ——— -
- " ! “ ) <«
" - I.‘-.-‘ i [} % ¥
TE_aw i 3 i Ve v ¥ T b aand
1200
L5 0XP+32L-506P+32) L L=50p-32 450 ‘ 77jj’j
51) 150 S 0ep- < = )
N 0 T 1Y L T ”fo V‘LMT A { ﬂ. el wJE NI LEISXP-0 [L:7624P40.7) AL,’J;OXTP*OJ wo 5w 510 LT5XP0TL=1624P401) 150
Y a‘”o‘« : g [ q i T ATS0P] (A7 624P-1) — | s T A 2 pereneon t o0 3
e - T 50015 061 (oo g ] * ‘ S e I N ! Tl s ™ 0 10
5[ éb ﬁm’ﬁﬁ = A=5.00(P-1){A<5.08x(P-1) Ay ey e St e I B e B( 3 S e < EL e = & JEEEE TS
g ’ e | L5 0XP 43 205,080, 32) I ; ;m N =0 ;‘%}» L L I I f[
L=5.0XP+3.2 [L=5.08xP+3.2)) L=5.0XP+3.7 (L=5.08xP+32)) | ;
~LB0XP:32 (L5083 5,0XP+3.2._ (506
5.00KP-1) =508 1) s A5 00u[P-1 A-5.084P) i LG AT P T ‘ L75P.07 ‘ L15X.01 L1600 1)
b ' 20 {500 LRI, k) U AZ150P-1) . 7T I
TJ(”%E"U\?’"L %‘ ——i‘—m‘i I J N T@*feéfé—wéfij—{ 7}>777 as el | N ‘m—x‘ = L 150 [762) =
pl® © O1e O&EF Wie o ere er=3 9 w " T R N T (R - 1 S T
777777 N A e | N I = Y LR : s I Il ‘ < g o b — 3
: . Lo o rF s ° 0 B wi® ° FjY T E w7 T Ao
H A B#E Technical data H A BE Technical data HABE Technical data HAEIRE Technical data AR Technical data A IR Technical data
Pitch ( [8]8E ): 5.00mm(5.08mm) Pitch ( [8]8E ): 5.00mm Pitch ( [E]EE ): 5.00mm(5.08mm) Pitch ( [B)3E ): 7.50mm (7.62mm) Pitch ( [B]3E ): 7.50mm Pitch ( [8]8E ): 7.50mm (7.62mm)
Approval (IAIE ): A Approval (IAIE ): A Approval (TAIE ): A Approval (TAIE ): A Approval (TAIE ): AV Approval (TAIE ): AV
Rated voltage (B8 ): 300V 320V Rated voltage (B[£ ): 300V 320V Rated voltage (8% ): 300V 320V Rated voltage (BB/E ): 300V 630V Rated voltage (BB[E ): 300V 630V Rated voltage (EBJE ): 300V 630V
Rated current (B3R ):  16A 16A Rated current ( B3 ): 16A 16A Rated current ( B3} ): 16A 16A Rated current ( B85} ): 16A 16A Rated current ( B33% ): 16A 16A Rated current (EB3% ):  16A 16A
PCB hole Dia(PCB Ef2): ®1.6 PCB hole Dia(PCB Ef2): ®1.6 PCB hole Dia(PCB Ef2): ®1.6 PCB hole Dia(PCB Ef2): ®1.6 PCB hole Dia(PCB Ef2): ®1.6 PCB hole Dia(PCB B2 ): ®1.6
#S Part Number #S Part Number #1S Part Number #1S Part Number #1S Part Number 15 Part Number
1R (Poles) 5 (Model) 1R (Poles) 5 (Model) R (Poles) 5 (Model) #R#x (Poles) 5 (Model) #R#x (Poles) 15 (Model) 1R#x (Poles) 1S (Model)
02 TLCHM-200V-02P(TLCHM-300V-02P) 02 TLCHM-200VA-02P 02 TLCH-200R-02P(TLCH-300R-02P) 02 TLCH-400V-02P(TLCH-500V-02P) 02 TLCH-400VA-02P 02 TLCHM-400V-02P(TLCHM-500V-02P)
24 TLCHM-200V-24P (TLCHM-300V-24P) 24 TLCHM-200VA-24P 24 TLCH-200R-24P(TLCH-300R-24P) 12 TLCH-400V-12P{TLCH-500V~12P) 12 TLCH-400VA-12P 12 TLCHM-400V-12P(TLCHM-500V~12P)
TLCH-200RA TLCHM-200R(TLCHM-300R) TLCHW-300V TLCHM-400VA TLCH-400R(TLCH-500R) TLCH-400RA

12,00 1200 1200
Y —_— 390 L=5.08XP+3.2 370 510 L=1.5XP+0.7 450
o e 1 & < ¢_r‘lj = “ A 0EP-1 0 A-150P-) 0 Yo et e 2 =
SULAHL R Sy — ! 17 { 0 T RN e e = = °| ! =
T = T = i i i =8 =
] 240 | 2 ~ = l I I =
:‘ I L%J i e 1500 .06 w5 m é s fJ ! LfJ 150 U(m, T
m pa00 4500 o5 0dp- A5 0xtp-1) | N = A0 (A=T 624 P-1) w0 | f o Ll
f 25 0P 1A=3.0x(P-1){A=3,08x P-1) | A=T50x(P-1) w L
L 0XPei2 150XP+3.20=5,08:+32) 0 L=75XP+0.7 (L762xP+0.1) 1507
L=5.0XP+32.(1=508xP-32)] LET5XPA0T I LT5XP+0.7 (L7601 L15%P401
A:So[(]]);rpi ]2 ‘ - ™ n5 00T oS 0xP-1) A=5.084(P-1 A<1504P-1 c‘ A=150xP-1) (A=T624(P-1) A=150x(P-1) <
500 ~ 500 (508) ! J(,,Fsroﬁ:‘ T 10 - 1500762) E\ L 750 Nl
R | It s [ Sl et K [t o i o iE $ o Ul - ———gfi ——— F- ———gfl P
AL o oo e+ ALS & oo o WO & ere eTTF o L S $ s == ¢ ¢ o N & | ¢ ——
24 W ! =T i = o g w ©F it o J i I N sl ] A
R N S I I J I | j
A4 Technical data A $4] Technical data A %47 Technical data A $4R Technical data R %47 Technical data A H4E Technical data
Pitch ( [8]EE ): 5.00mm Pitch ( j&)8E ): 5.00mm(5.08mm) Pitch ( [E]8E ): 5.08mm Pitch ( (818 ): 7.50mm Pitch ( [8)BE ): 7.50mm (7.62mm) Pitch ( [818E ): 7.50mm
Approval (IAIE ): A \e Approval (AL ): A Approval ( IAIE ): A Approval ( TAIE ): A Approval ( TAIE ): s Approval ( IAIE ): AN
Rated voltage ( BB [% ): 300V 320V Rated voltage (EB[&): 300V 320V Rated voltage ( B JE ): 300V 320V Rated voltage ( % ): 300V 630V Rated voltage ( BBJE ): 300V 630V Rated voltage ( B JE ): 300V 630V
Rated current ( B3 ): 16A 16A Rated current (3% ):  16A 16A Rated current ( 3% ): 16A 16A Rated current ( 3% ): 16A 16A Rated current ( B35 ): 16A 16A Rated current ( B35 ): 16A 16A
PCBhole Dia(PCB Ef£): ®1.6 PCB hole Dia(PCB Ef2): ®1.6 PCB hole Dia(PCB B2 ): ®1.6 PCB hole Dia(PCB B2 ): ®1.6 PCB hole Dia(PCB B2 ): ®1.6 PCB hole Dia(PCB Ef2): ®1.6
#1S Part Number #5 Part Number #1S Part Number #5 Part Number #5 Part Number #S Part Number
1R% (Poles) A5 (Model) %% (Poles) #IS (Model) #R%x (Poles) £S5 (Model) %% (Poles) #S (Model) 1R%% (Poles) 5 (Model) #R%x (Poles) 5 (Model)
02 TLCH-200RA-02P 02 TLCHM-200R-02P(TLCHM-300R-02P) 02 TLCHM-300V-02P 02 TLCHM-400VA-02P 02 TLCH-400R-02P(TLCH-500R-02P) 02 TLCH-400RA-02P
24 TLCH-200RA-24P 24 TLCHM-200R-24P(TLCHM-300R-24P) 24 TLCHM-300V-24P 12 TLCHM400VA-12P 12 TLCH-400R-12P(TLCH-500R-12P) 12 TLCH-400RA-12P

46 www.tielee.com {: ? www.tielee.com 47



TLC SERIES - Spring—cage Clamp Terminal Block

1509001 15045001

15014001 IATF16949 L‘“‘US N c € @ @ CEC

TLC SERIES - Spring—cage Clamp Terminal Block

1509001 15045001
15014001 IATF16949

© M CEEE® @

TLCHM-400R(TLCHM-500R)

§ L
: $?[ < «ﬁﬁ%
. -l =) § g -
il , oo H
L) Ry
430 A=T504P-1) (A=T.624P-1) |21 20|
L=T5XP+0.7 [L=762xP+0.7))

L=T5XP+0.1 (L=T62xP+0.7))

A=150x(P-1) (A=7.62x(P-1))

‘750 (1.62) -~
o ‘/@ | 4 ef‘j
| |
I I
[ | ]

TLCP-002

Bom ww

n %

A=Px2.50
2.50)

17.10

[
=
M
="
=
=
1140

TLCP-001(TLCP-100)

5 .
i " ¥ L
Ly @
L[ 0O
©eE
B E ‘E [=]1=]
A-PSOA-P38I)
350381
s flo o M ]
g ]
g5 glyanig
[ A
1340 LY
L4220

TLCP-200F(TLCP-300F)

L=A+65

M\ e T w
MBRLRARER
SIS

= e s =

2650

TLCP-200FA

_--"'—'

P ¥ —
---'-

-'I-‘a‘%’l'-"

L=A+6.5
A=5.0X(P-1) 280

@
NZ
A

®
77\
NZ
N
&

=
N/

@

ITEINZE By

2650

=5 ol

=
=
=

18.00

980

TLCPM-200(TLCPM-300)

= ol
=

(eler
=)
lﬁ:ﬂﬂ i
(508)]5:00 | HZﬂ_ 1 1450
A5.OX(P-1)

{A=5.08x(P-1]]
1=A+80
L1=1+58

L2:L+118

H A BE Technical data

# AR ¥ #7E Technical data

AR Technical data

HABE Technical data

AR Technical data

AR Technical data

Pitch ( [E)8E ): 5.00mm (5.08mm) Pitch ( [B18E ): 5.00mm Pitch ( [818E ): 5.00mm (5.08mm)
Approval ( INIE ): s Approval ( TAIE ): Al Approval ( INIE ): s
Rated voltage (/& ): 300V 320V Rated voltage (B8 & ): 300V 320V Rated voltage (B8/& ): 300V 320V
Rated current (EB3% ):  16A 16A Rated current ( 3% ): 16A 16A Rated current ( B3 ): 16A 16A
Wire range ( 1% ): 12-28AWG 0.2-2.5mm’ Wire range ( %1% ): 12-28AWG 0.2-2.5mm’ Wire range ( %% ): 12-28AWG 0.2-2.5mm?
#5 Part Number #1S Part Number #15 Part Number
&% (Poles) #US (Model) R (Poles) A5 (Model) &% (Poles) £S5 (Model)
02 TLCP-200F-02P(TLCP-300F-02P) 02 TLCP-200FA-02P 02 TLCPM-200-02P(TLCPM-300-02P)
24 TLCP-200F-24P(TLCP-300F-24P) 24 TLCP-200FA-24P 24 TLCPM-200-24P(TLCPM-300-24P)
TLCPM-200A TLCPL-200(TLCPL-300) TLCPL-200A
s
w
.=
- -
i' Nﬂﬂﬁ,
W =
# i " '
L=A+8.0 L=A+65
A=S.0X[P-1) A5.0X[P-1) 2480
‘ ™ A5 OHxllP—ﬂ) _ ‘ 280 ﬂ— =~ _5_00_
‘ T S0 508 TR
‘ - PRpR oo
- iii PEP@D@ = 4 T
_[ooiajaja il (R g
] . S5
{ U |
s I :
s |z | [ LL f L] D;L L
A5 0K(P-1 [ei[e (s ][e]®] ajaaaijanQl
L=A80
L4458 Olomm 00|
LL 118
850 850

A EIE Technical data

A YR Technical data

A HHE Technical data

Pitch ( [B]8E ): 7.50mm (7.62mm) Pitch ( [8]8E ): 2.50mm Pitch ( [8]8E ): 3.50mm (3.81mm)
Approval (IAIE ): A Approval (TAIE ): M (Applying) Approval (IAIE ): AV
Rated voltage (B8/& ): 300V 630V Rated voltage (BB /& ): 150V Rated voltage (B8/E): 300V 160V
Rated current (3% ):  16A 16A Rated current ( B3 ): 4A Rated current ( 3% ): 12A 10A
PCB hole Dia(PCB Ef2): ®1.6 Wire range ( 412 ): 28-20AWG Wire range ( %1% ): 28-14AWG  0.2-1.5mm’
#15 Part Number #15 Part Number #15 Part Number
&K (Poles) A2 (Model) & (Poles) A2 (Model) & (Poles) 72 (Model)
02 TLCHM-400R-02P(TLCHM-500R-02P) 02 TLCP-002-02P 02 TLCP-001-02P(TLCP-100-02P)
12 TLCHM-400R-12P(TLCHM-500R-12P) 24 TLCP-002-24P 24 TLCP-001-24P(TLCP-100-24P)
TLCPL-001(TLCPL-100) TLCP-200(TLCP-300) TLCP-200A
- - - - E
-~ - - - - b
= L - - i - - e - = '-
1“.‘ " K]
el WAMRRT, )
r W
l. . - [ 2 L .
[ 4 b " E E- ] L - i L
LAs65
A50XP-1) Lefcbs
SO | | 280 150 d-SUlE) 280
I‘]’— SO A j_O(LEUG] 1T 200,
o IENEN
2 OO0 CICIRIe % ©
< —— I
E ) o} ! it .
=l g
= Eii‘ E
i ] ‘
alajajaiala aaa ol 2
) (00 |0 0 Ooomoo
I
# A ¥4} Technical data AR’ Technical data #HABH]E Technical data
Pitch ( [a]%E ): 3.50mm (3.81mm) Pitch ( [a]EE ): 5.00mm (5.08mm) Pitch ( [a]%E ): 5.00mm
Approval ( INIE ): Al Approval ( INIE ): s Approval ( INIE ): Al
Rated voltage (EB[&): 300V 160V Rated voltage (EB[&): 300V 320V Rated voltage (EB[&): 300V 320V
Rated current (B3 ):  12A 10A Rated current (E83% ):  16A 16A Rated current (B3 ):  16A 16A
Wire range ( %1% ): 28-14AWG 0.2-1.5mm’ Wire range ( %412 ): 12-28AWG 0.2-2.5mm’ Wire range ( %1% ): 12-28AWG 0.2-2.5mm?
#S Part Number #S Part Number #1S Part Number
B2 (Poles) S (Model) REL (Poles) A2 (Model) R (Poles) A2 (Model)
02 TLCPL-001/100-02P 02 TLCP-200-02P(TLCP-300-02P) 02 TLCP-200A-02P
24 TLCPL-001/100-24P 24 TLCP-200-24P(TLCP-300-24P) 24 TLCP-200A-24P

Pitch ( a1EE ): 5.00mm Pitch ( a1EE ): 5.00mm (5.08mm) Pitch ( [a]EE ): 5.00mm

Approval (IAIE ): Al Approval (TAIE ): A Approval (JAIE ): Al

Rated voltage (FEJE): 300V 320V Rated voltage (FEJE ): 300V 320V Rated voltage (EB%): 300V 320V

Rated current (B85 ):  16A 16A Rated current (83 ):  16A 16A Rated current (B85 ):  16A 16A

Wire range ( 412 ): 12-28AWG 0.2-2.5mm’ Wire range ( %1% ): 12-28AWG 0.2-2.5mm* Wire range ( 413 ): 12-28AWG 0.2-2.5mm?
#1S Part Number #1S Part Number #1S Part Number

1R%x (Poles) S (Model) 1R%% (Poles) S (Model) %% (Poles) S (Model)

02 TLCPM-200A-02P 02 TLCPL-200-02P(TLCPL-300-02P) 02 TLCPL-200A-02P

24 TLCPM-200A-24P 24 TLCPL-200-24P(TLCPL-300-24P) 24 TLCPL-200A-24P

48 www.tielee.com %

f;‘-‘ www.tielee.com 49



TLC SERIES - Spring—cage Clamp Terminal Block

1809001 15045001 @
15014001 IATF16949

Al Y C€ @ @ CEC

TLC SERIES - Spring—cage Clamp Terminal Block

0ren, hetenl, Al A CE & & @ @

TLCPW-300

TLCP-400(TLCP-500)

- =

e
-

-

' L
'..‘.",#--'

TLCP-400A

TLCPM-400A

;

|
Omomo
il

380
il
=

NEN
A=75X(P-1)
L=A+8
L1=L+58

L2-L+118

TLCPL-400(TLCPL-500)

SIS
A

L=Asg
A=15X(P-)
Th=T62xP-1

8| [ (732)750 |

® @ @ ©® & g

850

TLCPL-400A

L=A+§

oooaomon

850

L
L=As65 LAs65
[N L=A+8.0 420 A=15XIP-1)
I K | BTEP | |__280 ASTSXP-1) 280
wl | ﬂ;m = " B asnas N
= — i [
: : ; @® ® @0 @®
P RRRPEE o CECEOECEC) e
& == =
‘ j_ml I QE_UE])
ililifh | il 11
minlt; MiHIEL _
|| [[oloroaoia omonopono onoaofomo
; j
AR Technical data HABE Technical data AR Technical data
Pitch ( [8]8E ): 5.08mm Pitch ( 8)8E ): 7.50mm (7.62mm) Pitch ( [8]8E ): 7.50mm
Approval (TAIE ): AV Approval (IAIE ): A Approval (TAIE ): A
Rated voltage (H8/& ): 300V 320V Rated voltage (BBJE ): 300V 630V Rated voltage (B8/E): 300V 630V
Rated current (3% ) 16A 16A Rated current (3% ):  16A 16A Rated current ( 3% ): 16A 16A
Wire range ( %1% ): 12-28AWG 0.2-2.5mm’ Wire range ( 412 ): 12-28AWG 0.2-2.5mm’ Wire range ( %1% ): 12-28AWG 0.2-2.5mm’
#15 Part Number #5 Part Number #1S Part Number
&% (Poles) #5 (Model) &% (Poles) 5 (Model) &% (Poles) #15 (Model)
02 TLCPW-300-02P 02 TLCP-400F-02P(TLCP-500F-02P) 02 TLCP-400A-02P
é4 ;I'LCPW—SOO—24P 1 2 :I'LCP—4OOF— 12P(TLCP-500F-12P) 1 2 ;I'LCF’—4OOA— 12P
TLCP-400F(TLCP-500F) TLCP-400FA TLCPM-400(TLCPM-500)
e Telia — : -: - *.--
i s b i o . I"".
TS RS M asy
| . - 1 . L
i e ® . e - . .
"ﬂ' . 4 S & L ] s - ’ ]
L=A+65 L=A+65
(i;?u)z(gpﬂm 200 150 ATHP-D -2
, | w0 150 |
g e i
CECEOICED - - 1 1l 10 |
gl g __[lomooomongy|_d
vl 10 J R 00 (o S
& b i
F [Ji F E Eg [ (162|150 _| ‘ 150
omouooNQ z omoacomo z e
) -~ - L=A+8
E E E E E H [DJ H [DJ H § LI=L+58
- : L2=L4118

KA YR Technical data

AR Technical data

A EIE Technical data

A IE Technical data A IE Technical data AR Technical data
Pitch ( [8]8E ): 7.50mm Pitch ( [8]BE ): 7.50mm (7.62mm) Pitch ( [B18E ): 7.50mm
Approval (AL ): AV Approval (TAIE ): AV Approval (IAIE ): A
Rated voltage ( B[ ): 300V 630V Rated voltage (BBJE ): 300V 630V Rated voltage (EBJE): 300V 630V
Rated current ( EB3% ):  16A 16A Rated current (B3R ):  16A 16A Rated current (E23% ):  16A 16A
Wire range ( 412 ): 12-28AWG 0.2-2.5mm’ Wire range ( 412 ): 12-28AWG 0.2-2.5mm’ Wire range ( %1% ): 12-28AWG 0.2-2.5mm’
#15 Part Number #1S Part Number #15 Part Number
1R%% (Poles) 15 (Model) 1R%¢ (Poles) #5 (Model) &% (Poles) #15 (Model)
02 TLCPM-400A-02P 02 TLCPL-400-02P(TLCPL-500-02P) 02 TLCPL-400A-02P
12 TLCPM-400A-12P 12 TLCPL-400-12P(TLCPL-500-12P) 12 TLCPL-400A-12P
TLCHP-003 TLCPM-201 TLCHM-202
- w*
e &
" . ot
% T - M -
" 4
A ‘ 28 '
by A bl
:"h E -
5.00XP+3.2 8.40
T—HZIEGXPZ Z“ . 5.00XP+14.8 —
[y - 5.00XP+8.6
13.10
%HQE . T 060 -
Rl fitud | | EEo ] E% , s
R =3 ][] ]
i | — =
%?ﬂ AA caalfs e 3
315 7'
LT | ase (Jaman S0
2o L — 130 1180 \W \W 5.00XP+3

12=2.50xP+1.50,

5.00XP+8.1

A EIE Technical data

A HIE Technical data

A HHE Technical data

Pitch ( [a1EE ): 7.50mm (7.62mm) Pitch ( [a1%E ): 7.50mm Pitch ( [a]%E ): 7.50mm (7.62mm)

Approval ( TAIE ): s Approval ( IAIE ): s Approval ( INIE ): s

Rated voltage (B[ ): 300V 630V Rated voltage (EB[&): 300V 630V Rated voltage (EB[& ): 300V 630V

Rated current (83 ) 16A 16A Rated current (B83% ):  16A 16A Rated current (E83% ):  16A 16A

Wire range ( %1% ): 12-28AWG 0.2-2.5mm’ Wire range ( %412 ): 12-28AWG 0.2-2.5mm’ Wire range ( %1% ): 12-28AWG 0.2-2.5mm’
#1S Part Number #1S Part Number #S Part Number

1R%% (Poles) S (Model) %% (Poles) A5 (Model) tR% (Poles) S (Model)

02 TLCP-400F-02P(TLCP-500F-02P) 02 TLCP-400FA-02P 02 TLCPM-400-02P(TLCPM-500-02P)
12 TLCP-400F-12P(TLCP-500F-12P) 12 TLCP-400FA-12P 12 TLCPM-400-12P(TLCPM-500-12P)

50 www.tielee.com %

Pitch ( a1EE ): 2.50mm Pitch ( [a]EE ): 5.00mm Pitch ( [a]EE ): 5.00mm

Approval (TAIE ): s VDE(Applying) Approval ( IAILE ): UL(Applying) Approval ( TAIE ): UL(Applying)
Rated voltage (FEJE): 150V 160V Rated voltage (/% ): 300V Rated voltage (8% ): 300V

Rated current (83 ):  4A 6A Rated current (83 ):  16A Rated current (83 ):  16A

Wire range ( %1% ): 28-20AWG  0.2-0.5mm’ Wire range ( %1% ): 22-12AWG Wire range ( 412 ): 22-12AWG

#1S Part Number #1S Part Number #1S Part Number

1R%x (Poles) S (Model) %% (Poles) S (Model) %% (Poles) S (Model)

02 TLCHP-003-02P 02 TLCPM-201-02P 02 TLCHM-202-02P
24 TLCHP-003-24P 24 TLCPM-201-24P 24 TLCHM-202-24P

f;‘-‘ www.tielee.com 51



TLC SERIES - Spring—cage Clamp Terminal Block

TLCP-203

L=A+100

TLCH-203

L=A+700

1509001 15045001

15014001 IATF16949

M N (€A E @

TLCP-403

TLC SERIES - Spring—cage Clamp Terminal Block

EB-5.0-01
[ W
| 0
| o
L=A+3.00 2.75
TIELEE
EB-5.0-01
% 20 J
050
180 500_| ’50
A=5.00<lP-1

EB-5.0-02
I
|
; {
L=A+300
TIELEE
EB-5.0-02
180 500 |
A=5.00x(P-1)

1509001 15045001 @
1SO14001 IATF16949

?

0.50

HAEIE Technical data

HABE Technical data

Material ( #1/8% ):

Copper Alloy

Material ( #1/5 ):

Copper Alloy

PAB6 UL94V-0

PAG6 UL94V-0

#S Part Number

#15 Part Number

A=5.00x(P-1) A:5.00x(P-1) 2|
EL °l 'H
"y //v s 2 QkEI B2 i
wh N et .
(17.20) L
1650
2 L=A+700
B 8B 8 i‘,‘/B 8 8 g TIELEE | |
TIELEE L, £ 17 TLCH-203 | =
3| thm _
g i \ f w || 5 - 35 W
- A A<5.00xIP-1 5
A IE Technical data FH AR Technical data A ¥IE Technical data
Pitch ( [B]8E ): 5.00mm Pitch ( [8]8E ): 5.00mm Pitch ( [&)3E ): 7.50mm
Approval (TAIE ): AV VDE(Applying) Approval (TAIE ): Al VDE(Applying) Approval (IAIE ): AV VDE(Applying)
Rated voltage (B8 ): 300V 320V Rated voltage (BBJE): 300V 320V Rated voltage (BBJE ): 300V 630V
Rated current (3% ):  14.5A 16A Rated current ( 3% ): 14.5A 16A Rated current (3% ):  16A 16A
Wire range ( 412 ): 28-14AWG 0.2-2.5mm’ PCB hole Dia(PCB &fZ ): ®1.4mm/®3.1mm Wire range ( %1% ): 28-14AWG 0.2-2.5mm”
#15 Part Number #15 Part Number #5 Part Number
R34 (Poles) 5 (Model) &% (Poles) 15 (Model) k% (Poles) 5 (Model)
02 TLCP-203-02P 02 TLCH-203-02P 03 TLCP-403-03P
14 TLCP-203-14P 14 TLCH-203-14P 12 TLCP-403-12P
TLCP-403L TLCH-403 TLCH-403L

2540

L=A+1.00

5

L=A+1.00
A=150x(P-1) P~

:9
4
L

o\ ef

18.10
—~
[
T

1810

TIELEE
TLCH-403

':
o b s ]

on || 855 A1S0P-

1200

3804030
e

L=A+1.00

ATS0p-1)
350 150
9140 NARAY
i
om/’@/ A D
iy
g TIELEE | |
g TLCH-403 | &
=
+’ _ . om
|| 855

KA IR Technical data

KA YR Technical data

AR YR Technical data

R (Poles) A5 (Model) &% (Poles) A5 (Model)
02 EB-5.0-01-02P 02 EB-5.0-02-02P
.10 EB—5.0—01—10P l10 .EB—5.0—02—1OP
TLC-A01 TLC-A02 TLC-A03

20.26

3

& TIA

485

461

156

~
18.90

1.20

3.40

AN €A E @

18.85

[
340

A HHE Technical data

A HIE Technical data

AR R Technical data

Material ( #1/5& ): PAGG

Material ( #1/5& ): PAG6

Material ( #1/8& ):

Part Number ($}S):  TLC-AO01

Part Number ($}S):  TLC-A02

Part Number (1S ):

TLC-AO03

&R & Apply product

&A=& Apply product

&R & Apply product

TLCP/L/M/W-200 / 300 / 400 / 500

TLCP-001

TLCP-002

TLCP/L/M/W-200A / 400A

TLCP-100

TLCP-003

Pitch ( [a]E ): 7.50mm Pitch ( [a1EE ): 7.50mm Pitch ( [a]#E ): 7.50mm

Approval (IAIE ): A VDE(Applying) Approval ( TAIE ): s VDE(Applying) Approval (TAIE ): s VDE(Applying)
Rated voltage (EB[&): 300V 630V Rated voltage (FBJE): 300V 630V Rated voltage (EB[&): 300V 630V

Rated current (83 ):  16A 16A Rated current (37 ): 16A 16A Rated current ( B85 ): 16A 16A

Wire range ( %412 ): 28-14AWG 0.2-2.5mm’ PCB hole Dia(PCB &fZ ): ®1.4mm/®3.1mm PCB hole Dia(PCB &fZ ): ®1.4mm/®3.1mm

#S Part Number #1S Part Number #S Part Number

#REL (Poles) S (Model) R (Poles) S (Model) R (Poles) A2 (Model)

03 TLCP-403L-03P 03 TLCH-403-03P 04 TLCH-403-04P

06 TLCP-403L-06P 12 TLCH-403-12P 06 TLCH-403-06P

TLCP/L/M/W-200F / 300F / 400F / 500F

52 www.tielee.com %

TLCP/L/M/W-200FA / 400FA

f;‘-‘ www.tielee.com 53



How to order

TUD) O OO VRIP-0000-00PO-00

L Screw: S=Slot screw, C=Cross screw
Color:K=Black, G(G12)=Green, L=Blue, B=Beige...
5=Double pitch, None=Standard pitch

Poles

Special code

V=90°, R=180°, T=Header, P=Pin strip
Series number

Pitch: 0=3.50,1=3.81,2=5.00,3=5.08,4=7.50, 5=7.62, 6=9.52, 7=10.00,8=10.16, 9=6.35

D=Double row series

54 www.tielee.com %

ERIES - Wire Protector P

TLOO1V(TL100V)

3.50xP(3.81xP)

|—

L Jr7s 3.30
(

6.80
—o
—o

3.30

|1.75
(1.905)

Screw Terminal Block

TLOOTR(TL100R)

350xP [3.8%P)

—
SSSNS

‘{_\'H ™ EJ H H u 175
i) (1905)
i

s11

s ] ~—

[EX]]

215

830

I

01 5001 @
014001 IATF16949

AN €A E @

TLO12V
— .
._r,.;,,-.q::_'.-_.:
[ m it
CEERS
b
4 =
o IR T %,, o0
R IISZANZ/ISTASZASIN
S #1120 350 205
L=350+P A
L+05
050
i\ !
< | ua i )
o T
=il H
[L.0.90 [350] | 175
A=3.50x(P-1]

#H A BE Technical data

KA YR Technical data

KA YR Technical data

Pitch ( [a]EE ): 3.50mm(3.81mm) Pitch ( [a]E ): 3.50mm(3.81mm) Pitch ( [a]EE ): 3.50mm
Approval (A ): AV Approval (TAIE ): AV Approval (TAIE ): AV
Rated voltage ( % ): 300V Rated voltage ( BJE ): 300V Rated voltage ( B8/ ): 300V 160V
Rated current ( 3% ): 10A Rated current ( 3% ): 10A Rated current (B83% ):  10A 17.5A
Wire range ( %1% ): 24-16AWG Wire range( 212 ): 24-16AWG Wire range ( 412 ): 26-16AWG 0.2-1.5mm?
PCB hole Dia(PCB Hf%):  ®1.1mm PCB hole Dia(PCB H1% ): ®1.1mm Screw (1842 ). M2
Screw ( #842): M2 Screw (8% ): M2
#15 Part Number #15 Part Number #1S Part Number
1R#x (Poles) 15 (Model) &% (Poles) 5 (Model) %% (Poles) A5 (Model)
02 TLOO1V-02P(TL100V-02P) 02 TLOO1R-02P(TL100R-02P) 02 TLO12V-02P
24 TLOO1V-24P(TL100V-24P) 24 TLOO1R-24P(TL100R-24P) 24 TLO12V-48P
TLO12R TLO12A TLO12A0
i 0OC |
O i
]
A=3.50x(P-1) Il
175 $120 35, || I 3
. p120 \ 350 wawlhE SN g
z I I Y i ™ Fa "
= 5= T 7Y of <
| [RARIRAA ~ L=350xP 22
A AP A 225
o L 105 050
050 | I
{1 '.“!L'.“,'L.
) - = B [ N
FETE - . i I E
80.90 3,50 | 175 $0.90 350 | 175 ]
L=350xP A=350x(P-1) A=350x(P-1)

A IR Technical data

R ¥R Technical data

A IR Technical data

Pitch ( [a12E ): 3.50mm Pitch ( [a]%E ): 3.50mm Pitch ( [a]EE ): 3.50mm

Approval (IAIE ): Vs Approval (IAIE ): A Approval ( TAIE ): s

Rated voltage ( EB[% ): 300V 160V Rated voltage ( EBJ% ): 300V 160V Rated voltage (B[ ): 300V 160V
Rated current (B3 ):  10A 17.5A Rated current (B3 ):  10A 17.5A Rated current (3% ):  10A 13.5A

Wire range ( 412 ): 26-16AWG 0.2-1.5mm’ Wire range ( 413 ): 26-16AWG 0.2-1.5mm’ Wire range ( %1% ): Bvaastrls) 0 34— 1mm?
Screw (1242 ). M2 Screw (1242 ). M2 Screw (4842 ): M2

#1S Part Number #1S Part Number #1S Part Number

%% (Poles) #-S (Model) %% (Poles) S (Model) 1R%% (Poles) S (Model)

02 TLO12R-02P 02 TLO12A-02P 02 TLO12A0-02P

48 TLO12R-48P 48 TLO12A-48P 48 TLO12A0-48P

f;‘-‘ www.tielee.com 55



TL SERIES - Wire Protector PCB Screw Terminal Block

1509001 15045001

18014001 IATF16949 L‘“‘Us N c € @ @

TL SERIES - Wire Protector PCB Screw Terminal Block

1509001 15045001

(ELHEH @

TL200V(TL300V)

5.00xP (5.08xP)

)

12.50)
254

(5.08)

9.00

e

e

5.08]

¥

12.50]
2.54)

TL200R(TL300R)

5.00xP [5.08xP)

1250

—

T
T

2299

9.00

L

*Luﬁ

% #1.00
5.00 340

1254) (5.08)

1250

w( i

[254)

TL201V(TL301V)

5.00xP(5.08 xP)

v
Vi

\\

4.30

01.0*”* 1-5—00-1

(5.08)

10.00

7.50

5.00
(6.08)

T A Gwis T
I

TL236R

L=500xP

2.50, A5.00xP-1)

T’
i

g
R

T

. [

e

&N
©
&
&
&N
©
1

1350

625

5.00

2.50,

TL203V

10.00

4.00

18014001 IATF16949 c“xus “
TL226V
=
ﬂt
L3
R
i
2501 5.00 0.7
A= 00P-1
L=As5.00
i L

500 _,250

350

150

A=5.00x(P-1)

AR Technical data

AR E] Technical data

AR IR Technical data

AR Technical data

KA YR Technical data

KA YR Technical data

Pitch ( [&]BE ):

5.00mm(5.08mm)

Pitch ( [E)8E ):

5.00mm(5.08mm)

Pitch ( [E]EE ):

5.00mm(5.08mm)

Approval (TAIE ): Ay Approval ( TAILE ): AN Approval (TAIE ): AV (5.08mm applying)

Rated voltage ( BB [% ): 300V 250V Rated voltage ( % ): 300V 250V Rated voltage ( B J% ): 300V 250V

Rated current ( B3k ): 15A 24A Rated current ( B33 ): 15A 24A Rated current ( B3k ): 16A 16A

Wire range( %12 ): 22-14AWG 0.5-2.5mm’ Wire range ( %12 ): 22-14AWG  0.5-2.5mm’ Wire range ( 412 ): 20-14AWG  Sammio”

PCB hole Dia(PCB &2 ): ®1.2-1.4mm PCB hole Dia(PCB &fZ ): ®1.2-1.4mm PCB hole Dia(PCB &f% ): ®1.2-1.4mm

Screw (4842 ). M3 Screw (1842 ): M3 Screw (#8242 ): M2.5

#5 Part Number #5 Part Number #5 Part Number

%% (Poles) S (Model) %% (Poles) S (Model) 1R%L (Poles) A5 (Model)

02 TL200V-02P(TL300V-02P) 02 TL200R-02P(TL300R-02P) 02 TL201V-02P(TL301V-02P)

24 TL200V-24P(TL300V-24P) 24 TL200R-24P(TL300R-24P) 24 TL201V-24P(TL301V-24P)
TL201R(TL301R) TL202V TL236V

5.00xP(5.08xP)

22l2\2l2

9.00

g

oo f NI &
T T | LA TV
é:gg, (: gg, LJU U U E 250 - ASS00P-1)
|lo.60 |5.00] 15,00
E 20 N o130
g T 1\ ° o ) B NV EY
= P®1.2-1.4] Sl | o o o = ‘ LY
@ ©1.4-1.6 ?ﬁ 5.0,
5.00 250 5.00 4250 250 A
(5.08) 254 '—‘L om0
HABE Technical data AR Technical data FHAEIR Technical data
Pitch ( [8]8E ): 5.00mm(5.08mm) Pitch ( [a]EE ): 5.00mm Pitch ( [a]EE ): 5.00mm
Approval (TAIE ): s & (5.08mm applying) Approval (TAIE ): L\ VDE(Applying) Approval (IAIE ): AV
Rated voltage (B2 /£ ): 300V 130V Rated voltage ( BB JE ): 300V 320V Rated voltage ( BBJE ): 300V 320V
Rated current ( B3 ): 16A 16A Rated current ( B3 ): 16A 32A Rated current ( B3 ): 20A 32A
Wire range ( 442 ): 20-14AWG  Sombaa Wire range ( %42 ): 22-12AWG  1.5-4mm’ Wire range ( 442 ): 20-12AWG  0.5-4mm’
PCB hole Dia(PCB &1 ): ®1.2-1.4mm PCB hole Dia(PCB &1% ): ®1.4-1.6mm PCB hole Dia(PCB &1% ): ®1.30mm
Screw ( 484 ): M2.5 Screw ( #242 ): M2.5 Screw ( #2#2 ): M3
#5 Part Number #5 Part Number #5 Part Number
1R (Poles) #5 (Model) 1R%x (Poles) -5 (Model) 1R#x (Poles) -5 (Model)
02 TL201R-02P(TL301R-02P) 02 TL202V-02P 02 TL236V-02P
24 TL201R-24P(TL301R-24P) 24 TL202V-24P 24 TL236V-24P

Pitch ( J81EE ): 5.00mm Pitch ( [a]E ): 5.00mm Pitch ( [a]E ): 5.00mm
Approval (IAIE ): A\ Approval (TAIE ): Al ce Approval (IAIE ): Al
Rated voltage ( B JE ): 300V 320V Rated voltage ( BJE ): 300V 250V Rated voltage ( BJE ): 300V 320V
Rated current ( B3 ): 20A 32A Rated current ( 3% ): 16A 16A Rated current ( 3% ): 16A 24A
Wire range ( %1% ): 20-12AWG  0.5-4mm?® Wire range ( 412 ): 26-12AWG 0.2-2.5mm? Wire range ( 412 ): 30-12AWG 0.2-2.5mm’
PCB hole Dia(PCB &1% ): ®1.30mm PCB hole Dia(PCB &fZ): ®1.4-1.6mm PCB hole Dia(PCB H1% ): ®1.4mm
Screw ( $842): M3 Screw ( #8%2): M2.5 Screw ( #8%2): M2.5
#15 Part Number #15 Part Number #15 Part Number
tR%x (Poles) 5 (Model) &% (Poles) 1S (Model) %% (Poles) S (Model)
02 TL236R-02P 02 TL203V-02P 02 TL226V-02P
24 TL236R-24P 24 TL203V-24P 24 TL226V-24P
TL209V TL209R TL210
" -
5 " h_ -
.
Y e B
5.00xP 5.00xP 1100
== : !
Q@ EEEE s
A\ 1.00] ii
I FT ERE
I E 250 [5.00] _[|o10 139
g 070 || 5.00 8.50
S = S ®1.2-1.4
3 o O a_n'l 3 bt ? ? o > ?4 -
©1.4-1.6 E
5.00 | 2.50 [ 1250 5.00 L_lm
AR IR Technical data A ¥4} Technical data AR ER Technical data
Pitch ( [&]%E ): 5.00mm Pitch ( [a]%E ): 5.00mm Pitch ( [a]%E ): 5.00mm
Approval (TAIE ): L\y VDE(Applying) Approval (IAIE ): L\ VDE(Applying) Approval (IAIE ): s
Rated voltage ( BB J% ): 250V 320V Rated voltage ( BB J% ): 250V 320V Rated voltage ( BB [% ): 300V
Rated current ( B3k ): 15A 24A Rated current ( 3% ): 15A 24A Rated current ( B3k ): 15A
Wire range ( %412 ): 22-12AWG  0.2-2.5mm? Wire range( 412 ): 22-12AWG  0.2-2.5mm? Wire range ( %412 ): 22-14AWG
PCB hole Dia(PCB H1% ): ®1.4-1.6mm PCB hole Dia(PCB H1% ): ®1.4-1.6mm CB hole Dia(PCB &1% ): ®1.2-1.4mm
Screw (484 ): M2.5 Screw (4842 ). M2.5 Screw (1842 ). M2.5
#S Part Number #1S Part Number #1S Part Number
tR% (Poles) S (Model) %% (Poles) S (Model) %% (Poles) S (Model)
02 TL209V-02P 02 TL209R-02P 02 TL210-02P
24 TL209V-24P 24 TL209R-24P 24 TL210-24P

56 www.tielee.com %

f;‘-‘ www.tielee.com 57



TL SERIES - Wire Protector PCB Screw Terminal Block

1509001 15045001
15014001 IATF16949

M N CE & & @

TL SERIES - Wire Protector PCB Screw Terminal Block

1509001 15045001
15014001 IATF16949

AN €A E @

TL213-5.0

TL216

N
'

TL400V

L)

TLOO6T

TL0O08T-HA

TLO39

. 5.00xP+1.5 9.30 PP !
h ” : 60606864
o I ININ 50000008 °
== =] g ii )4 - o ASZANTANT LN AT AN A N> A o)
DD (D ] S il
= BE (4
. i GILIS . B2 As350xip-1)
R — U1 'HE L:A+350
o 225 [5.00 o0 | [s75 s 175 | . A=3.50X(P-1)—f—L:60 14,60
g oo oE . . B = T
7 FO— };I @ SIS o o o o o—2 -
SO0 ®1.4-1.6 ®1.2-1.4 185
M“m £ 500 1325 250 ATE A=350¢(P-1) —
HABHE Technical data # A B Technical data A IR Technical data AR Technical data KA HE Technical data A EIE Technical data
Pitch ( [a]EE ): 5.00mm Pitch ( [a1EE ): 5.00mm Pitch ( [a]E ): 7.50mm Pitch ( [a]EE ): 3.50mm Pitch ( [a]%E ): 3.50mm Pitch ( [&]#E ): 3.50mm
Approval ( TAIE ): A VDE(Applying) Approval ( TAIE ): A Approval (IAIE ): R-1e Approval (TAIE ): A Approval ( IAIE ): A Approval (TAIE ): A \S VDE(Applying)
Rated voltage ( BB [E ): 300V 320V Rated voltage (% ): 300V 450V Rated voltage ( BB [% ): 300V 450V Rated voltage ( HJE ): 300V Rated voltage ( BB J% ): 300V 320V Rated voltage ( BB [% ): 150V 160V
Rated current ( B3 ): 20A 24A Rated current (B3 ): 12A 12A Rated current ( B85 ): 16A 24A Rated current ( 37 ): 10A Rated current ( B85 ): 12A 12A Rated current ( B83% ): 7A 10A
Wire range ( 412 ): 24-14AWG  0.5-2.5mm? Wire range ( %1% ): 18-12AWG 0.75-4mm? Wire range ( %412 ): 22-14AWG 0.5-2.5mm” Wire range ( %12 ): 28-16AWG Wire range ( %412 ): 26-16WG 0.2-1.5mm? Wire range ( %1% ): 28-16WG 0.5-1.5mm?
PCB hole Dia(PCB &1 ): ®1.9-2.2mm PCB hole Dia(PCB &fZ ): ®1.4-1.6mm PCB hole Dia(PCB H%): ®1.2-1.4mm Screw (#842 ): M2.0
Screw (1842 ). M3 Screw (1842 ) M3 Screw (1842 ). M3
#1S Part Number #1S Part Number #1S Part Number #1S Part Number #1S Part Number #1S Part Number
%% (Poles) S (Model) 1R%% (Poles) #S (Model) %% (Poles) S (Model) 1R%L (Poles) #-S (Model) %% (Poles) S (Model) 1R%x (Poles) S (Model)
02 TL213-5.0-02P 02 TL216-02P 02 TL400V-02P 02 TLOO6T-02P 02 TLOO8T-HA-02P 02 TLO39-02P
24 TL213-5.0-24P 24 TL216-24P 24 TL400V-24P 24 TLOO6T-24P 24 TLOOBT-HA-24P 24 TLO39-24P
TL400R TL523 TL509V TLO39T TL205T TL221T
ﬁ - . H_ = ﬁ
) 00
: » *
I 3
TEY
1500 1300 e N rh o, M
Q@ I” Sk s P 2 = ) %Ehn&%
hullhuai) (O[O @ @ B @ j WO 11 S A A
g = r\'——‘L M NE i N o
750 |2 375 340 270 o120 762 010 _J|_ T80 «‘\‘ S 250 _| AS0XP-1)
381762 g 381 A=T624P-1) @ r% ' ' ' ' 3 LAS0
152 LT626P e QQ QQ f Tn‘ f
\ 381,762 < D @@] i i
- T T o _ = 5 & s SlHD 2.50 5.0 i B
=] 750 V4 st 3 g s L m \ — =m:]mﬁqﬁﬂ\1mimm i
N 381 A 350 ]
m an )] i A=350x(P-1) 185
1524 —
A Bi#% Technical data FH AR Technical data HABE Technical data AR Technical data H A B Technical data A EIE Technical data
Pitch ( [8]5E ): 7.50mm Pitch ( [8]8R ): 7.62mm Pitch ( [&)3E ): 7.62mm Pitch ( [a]8B ): 3.50mm Pitch ( [8]BE ): 5.00mm Pitch ( [E]8B ): 5.00mm
Approval (IAIE ): AV Approval ( IAIE ): Al Approval (IAIE ): Ay VDE(Applying) Approval (IAIE ): AV VDE(Applying) Approval (IAIE ): L\ Approval (TATE ): Al
Rated voltage ( BB JE ): 300V 450V Rated voltage ( BB JE ): 300V 750V Rated voltage ( B[E ): 300V 630V Rated voltage ( BBJE ): 150V 160V Rated voltage ( BB [% ): 300V 630V Rated voltage ( % ): 300V 320V
Rated current ( B3 ): 16A 24A Rated current ( B3 ): 35A 41A Rated current ( 3% ): 16A 24A Rated current ( 3% ): 7A 10A Rated current ( B35 ): 10A 11A Rated current ( 3% ): 10A 12A
Wire range ( 412 ): 22-14AWG  0.5-2.5mm’ Wire range ( %12 ): 30-8AWG 1-6mm? Wire range( 412 ): 30-12AWG  0.5-2.5mm? Wire range ( %12 ): 28-16WG 0.5-1.5mm? Wire range ( 412 ): 20-14AWG  Sammss Wire range ( %12 ): 20-14AWG  0.34-2.5mm?
PCB hole Dia(PCB Ef%): ®1.2-1.4mm PCB hole Dia(PCB &1%): ®2.1mm PCB hole Dia(PCB E% ): ®1.4mm Screw( #842): M2.5 Screw (#842): M2.5
Screw ( 8% ): M3 Screw ( $842): M4.0 Screw ( #842 ): M2.5
#S Part Number #5 Part Number #1S Part Number #1S Part Number #5 Part Number #1S Part Number
%% (Poles) A= (Model) RE (Poles) 12 (Model) &% (Poles) A2 (Model) 3 (Poles) A2 (Model) %3 (Poles) A5 (Model) B3 (Poles) 5 (Model)
02 TL400R-02P 02 TL523-02P 02 TL509V-02P 02 TLO39T-02P 02 TL205T-02P 02 TL221T-02P
24 TL400R-24P 16 TL509V-16P 24 TLO39T-24P 24 TL205T-24P 24 TL221T-24P

58 www.tielee.com %

f;‘-‘ www.tielee.com 59



TL SERIES - Wire Protector PCB Screw Terminal Block e, e Ml N CE & & @ & TL SERIES - Wire Protector PCB Screw Terminal Block R S Al N CEA & @

TL222T TL223T TL235T-HA TL239T TLOO6P TLOO7P

L=A+350
A=350x(P-1) 175

FET ‘T T
0000 "

)
il 00 U w T

: : A=5.00X[P-1)

|

A=5.00x(P-1) L=A+5.00 [=A+5.00

L=A+5.00
2.50 A=5.00x(P-1)
-

350 o100
A=350X(P-1) 1060
L-A-350

35XP

%l

i

i
HHO!

i rt i l 8 612-913 Ny
ST 5 . S Sl ffo—4—& o1 g IASORRRAIRE
@_@@@ e = 5.00 350, $12-813 350 =
; T A=3504(P-1) I
124 AS5.00<P-)[335 L-A350 175
A B4R Technical data A ¥4 Technical data AL Technical data AL Technical data AL Technical data KA YR Technical data
Pitch ( [a]EE ): 5.0mm Pitch ( Ja1EE ): 5.00mm Pitch ( [a]EE ): 5.0mm Pitch ( 8]EE ): 5.0mm Pitch ( J8]EE ): 3.50mm Pitch ( [a]E ): 3.50mm
Approval (A ): AV VDE(Applying) Approval (IAIE): AV Approval (IAIE ): Al Approval (AL ): AV VDE(Applying) Approval (IAIE ): A\ Approval (IAIE ): AV
Rated voltage ( B /% ): 300V 320V Rated voltage ( BBJE ): 300V Rated voltage ( BJE ): 300V 630V Rated voltage ( BBJE ): 300V 320V Rated voltage ( BBJE ): 300V 250V Rated voltage ( BJE ): 300V
Rated current ( 3% ): 10A 12A Rated current ( B3 ): 12A Rated current ( 3% ): 15A 19A Rated current ( 3% ): 7A 10A Rated current ( B83# ): 10A 12A Rated current ( 3% ): 10A
Wire range ( 412 ): 24-14AWG  0.34-2.5mm? Wire range ( %1% ): 26-12AWG Wire range ( 1% ): FEs 0.2-2.5mm? Wire range ( 412 ): 28-16WG 0.5-1.5mm? PCB hole Dia(PCB Hf&):  ®1.2-1.3mm PCB hole Dia(PCB &fZ):  ®1.2-1.3mm
Screw ( 1842 ): M2.5 Screw ( #2# ): M3.0 Screw ( #84% ): M2.5
#1S Part Number #15 Part Number #5 Part Number #5 Part Number #5 Part Number #15 Part Number
&K (Poles) &S (Model) K (Poles) &S (Model) B2 (Poles) 2 (Model) 2 (Poles) 2 (Model) B2 (Poles) 2 (Model) &L (Poles) &S (Model)
02 TL222T-02P 02 TL223T-02P 02 TL235T-02P-HA 02 TL239T-02P 02 TLOO6P-02P 02 TLOO7P-02P
24 TL222T-24P 24 TL223T-24P 24 TL235T-24P-HA 24 TL239T-24P 24 TLOO6P-24P 24 TLOO7P-24P
TL219 TL219T TL239 TL205P TL205P-A019 TL205P-1082
— -'.._ "ﬁ-.*
— | - |
ddd 2922
- === <y -
1;_'_ gl 4 1 T { s o

jun Biul/luniiinn} [ 9140 5.00x P 280
0) (@)(®) (O _@_@@@. ”L\Mn H { } { { { { { £
N7 ARy ARy /ARy any
S80S SAS A ST A R T U U U .
| M| im @ & hih & 2 3
T T T T ~ /A -
) (30| g[ i 5| H ASS.00X(P-1) Eﬁ
¥ 250 A=5.00X(P-1) - = — =
5 ] ALS i(i)s«:;] Loy Al — LeAv650 3 1500 [T
e 250 5.00 21.30 s : .
L T T -
T T3 11 : I ALY 5 A
TEIETE ¢ e R
K ; ; ; = e | i B T T — i
= ; Nty : Lo ‘& &
i I E 250 [ 1] 5.00_1335 NI l Q Cﬁ ©_Q | H @ @ ; @ E
A=5.00x(P-1) 5.00 250 L gL Ji PCB IAYOUT
AR Technical data % K %14 Technical data # A ¥4} Technical data A IR Technical data A ¥4} Technical data AR ER Technical data
Pitch ( [&]%E ): 5.0mm Pitch ( [a1EE ): 5.0mm Pitch ( [&]gE ): 5.0mm Pitch ( [8]EE ): 5.00mm Pitch ( [a]EE ): 5.00mm Pitch ( [a]%E ): 5.0mm
Approval (IAIE ): Al Approval ( TAIE ): s Approval (TAIE ): AN VDE(Applying) Approval ( TAIE ): s Approval (IAIE ): UL(Applying) Approval (IAIE ): s
Rated voltage ( BB J% ): 300V 630V Rated voltage ( % ): 300V 630V Rated voltage ( BB [E ): 300V 320V Rated voltage ( B JE ): 300V 320V Rated voltage ( BB J% ): 300V Rated voltage ( BB [% ): 300V
Rated current ( B3} ): 12A 12A Rated current ( 3% ): 12A 12A Rated current ( B83% ): 7A 10A Rated current (237 ): 10A 19A Rated current ( B85 ): 10A Rated current ( B85 ): 10A
Wire range ( 412 ): 28-14AWG 225 Wire range ( %1% ): 28-14AWG 955 Wire range ( 412 ): 28-16WG 0.5-1.5mm? PCB hole Dia(PCB &Hf2):  ®1.4-1.6mm PCB hole Dia(PCB & ):  ®1.50mm
Screw (4842 ). M2.5 Screw (1842 ): M2.5
#S Part Number #1S Part Number #S Part Number #1S Part Number #S Part Number #1S Part Number
%% (Poles) S (Model) 1R%% (Poles) A5 (Model) tR% (Poles) S (Model) REL (Poles) #IS (Model) tR% (Poles) S (Model) %% (Poles) S (Model)
02 TL219-02P 02 TL219T-02P 02 TL239-02P 02 TL205P-02P 02 TL205P-A019-02P 02 TL205P-1082-02P
24 TL219-24P 24 TL219T-24P 24 TL239-24P 24 TL205P-24P 24 TL205P-A019-24P 24 TL205P-1082-24P

60 www.tielee.com % f;‘-‘ www.tielee.com 61



TL SERIES - Raising Clamp PCB Screw Terminal Block 0116001 1xTFr6b9 M CEA & @

TLO11V TLOO2V TLOO3V(TL103V)
e — i
"~ #‘** " "-ﬁq!Ft
CLLL L T Lk
LLL ™ -
|
1=A+300 620 3.50x(P-1)+4.2 35x (P-1)+4.0
3.81x(P-1)+4.0 7.3

850

EIE =)
UL~

i

150 080 310

(
EEEREE ] o
LI JTI]

254 - 0.50
A=254x(P-1) 12504 —ll—2
L=A+3.00 8 s
\\ 3.5
=[_ o 3.81 -

GO SbO ;% g & o 0 ol B
oo LW : 4 1) |
£2b ®1.2-1.3 N o O

A=254x(P-1) #8110 350 [ 2.0 m[ ®1.2-1.3

TL Single row series # =

AR Technical data

# A #IE Technical data

H AR Technical data

Pitch ( 8B ): 2.54mm Pitch ( [a]E ): 3.50mm Pitch ( a1EE ): 3.50mm(3.81mm)
Approval (IAIE ): Al Approval (TAIE ): A Approval ( TAIE ): R\
Rated voltage ( HEJE ): 150V 160V Rated voltage ( BB JE ): 300V 130V Rated voltage ( B JE ): 300V 160V
Rated current ( B3 ): 6A 8A Rated current ( BB ): 10A 10A Rated current ( 37 ): 10A 16A
Wire range ( 412 ): 30-18AWG  0.2-1.0mm’ Wire range ( 413 ): 26-16AWG  0.2-1.5mm* Wire range ( %1% ): 26-16AWG  0.2-1.5mm’
PCB hole Dia(PCB B ):  ®1.1mm PCB hole Dia(PCB &2 ):  ®1.2-1.3mm PCB hole Dia(PCB &f&):  ®1.2-1.3mm
Screw ( $84 ): M1.6 Screw ( #8#2 ): M2 Screw (1842 ): M2
#1S Part Number #1S Part Number #1S Part Number
R (Poles) #1S (Model) %% (Poles) A5 (Model) &% (Poles) A5 (Model)
02 TLO11V-02P 02 TLOO2V-02P 02 TLOO3V-02P(TL103V-02P)
24 TLO11V-24P 24 TLOO2V-24P 24 TLOO3V-24P(TL103V-24P)
TLO04V(TL104V) TLO04R(TL104R) TLO09(TL109)
R e —
P [T e
a1l
‘"l a i )
TLD Double row series =
35xP L:A350
e TR =]
SOODSL I )) %%%%%@
1=350xP " ol cnifce n niff =)
[381xP 175 H
I JTT]
e 055 EE—J J 1.75 38 A:}SOX[(P—W))a
| | el 0 ! A=381x(P-1
How to order e o1 R '
MM[‘ &] 381 A=350(3 81)x (P-1)
3500381
TLO) O OO0 VR/MP - D000 - 00 PO -0 0 R RN BRBHIE
T T T 175 350 | 0.90 _ 3
K] 381 EX(U ol & o12-18 e
Screw: S=Slot screw, C=Cross screw i;;g(‘g:}l | || |

Color:K=Black, G(G12)=Green, L=Blue, B=Beige---
5=Double pitch, None=Standard pitch
Poles

Special code

V=90°, R=180°, T=Header, P=Pin strip
Series number

Pitch: 0=3.50,1=3.81,2=5.00,3=5.08, 4=7.50, 5=7.62, 6=9.52, 7=10.00, 8=10.16,9=6.35
D=Double row series

62 www.tielee.com %

AR IR Technical data

AR Technical data

A IR Technical data

Pitch ( 88 ): 3.50mm(3.81mm)

Pitch ( [818 ):

3.50mm(3.81mm)

Pitch ( {8188 ):

3.50mm(3.81mm)

Approval (TAIE ): A Approval (TAIE ): s Approval (TAIE ): s

Rated voltage ( % ): 300V Rated voltage ( BB JE ): 300V Rated voltage ( BB [% ): 300V

Rated current ( B35 ): 10A Rated current ( B85 ): 10A Rated current ( B85 ): 12A

Wire range ( %1% ): 26-16AWG Wire range ( %412 ): 26-16AWG Wire range ( 412 ): 30-16AWG

PCB hole Dia(PCB #1% ): ®1.2-1.3mm PCB hole Dia(PCB H1% ): ®1.2-1.3mm PCB hole Dia(PCB H1% ): ®1.2-1.3mm

Screw (#842 ): M2 Screw (#8242 ): M2 Screw (1842 ). M2.0

#1S Part Number #1S Part Number #1S Part Number

1REL (Poles) #S (Model) 1R#L (Poles) S (Model) %% (Poles) S (Model)

02 TLO04V-02P(TL104V-02P) 02 TLO04R-02P(TL104R-02P) 02 TLO09-02P (TL109-02P)
24 TLO04V-24P(TL104V-24P) 24 TLO04R-24P(TL104R-24P) 24 TLO09-24P (TL109-24P)

f;‘-‘ www.tielee.com 63



TL SERIES - Raising Clamp PCB Screw Terminal Block

1509001 15045001

15014001 IATF16949 I:N‘Us N c €

& @

TL SERIES - Raising Clamp PCB Screw Terminal Block

1509001 15045001

18014001 IATF16949 c“us N c € @ @ ¢

TLO10

-.-

gdidﬂia‘

L=A+350

TL204

TL207(TL307)

A=5.00(5.08)«(P-1)

TL214V

= (1]
13.8

TL214R

50xP

TL208V(TL308V)

e - . g
J) JK L . 5 Z T o o TA
' o @ 1.3
E o o e
®1.5-1.7 (ggg) (225504)
# A ¥4} Technical data A YR Technical data KA EIR Technical data

Pitch ( 8]EE ): 5.00mm Pitch ( [a]#E ): 5.00mm Pitch ( [a]EE ): 5.00mm(5.08mm)
Approval (IAIE ): AV Approval (IAIE ): A Approval (TAIE ): A
Rated voltage ( BB JE ): 300V Rated voltage ( BJE ): 300V Rated voltage (FB[& ): 300V 320V
Rated current ( B3 ): 20A Rated current ( 3% ): 20A Rated current (B85 ):  15A 15A
Wire range ( %12 ): 24-12AWG Wire range ( %12 ): 24-12AWG Wire range ( 412 ): 26-14AWG 0.34-1.5mm?
PCB hole Dia(PCB &1% ): ® 1.5-1.7mm PCB hole Dia(PCB E% ): ®1.5-1.7mm PCB hole Dia(PCB E{2): ®1.3mm
Screw ( $84): M2.5 Screw ( #842 ): M2.5 Screw ( #8%2): M3
#15 Part Number #5 Part Number #15 Part Number
2 (Poles) 2 (Model) &L (Poles) 2 (Model) AL (Poles) EIS (Model)
02 TL214V-02P 02 TL214R-02P 02 TL208V-02P(TL308V-02P)
24 TL214V—_24P 24 TL214R—24P 24 TL208V—24P(TL308V—-24P)
TL215V TL215R TL211V
- - - - -
- reti "
L=A+5.00
50xP A=S.00X(P-1)
1 SW
50xP
A\ I \\{
i N

10
@
o

oo |

i [ 250(2.54) 5.0(5.08}
i 1 1r
o | 2 i :
;LR HENIE
L i
| = E T 15| ASS.00XIP-1) 2160
EXI 090 Il N Lso0xe B9 L=A+5.0015.08)
) A=350x (P-1) T
L=A+350 = I
s o %o o ol HEH
] L = #150-170 | Wj i
i 3 g?itiﬁj
-0 4 9«' }9 g 25 5400, \ 2 2500254 | 5.0065.08) 100
124913 i == 1 - ASS00(598)P-1)
A ¥4 Technical data AR Technical data # A ¥4} Technical data
Pitch ( [8]EE ): 3.50mm Pitch ( Ja1EE ): 5.00mm Pitch ( [a]EE ): 5.00mm(5.08mm)
Approval ( TAIE ): AV Approval (IAIE ): Al Approval (T ): A\ VDE(Applying)
Rated voltage ( BBJE ): 300V Rated voltage ( BBJE ): 250V 320V Rated voltage (BBJE ) : 320V 300V
Rated current ( B3 ): 10A Rated current ( 37 ): 16A 24A Rated current ( B3k ): 24A 20A
Wire range ( %1% ): 26-16AWG Wire range ( %1% ): 26-12AWG  0.34-2.5mm’ Wire range ( 412 ): 24-12AWG  0.2-2.5mm?
PCB hole Dia(PCB &{2):  ®1.2-1.3mm PCB hole Dia(PCB &f2):  ®1.5-1.7mm PCB hole Dia(PCB &Ef&):  ®1.60mm
Screw (#2# ): M2.0 Screw (#2# ): M2.5 Screw (1842 ): M3
#1S Part Number #1S Part Number #1S Part Number
#R%x (Poles) A5 (Model) 1R#x (Poles) 5 (Model) B2 (Poles) 15 (Model)
02 TLO10-02P 02 TL204-02P 02 TL207-02P(TL307-02P)
24 TLO10-24P 24 TL204-24P 26 TL207-26P(TL307-26P)
TL231(TL331) TL206V(TL306V) TL206R(TL306R)
. - Ch ,mc't\'
o [ . n -, Sl
I I i b 3 i el |
i ’ ."/“i
a3 ’ ' ]
JJ :-’ i 2
aa ‘_ - . N
B
L=A+6.00 5.00xP(5.08 xP)
5.00x P(5.08xP) y
1l i
il [} g
oood 3 i =
N SRl @@@@%
4 = 5.00 2.5
=y = U0 Ui Gos T 259
1.00, 5.0Q 125
(5.08) (2.54)
L=A+6.00
A=5.00xP-1| —) Q Q Q Q
o500 A5 08<P-1] S
5.08 2130 o ﬁ 2 ] 0 ®1.5-1.7
‘ ‘ 1 S T T\O o TA = 299
S| ®1.5-1.7
> e Sl 4 g = Clzs A
/ (5.08] 2.54) )
A IR Technical data A IR Technical data AR Technical data

Pitch ( {8188 ):

5.00mm(5.08mm)

Pitch ( 18188 ):

5.00mm(5.08mm)

Pitch ( &35 ):

5.00mm(5.08mm)

5 [l
- - mﬁ - oj) = o} //({’gm(%ili
_ é & & 3 mli 1.3 i I
= o o = o| & 5400 250
1.3 @ AS00XP-1)
L=A+S.00
AR Technical data AR EHR Technical data AR Technical data
Pitch ( J81EE ): 5.00mm Pitch ( [a]E ): 5.00mm Pitch ( [&]EE ): 5.00mm
Approval (IAIE ): s Approval (IAIE ): R~ Approval (IAIE ): R~
Rated voltage ( HJE ): 300V Rated voltage ( BBJE ): 300V Rated voltage (EEJE ): 300V 320V
Rated current ( 3% ): 15A Rated current ( B3% ): 15A Rated current (3% ):  25A 32A
Wire range ( %12 ): 26-14AWG Wire range ( %12 ): 26-14AWG Wire range ( %12 ): 22-12AWG 0.24—4mm’
PCB hole Dia(PCB &1% ): ®1.3mm PCB hole Dia(PCB H1% ): ®1.3mm PCB hole Dia(PCB EfZ): ®1.5-1.6mm
Screw ( #842): M3 Screw (1242 ). M3 Screw (#842): M3

#S Part Number

#5 Part Number

#1S Part Number

Approval (TAIE ): A\ Approval (TAIE ): A\ Approval (A ): A
Rated voltage ( B JE ): 300V 320V Rated voltage ( BB JE ): 300V 320V Rated voltage ( B JE ): 300V 320V
Rated current ( B33 ): 13.5A 15A Rated current ( B3 ): 20A 24A Rated current ( 3% ): 20A 24A
Wire range ( %1% ): 26-14AWG  0.2-1.5mm’ Wire range ( %1% ): 24-12AWG 0.2-2 St ol it Wire range ( %1% ): 24-12AWG  2;35mm" sol /st
Screw (#2842 ): M3 PCB hole Dia(PCB H1% ): ®1.5-1.7mm PCB hole Dia(PCB H1% ): ®1.5-1.7mm
Screw (1842 ): M3 Screw (484 ): M3
5 Part Number #5 Part Number #5 Part Number
RE (Poles) A5 (Model) BE (Poles) A5 (Model) 1REK (Poles) A5 (Model)
02 TL231-02P(TL331-02P) 02 TL206V-02P(TL306V-02P) 02 TL206R-02P(TL306R-02P)
24 TL231-02P(TL331-24P) 24 TL206V-24P(TL306V-24P) 24 TL206R-24P(TL306R—-24P)

R (Poles) A5 (Model) REL (Poles) A5 (Model) R (Poles) A5 (Model)
02 TL215V-02P 02 TL215R-02P 02 TL211V-02P
24 TL215V-24P 24 TL215R-24P 24 TL211V-24P

64 www.tielee.com %

f;‘-‘ www.tielee.com 65



TL SERIES - Raising Clamp PCB Screw Terminal Block

1509001 15045001

1S014001 IATF16949 L‘“‘US N c € @ @ \

TL SERIES - Raising Clamp PCB Screw Terminal Block

1509001 15045001

18014001 IATF16949 c“xus “ c € @ @

TL211VH

- -

L=A5.00

A<5.00X(P-1)

1945

TL212V(TL312V)

-

5.00xP (5.08xP)

CIEIEIEE

18.00

250 5.00
254) 5.08)

)

500,

100

TL217VA

-.-_.-.'-'-'

175

TL220VA

TL220RA

TL220VA-00P3

o501 [] 3] 25 |
/1 | 7 g —_— N
i i ° ™ #15-11 EI:
g |o\ o
= AS00XP-1) = g iﬂ
L-As500 L B8 7 Tes
A ¥4 Technical data A %14 Technical data A %148 Technical data
Pitch ( /8188 ): 5.00mm Pitch ( [8]EE ): 5.00mm(5.08mm) Pitch ( 1888 ): 5.00mm
Approval (IAIE ): Vs Approval ( TAILE ): s ceE Approval ( TAIE ): A
Rated voltage ( % ): 300V 320V Rated voltage ( % ): 300V 300V Rated voltage ( BB [E ): 300V
Rated current (B8 ):  25A 32A Rated current ( B3 ): 20A 20A Rated current ( 3% ): 20A
Wire range ( %1% ): 22-12AWG 0.24-4mm’ Wire range ( %1% ): 24-12AWG  0.34-4mm? Wire range ( 413 ): 24-12AWG
PCB hole Dia(PCB Ef&): ®1.5-1.6mm PCB hole Dia(PCB &1% ): ®1.5-1.7mm PCB hole Dia(PCB H1% ): ®1.5-1.7mm
Screw (4842 ): M3 Screw (4842 ): M2.5 Screw (1242 ) M3
S Part Number 5 Part Number #5 Part Number
R (Poles) S (Model) ¥ (Poles) AJS (Model) #REL (Poles) #U-S (Model)
02 TL211VH-02P 02 TL212V-02P(TL312V-02P) 02 TL217VA-02P
24 TL211VH-24P 24 TL212V-24P(TL312V-24P) 24 TL217VA-24P
TL217V TL217R TL217RA
-
W
5.0 x (P-1)+5.0 1n3 5000 500 500
('
NS o s s
) - \ = s 52
HAERH | [EK
/ 4 7, Q\. i
7 Ml
3 L m] |
! <2 _ g

1.3

o O
5 ™\—015-17 |d

5.25

1760
1535

o o
%wmi

11.60
15.39

o o
[ TsaofNs15.17

AR EIR Technical data

AR ER Technical data

# A IR Technical data

Pitch ( [&]5E ): 5.00mm Pitch ( [a]E ): 5.00mm Pitch ( [a]EE ): 5.00mm
Approval (TAIE ): s Approval (TAIE ): s Approval (TAIE ): s

Rated voltage ( BB J% ): 300V Rated voltage ( BB J% ): 300V Rated voltage ( BB [% ): 300V

Rated current ( B33 ): 20A Rated current ( B3 ): 20A Rated current ( B85 ): 20A

Wire range ( %412 ): 24-12AWG Wire range ( %412 ): 24-12AWG Wire range ( 412 ): 24-12AWG
PCB hole Dia(PCB E1% ): ®1.5-1.7mm PCB hole Dia(PCB H1% ): ®1.5-1.7mm PCB hole Dia(PCB H1% ): ®1.5-1.7mm
Screw (4842 ). M3 Screw (1842 ). M3 Screw (1242 ). M3

#S Part Number #S Part Number #1S Part Number

#REL (Poles) S (Model) &% (Poles) S (Model) &% (Poles) A2 (Model)
02 TL217V-02P 02 TL217R-02P 02 TL217RA-02P
24 TL217V-24P 24 TL217R-24P 24 TL217RA-24P

L | e
o
) | @ .
= 2 I &
== o ro i
T
U] 2804 090, U *ﬁ Mo T
500! f ]
20| _A:_S;;X(P—\ ME i psso0ub-| |20 WL—J-——;"" “D
L=5.00xP+250 i L=5.00xP+2.50
o o oé o Z R ‘**%g
o o ol 32 + T e 2
‘ " "
2 sl " 200 e AL 280 | A
L
A B4R Technical data A %14 Technical data # A ¥4} Technical data
Pitch ( [a]E ): 5.00mm Pitch ( [a1EE ): 5.00mm Pitch ( [a]#B ): 7.50mm
Approval (TAIE ): A Approval ( IAILE ): s Approval (IAIE ): s
Rated voltage ( BB [E ): 300V 320V Rated voltage ( BB E ): 300V 320V Rated voltage ( B[E ): 300V 630V
Rated current ( B3 ): 20A 24A Rated current ( B85 ): 20A 24A Rated current ( 837 ): 20A 24A
Wire range ( 412 ): 28-12AWG  0.34-2.5mm’ Wire range ( %1% ): 28-12AWG  0.34-2.5mm’ Wire range ( 1% ): 28-12AWG  0.34-2.5mm’
PCB hole Dia(PCB B 1% ): ®1.40mm PCB hole Dia(PCB &1% ): ®1.40mm PCB hole Dia(PCB E% ): ®1.40mm
Screw (1242 ): M2.5 Screw (1842 ). M2.5 Screw (#8242 ): M2.5
#5 Part Number 5 Part Number 1S Part Number
#REL (Poles) S (Model) R (Poles) #JS (Model) R (Poles) S (Model)
02 TL220VA-02P 02 TL220RA-02P 02 TL220VA-00P3-02P
24 TL220VA-24P 24 TL220RA-24P 24 TL220VA-00P3-24P
TL220RA-00P3 TL225V TL225R
ol g |‘- L L
- w [ - &
T - _
. - -
- = = - 'l L . -
ol 1L '——| [—T '——| j r AS.0x(P-1)
D é | D i s 100
g / ul O ‘,1 (==} B B : [==] s EW
/ s ! g% T I
fy == ; [ aafar .
i @JL y | :—{ ]_u U JL 100 0 3 kjkjk
m[,m S A:7SDx[P—7\]W 280 5.00, A 4§» |
L7508 A=5.00x(P-1) 850 | 7 T
A _ 15,00
g BB B B3 \ed g
4 ¢! 4 L=A+50 | =
il | N 3 : =
& T R g 250 - A=5.0X(P-1) EJ El Ej j T T
il \ T Z | | <
2w Wl NA\H} 500 \y\ M g L:5.0XP l:ﬁ‘
: ﬁ |
A EIE Technical data A IR Technical data A EIE Technical data
Pitch ( [a]EE ): 7.50mm Pitch ( [a1EE ): 5.00mm Pitch ( [&]EE ): 5.00mm
Approval (TAIE ): s Approval (IAIE ): A Approval (IAIE ): A
Rated voltage ( % ): 300V 630V Rated voltage (% ): 300V 320V Rated voltage ( B [% ): 300V 320V
Rated current ( B35 ): 20A 24A Rated current ( B3 ): 16A 24A Rated current ( B83% ): 16A 24A
Wire range ( 412 ): 28-12AWG  0.34-2.5mm’ Wire range ( %1% ): 28-12AWG 3228 Wire range ( 412 ): 28-12AWG 32280
PCB hole Dia(PCB &1% ): ®1.40mm PCB hole Dia(PCB &1% ): ®©1.3-1.5mm PCB hole Dia(PCB E1% ): ®1.3-1.5mm
Screw (#842 ): M2.5 Screw (#2#2 ): M2.5 Screw (#842 ) : M2.5
#1S Part Number #1S Part Number #1S Part Number
1REL (Poles) #5 (Model) 1R% (Poles) #-S (Model) tR#L (Poles) #5 (Model)
02 TL220RA-00P3-02P 02 TL225V-02P 02 TL225R-02P
24 TL220RA-00P3-24P 24 TL225V-24P 24 TL225R-24P

66 www.tielee.com %

f;‘-‘ www.tielee.com 67



TL SERIES - Raising Clamp PCB Screw Terminal Block

1509001 15045001

18014001 IATF16949 L‘“‘Us N c € @ @

TL SERIES - Raising Clamp PCB Screw Terminal Block

1509001 15045001

18014001 IATF16949 c“xus “ c € @ @

TL401V

TL402V(TL502V)

TL402R(TL502R)

7.50xP 14.0 t::;gg tﬁ:;gzﬂ
]/ I I ]\ I I I A=T50X(P-1)
i s L i : : 375 750 A=7.62X[P-1]
\ o <) m m,{ m m m 381 767
L/ §‘ 5 } 7sow 10% & D/
= /
U0 U ULl Myt in s R e
. 0.80 T Az v e
2.00 7.50 3.75 *bs ) _ L=A+750
by R
= - " = e
- j 37 750 A=162XIP-1] _G*i%v/ /oo
o 381 762 375 75
= (f O O O E 38 ”%JA:MOX(PJ)
@2.4-2.6 A\ P W b SI A=T62XP)
7.50 3.75 \ L=A+7.50
9160 LAT62
AR Technical data AR Technical data AR Technical data

TL227V TL227R TL333
e
- - -
: ;—"’ﬁ - T
o [ MTLLE
T i :
N [
L
L=A+5.0 890 L=A+5.08
y T—v | :
I~ ] L
- [ ; = s s 2
* HEEHR FHEEE T | [HE HE!
[ w UJ ‘j 0% m ) _"EEﬁl H L\U T
2 s00] 0% 508| 100
%"H‘* X Jﬁ b3 A500P-1) 20y 850 eﬂJA:s 08x(P-1 254 9,00
A=5.00x(P-1) L=5.004P
1=A+5.08
L=A+50 254 A=5.08X(P-1)
A=5 00x(P-1 [S8,
250 500 $ \ o
1 = ; 9 =~
—?zfitb#ebf 1= il A\
140 6160
A B4R Technical data A ¥4 Technical data AL Technical data
Pitch ( [a]EE ): 5.00mm Pitch ( Ja1EE ): 5.00mm Pitch ( [a]EE ): 5.08mm
Approval ( INIE ): s Approval ( IAIE ): A Approval ( INIE ): s
Rated voltage ( BB JE ): 300V 320V Rated voltage ( BBJE ): 300V 320V Rated voltage ( BJE ): 300V 320V
Rated current ( 3% ): 20A 24A Rated current ( B3 ): 20A 24A Rated current ( 3% ): 20A 24A
Wire range ( 1% ): 30-12AWG  0.2-2.5mm* Wire range ( %1% ): 30-12AWG  0.2-2.5mm’ Wire range ( %1% ): 24—12AWG  §2-35mm sal/st
PCB hole Dia(PCB H1% ): ®1.4mm PCB hole Dia(PCB &1% ): ®1.3-1.4mm PCB hole Dia(PCB E% ): ®1.6mm
Screw ( 1842 ): M3 Screw ( $842): M3.0 Screw ( #842 ): M3
#1S Part Number #15 Part Number #5 Part Number
1R%% (Poles) #5 (Model) &% (Poles) A5 (Model) %% (Poles) 15 (Model)
02 TL227V-02P 02 TL227R-02P 02 TL333-02P
24 TL227V-24P 24 TL227R-24P 24 TL333-24P
TL334 TL901V TL916
- 9
‘ srff |
: v b
N T (dnd
, P 1 o “‘

B
1

154 A<5.08x(P-1

i
T
T

L=A+6.35 1850

S
TP

2150

15.00)

0.80

Pitch ( [&]#E ): 7.50mm Pitch ( [a]E ): 7.50mm(7.62mm) Pitch ( [a1EE ): 7.50mm(7.62mm)
Approval (TN ): A Approval (TAIE ): AV (7.62mm Applying) Approval (IAIE ): AV (7.62mm Applying)
Rated voltage (BJE ) : 300V Rated voltage (/& ): 300V 630V Rated voltage (BB/E): 300V 630V
Rated current ( 3% ): 20A Rated current ( B3 ): 20A 24A Rated current (B3 ):  20A 24A
Wire range ( %42 ): 24-12AWG Wire range ( %42 ): 24-12AWG  §aigmsorsr Wire range ( %12 ): 24-12AWG {225 Sol/st
PCB hole Dia(PCB E% ): ®2.4-2.6mm PCB hole Dia(PCB BE{2 ): ®1.6mm PCB hole Dia(PCB B2 ): ®1.6mm
Screw ( $84% ): M3.5 Screw ( 1842 ): M3 Screw (18%2 ): M3
#5 Part Number #15 Part Number #5 Part Number
tR#L (Poles) #1S (Model) 1R% (Poles) 5 (Model) 1R#x (Poles) S (Model)
02 TL401V-02P 02 TL402V-02P(TL502V-02P) 02 TL402R-02P(TL502R-02P)
24 TL401V-24P 24 TL402V-24P(TL502V-24P) 24 TL402R-24P(TL502R-24P)
TL403V(TL503V) TL403R(TL503R) TL414V
-—— - - -"u o i
y =" : = |
. 17 II l. ) i __.-' T
-».. - Sty -_—_-_'l-l- s -
L=7.50XP L=T.50XP
[7.62XP) [762XP)
A=T50X(P-1) 375 A=T50X(P-1) 375] 7.50x P

0, (SXPl 551
(1.62)

E=at
=
=

on| =
‘Skﬁ
1720

110 (r
(
750(7.62)
ATS0XP-1H/(7.62X(P-1)

L=T.50XP/(762XP)

750, (62XP- 361

-
=B
=4
@ I
D

=
o
18.00

155

¢ 9
‘75&(7 |
N A=150X[P-11/17.62X(P-1))

L=1.50XP/(762XP)

HEE

=
o
dd Lo o

) 25 A=6.35x(P—1) N A=6.35x(P-1) 750
=635 & L=As635 ol
A=635x(P-1) Sf-’/ $140-9150
i - =l 1] :
& ol 9 ] sl [+ o,,oﬂ_g
i é ) = 3175
i il 635
- Lig 05 | 23 gase — (217 A=6.35(P-1)
AR YR Technical data A IR Technical data AR YR Technical data
Pitch ( [B]EE ): 5.08mm Pitch ( [8]8E ): 6.35mm Pitch ( [8]EE ): 6.35mm
Approval (TAIE ): A VDE(Applying) Approval (IAIE ): A Approval (IAIE ): A VDE(Applying)
Rated voltage ( B JE ): 300V 320V Rated voltage ( B JE ): 300V 630V Rated voltage ( BB JE ): 300V 630V
Rated current ( B3% ): 20A 24A Rated current ( B3 ): 30A 32A Rated current ( B85 ): 30A 32A
Wire range ( 412 ): 30-12AWG  0.2-2.5mm’ Wire range ( %1% ): 26-10AWG 3% 4mm Wire range ( 412 ): 28-10AWG 33 imm sollst

PCB hole Dia(PCB B 1% ): ®1.60mm PCB hole Dia(PCB H1% ): ®1.6-1.7mm PCB hole Dia(PCB H1% ): ®1.4-1.5mm
Screw ( 4842 ): M3 Screw (1842 ): M3.0 Screw ( #8#2 ): M3.0

#5 Part Number #5 Part Number #5 Part Number

%% (Poles) A5 (Model) R (Poles) #IS (Model) %% (Poles) A (Model)
02 TL334-02P 02 TL901V-02P 02 TL916-02P
24 TL334-24P 24 TLOO1V-24P 24 TL916-24P

AR Technical data AR EHR Technical data A IR Technical data

Pitch ( j8]EE ): 7.50mm(7.62mm) Pitch ( [a]%E ): 7.50mm(7.62mm) Pitch ( [a12E ): 7.50mm
Approval (IAIE ): s Approval (IAIE ): R~ Approval (AIE ): A

Rated voltage ( HJE ): 300V Rated voltage ( BBJE ): 300V Rated voltage ( BBJE ): 300V

Rated current ( 3% ): 28A Rated current ( B35 ): 28A Rated current ( 3% ): 20A

Wire range ( %12 ): 28-10AWG Wire range ( %12 ): 28-10AWG Wire range ( %412 ): 24-12AWG
PCB hole Dia(PCB &1% ): ®1.5-1.7mm PCB hole Dia(PCB H1% ): ®1.5-01.7mm PCB hole Dia(PCB H1% ): ®1.5-1.7mm
Screw ( #842): M3 Screw (1242 ). M3 Screw (1242 ) M2.5

#S Part Number #5 Part Number #5 Part Number

1RE (Poles) A5 (Model) B3 (Poles) A5 (Model) B3 (Poles) A5 (Model)
02 TL403V-02P(TL503V-02P) 02 TL403R-02P(TL503R-02P) 02 TL414V-02P
24 TL403V-24P(TL503V-24P) 24 TL403R-24P(TL503R-24P) 16 TL414V-16P

68 www.tielee.com %

f;‘-‘ www.tielee.com 69



TL SERIES - Raising Clamp PCB Screw Terminal Block

1509001 15045001

15014001 IATF16949

Al Y C€ @ @

TL SERIES - Raising Clamp PCB Screw Terminal Block

1509001 15045001

15014001 IATF16949

c‘i“us‘i“CG@@

TL802

5
=
it

L

A=10.16x(P-1)
L=10.16xP

9150

4 4 (l 4+ ¢ 4

TL802H
—
T
e
[
075 I I
0
10 j
A=t0.6x(P-1
L=10.16xP

2160

320

+ &))«» 4+ 4

+ e+ e
I

10.16,
2200

TL802HS

10

-
I
]

A=12.10x(P-1)
L=12.10xP-254

12.10

$160

+ \»))«»

+ &\’\ T

pu!
p
\

TL414V-1511 TL414R TL506V
- -
i, — G -
= S Pt
e W - i
1 e |\_ i . l i
F] II .-
1500 A L=A+T.62
1 ) 381 A=T62XIP-1) 250
By o 550
(== == | 2160 s/ 2 i L2
]é%ﬁé%[ - 2-pin holes™ L] =S ]
== AIA Ay OO =
3-pegs holes 37 150 A =
s ‘:SD; W 1060 32
L=A+150
I I 0 080 |
= _ L 4,60
@ @ = /7 381 _A=T62x(P-1, | il
1k EENERERE E
i sE A
150 <
2 375 A=1504(P-1) 8160 1
A ¥4R Technical data A B4R Technical data KA YR Technical data
Pitch ( [a]E ): 7.50mm Pitch ( [8]8E ): 7.50mm Pitch ( [8]EE ): 7.62mm
Approval (AL ): A Approval (IAIE ): AV Approval (IAIE ): AN
Rated voltage ( BJE ): 300V Rated voltage ( BJE ): 300V Rated voltage ( BJE ): 300V 630V
Rated current ( B37% ): 20A Rated current ( B3 ): 20A Rated current ( B85} ): 30A 32A
Wire range ( %12 ): 24-12AWG Wire range ( %412 ): 24-12AWG Wire range ( %12 ): 26-10AWG 4.0mm?
Screw ( 1842 ): M3 Screw ( 1842 ): M2.5 PCB hole Dia(PCB Ef2): ®1.6mm
Screw ( #842 ): M3
#5 Part Number #5 Part Number #1S Part Number
%% (Poles) 5 (Model) %% (Poles) 5 (Model) R (Poles) 5 (Model)
02 TL414V-1511-02P-02P 02 TL414R-02P 02 TL506V-02P
16 TL414R-16P 24 TL506V-24P
TL606V TL616 TL800

m-"-"-"-ﬁ'

||

9.62xP

_12.50

21.50

7T

5.00)

4.62 A=9.52x(P-1) -=§; | 080 508
1:A+957
< 1) 140-6150 fl
El T T\;O R S|+ T” + /1 5 . Kﬂoﬂ o G—E{
552 LA = - Sziqszxrp—u M/\/ i ?—
- 4.76 [ fse
A ¥4 Technical data H AR R Technical data K H# Technical data
Pitch ( [a]EE ): 9.52mm Pitch ( [a1EE ): 9.52mm Pitch ( [a]EE ): 10.16mm
Approval (TAIE ): s Approval ( TAIE ): A VDE(Applying) Approval ( IAILE ): AN
Rated voltage (% ): 300V 1000V Rated voltage ( BB E ): 300V 1000V Rated voltage (B [% ) : 300V
Rated current (83 ):  30A 32A Rated current ( B33 ): 30A 32A Rated current ( B3 ): 50A
Wire range ( %1% ): 26-10AWG 0.2-6.0mm’ Wire range ( %1% ): 28—10AWG  3Zmm sol/s Wire range ( %1% ): 22-6AWG
PCB hole Dia(PCB Ef&): ®1.5-1.7mm PCB hole Dia(PCB &1% ): ®1.4-1.5mm PCB hole Dia(PCB &1% ): ®2.2mm
Screw (4842 ): M3 Screw (1842 ): M3.0 Screw (1842 ) M4
#1S Part Number #1S Part Number #1S Part Number
1R%% (Poles) S (Model) 1R%% (Poles) A5 (Model) %% (Poles) A5 (Model)
02 TL606V-02P 02 TL616-02P 02 TL800-02P
24 TL606V-24P 24 TL616-24P 12 TL8OO-12P

I
10.16 5.08 12.10 5.08
e Act0tp-1) % A:uzwnku—ci
AR Technical data AR Technical data AR Technical data
Pitch ( [E]2E ): 10.16mm Pitch ( [8]EE ): 10.16mm Pitch ( J81EE ): 12.70mm
Approval ( TAIE ): A Approval ( TAIE ): A Approval (IAIE ): A
Rated voltage ( B JE ): 300V 630V Rated voltage ( & ): 300V 630V Rated voltage ( BBJE ): 600V 1000V
Rated current ( B83% ): 65A 76A Rated current ( BB37% ): 65A 76A Rated current ( B83# ): 65A 76A
Wire range ( %1% ): 20-6AWG  0.5-16mm° Wire range ( %1% ): 20-6AWG  0.5-16mm° Wire range ( %1% ): 20-6AWG  0.5-16mm*
PCB hole Dia(PCB E1# ): ®1.6mm PCB hole Dia(PCB Ef# ): O 1.6mm PCB hole Dia(PCB &1% ): ®1.6mm
Screw (#8242 ): M4 Screw (#842): M4 Screw ( $84 ): M4
#1S Part Number #1S Part Number #1S Part Number
&% (Poles) #1S (Model) &% (Poles) #IS (Model) #R#x (Poles) S (Model)
02 TL802-02P 02 TL802H-02P 02 TL802HS-02P
16 TL802-16P 16 TL802H-16P 16 TL802HS-16P
TL804 TL804S TL804S2
— —— B P -_ -
I nn !
| . A [
\ I g
-0-
. % — T "
OB %%u % s ) i T T %
W e T S !
‘u%‘ *u'% T % T
LALE N LU L LN AL L L
A=N.16X(P-1) LM A=T0X(P-1) Lﬂ 1 A=1526X(P-1) Luon
L=10.16XP L=A+10.16 L=A+10.16
§L 38 8150 ?L o 378, 150 El, 3 6150
Ty WEe Jree W 6 Co & N %
™11 1 AR
we] me [ o ] LM | Luuo
L4015 LT5 L4015
% K %148 Technical data H AR R Technical data KB Technical data
Pitch ( [a]EE ): 10.16mm Pitch ( a1EE ): 12.70mm Pitch ( [a]EE ): 15.24mm
Approval (iAE ): Al Approval (TAIE ): Al Approval (TAIE ): Al
Rated voltage ( BB[% ): 600V 1000V Rated voltage (B JE ): 600V 1000V Rated voltage ( BB [% ): 600V 1000V
Rated current ( B3 ): 65A 76A Rated current (237 ): 65A 76A Rated current ( B85 ): 65A 76A
Wire range ( 412 ): 20-6AWG  0.5-16mm’ Wire range ( %1% ): 20-B6AWG 0.5-16mm? Wire range ( 413 ): 20-6AWG  0.5-16mm°
PCB hole Dia(PCB E1% ): ®1.5mm PCB hole Dia(PCB &1% ): ®1.5mm PCB hole Dia(PCB H1% ): ®1.5mm
Screw (1842 ). M4 Screw ( #842): M4 Screw (1242 ). M4
#1S Part Number #1S Part Number #1S Part Number
%% (Poles) S (Model) 1R%% (Poles) S (Model) %% (Poles) S (Model)
02 TL804-02P 02 TL804S-02P 02 TL804S2-02P
16 TL804-16P 16 TL804S-16P 16 TL804S2-16P

70 www.tielee.com %

f;‘-‘ www.tielee.com 71



1809001 15045001 @
15014001 IATF16949

TL SERIES - Raising Clamp PCB Screw Terminal Block TL SERIES - Raising Clamp PCB Screw Terminal Block Eoriee: torresis @ s N CE & @

TL905 TL903 TL903M TLD200(TLD300) TLD201(TLD301) TL324V
- _
pp—— pp— — B

Pt

0.50_ _L=5.00xP/2 L=U+2.50 Sl
o B e e e B [=5.08+P/2 s ] SIS
s s s o ’/:= ] 1 \1 I -
1) 7 S A oo S
i = g HEJEEE
SEHISENIS sxlliaxlizxllizx L=U+250 LAV
=== = . 500 | ] 250 Il =
o | i R el el Sy 052l NENIE]
— - - D P A@ﬁw% ! T, U5 08(P/2) 1830 ) o
51 et t0xlp-1) 2 L5000 " = AL‘E‘E%E;F'P“ 1 . A=5.08¢/P-1) 5
Lr‘:DXP -, 2B s B - - El 15.00x(P/2-1) = [EmEal LS8
1 i oo — ol o —elo e T Mgl 5.08x(P/2-1) & = AS084P-1)
RERA ) e T 70| sw ps O = S U D
i i It 5% 508 254 06 | | 620 / ooy =
[ ] TR Em A=5.00x(P/2-1) 125 B
. L 1500 oL C B0 A=5.08x(P/2-1] #14-015
A ¥4 Technical data A B4R Technical data AL Technical data AL Technical data KA YR Technical data AR Technical data
Pitch ( J81EE ): 12.00mm Pitch ( [a]EE ): 15.00mm Pitch ( [a]EE ): 15.00mm Pitch ( 8]EE ): 5.00mm(5.08mm) Pitch ( [a]E ): 5.00mm(5.08mm) Pitch ( [81EE ): 5.08mm
Approval (IAIE ): AV VDE(Applying) Approval (IAIE ): A Approval (IAIE ): Al Approval (IAIE ): AV Approval (AL ): .\ Approval (TAIE ): AV
Rated voltage ( BBJE ): 600V 1000V Rated voltage ( BJE ): 600V 1000V Rated voltage ( BJE ): 600V 1000V Rated voltage ( BBJE ): 300V Rated voltage ( BJE ): 300V 320V Rated voltage ( BB JE ): 300V
Rated current ( B3 ): 85A 101A Rated current ( B3 ): 120A 125A Rated current ( 3% ): 120A 125A Rated current ( B83# ): 10A Rated current ( 3% ): 10A 14A Rated current ( BB ): 25A
Wire range ( %1% ): 20-4AWG  0.5-25mm’ Wire range ( %% ): 20-2AWG 0.5-35mm? Wire range ( %1% ): 20-2AWG 0.5-35mm? Wire range ( 412 ): 30-14AWG Wire range ( 412 ): 30-14AWG Wire range ( %1% ): 28-10AWG
PCB hole Dia(PCB &1% ): ®2.40mm PCB hole Dia(PCB &1% ): ®1.8mm-®1.9mm PCB hole Dia(PCB E% ): ®1.8mm-1.9mm PCB hole Dia(PCB &1% ): ®1.4-1.5mm PCB hole Dia(PCB EfZ): ®1.4-1.5mm PCB hole Dia(PCB &1% ): ®1.4-1.5mm
Screw ( $842): M5 Screw ( #8%2): M5 Screw ( #24% ): M5 Screw ( $84): M3 Screw ( 1842 ): M3 Screw ( $842): M3
#15 Part Number #15 Part Number #5 Part Number #15 Part Number #15 Part Number #15 Part Number
& (Poles) FI2 (Model) & (Poles) A2 (Model) FRE (Poles) A2 (Model) & (Poles) 72 (Model) &K (Poles) A2 (Model) & (Poles) FI2 (Model)
02 TL905-02P 02 TL903-02P 02 TL903M-02P 04 TLD200-04P(TLD300-04P) 04 TLD201-04P(TLD301-04P) 02 TL324V-02P
16 TL905-16P 12 TL903-12P 10 TLO903M-10P 48 TLD200-48P(TLD300-48P) 48 TLD201-48P(TLD301-48P) 24 TL324V-24P
TL903ML TL903MR TLD001(TLD100) TL324VM TL324VH TL324VM2
. — ..
: S aoniil
= =
A
! | T
“ T
] ¥
e Y e e N e B e e e e 338?;2@:117950 i i
16.30 [ [
=li==i= ==l ==di==]== - A z EHQ] g
A é = Jg : i g 3
! AB B0 AB 1500 f s (T30 § [@] [@H@H@H@] !
5 A=15.00XIP-1) 56 A=15.00X(P-1} 3100
15.00 L=15.00XP L=15.00XP 1500 il il S il il |l il § 0.90
350, R s El El 2 $180-0190 <950, 208 a“l_ = ‘SEE_? WUUWUEU i 246 221;2&
- o 1T 1 =200 00
iL ‘ ot EI gI i ‘ EI 5 Aéz?s(sﬁ 060 ALZSAV'B”!;/ZI
@ﬁ} el o el g g brele—sfe-tole-—aho ‘ &ﬂ —— : A:SDE‘x(P—U‘ : ‘ El 7 _
it i —I¥8 & o—b—o 508 030 g 5,08,
e sl 274 “le 060 i Polse] | o= A5 0841 - 444
1500 L . 50 © 0 o™ o F = = 060 L:A4508 T T T oests
AR Technical data AR EIR Technical data # A ¥4} Technical data # A ¥4} Technical data A ¥R Technical data # A ¥4 Technical data
Pitch ( [&]%E ): 15.00mm Pitch ( [a]%E ): 15.00mm Pitch ( [8]%E ): 3.50mm(3.81mm) Pitch ( [8]EE ): 5.08mm Pitch ( [a]E ): 5.08mm Pitch ( [81EE ): 5.08mm
Approval (TAIE ): B\ Approval (TAIE ): A Approval (IAIE ): A Approval (A ): A Approval (TAIE ): AV Approval (IAIE ): AV
Rated voltage ( BB [% ): 600V 1000V Rated voltage ( BB J% ): 600V 1000V Rated voltage ( BBJE ): 300V Rated voltage ( BBJE ): 300V Rated voltage (".Ji): 300V Rated voltage ( HJE ): 300V
Rated current ( B3k ): 120A 125A Rated current ( B3k ): 120A 125A Rated current ( 3% ): 10A Rated current ( B83f ): 25A Rated current ( 3% ): 25A Rated current ( BB ): 25A
Wire range ( %412 ): 20-2AWG 0.5-35mm* Wire range ( %12 ): 20-2AWG 0.5-35mm?* Wire range ( %1% ): 22-14AWG Wire range ( %1% ): 28-10AWG Wire range ( %1% ): 28-10AWG Wire range ( %1% ): 28-10AWG
PCB hole Dia(PCB E1% ): ®1.8mm-1.9mm PCB hole Dia(PCB H1% ): ®1.8mm-1.9mm PCB hole Dia(PCB E% ): ®1.2-1.4mm PCB hole Dia(PCB H1% ): ®1.4-1.5mm PCB hole Dia(PCB H1% ): ®1.4-1.5mm PCB hole Dia(PCB #1% ): ®1.4-1.5mm
Screw ( 4842 ): M5 Screw ( 4842 ): M5 Screw ( #84% ): M2 Screw (184 ): M3 Screw ( 1842 ): M3 Screw (12%2 ): M3
#1S Part Number #lS Part Number #5 Part Number #18 Part Number #1-S Part Number #1S Part Number
%% (Poles) S (Model) %% (Poles) #5 (Model) k& (Poles) S (Model) &% (Poles) A5 (Model) &% (Poles) S (Model) &% (Poles) S (Model)
01 TL9O3ML-01P 01 TL9O3MR-01P 04 TLDOO01-04P(TLD100-04P) 02 TL324VM-02P 02 TL324VH-02P 04 TL324VM2-04P
10 TL9O3ML-10P 10 TL9O3MR-10P 48 TLD0O01-48P(TLD100-48P) 24 TL324VM-24P 24 TL324VH-24P 48 TL324VM2-48P

72 www.tielee.com %

f;‘-‘ www.tielee.com 73



TL SERIES - Raising Clamp PCB Screw Terminal Block

TL324VH2

FLLAL

508 090

A=5.08x{P/2-1)

L=A+5.08

TL324VH3

| —
BEENE
BRI Ie

A5.08x(P/3-1)
L=A+5.08

1800

1509001 15045001

15014001 IATF16949 I:N‘Us N c € @ @ \

TL332VM

19.10

L=5.08xP

405

A=5.08x(P-1)

|
Mo $ /e o108

254 5.08

TL SERIES - Raising Clamp PCB Screw Terminal Block

TL338VM

TL338VH

1509001 15045001

18014001 IATF16949 c“us N c € @ @

H

TL338VM2L

guEE

KA EIE Technical data

AR IR Technical data

A EIE Technical data

L=A+5.08 L=5.08xP 116 L=A+5.08 254 2164
7r - ‘“—j
Y —
< EBEE i )
™ ‘M R - :l
/ I P
UE “‘ l mns T INT
254 1 UL 5002
o 1.00 ;ﬂﬂ% 254 012{[;] [A=5 08P/ 2-1) s 250
Astp-y| LAy ASIBP-1)] 140 = FBHR | 0
il 7 o\6 & —r i\ s \\\\ N
i . ‘::3 I T o EE L s160
W 2= 2T F\// 4 g T\ i
255408 = 5. 25|
- A=5.08x(P-1 5.08
A=5.08+(P-1) W ey
AR EHR Technical data A IR Technical data AR YR Technical data
Pitch ( [B]EE ): 5.08mm Pitch ( [E)BE ): 5.08mm Pitch ( j&]3E ): 5.08mm
Approval (IAIE ): s VDE(Applying) Approval (IAIE ): oA VDE(Applying) Approval (IAIE ): A VDE(Applying)
Rated voltage ( BB[E ): 300V 320V Rated voltage ( B JE ): 300V 320V Rated voltage ( BJE ): 300V 320V
Rated current ( B3 ): 20A 24A Rated current ( B3 ): 20A 24A Rated current ( 3% ): 20A 18A
Wire range ( 412 ): 28-12AWG  0.2-2.5mm? Wire range ( %1% ): 28-12AWG  0.2-2.5mm’ Wire range ( %1% ): 28-12AWG  0.2-2.5mm’
Screw (1242 ) M3 Screw (#1842 ): M3.0 Screw ( 8% ): M3.0

#S Part Number

#1S Part Number

#5 Part Number

&L (Poles) A5 (Model) #RE (Poles) E1S (Model) &% (Poles) A5 (Model)
02 TL338VM-02P 02 TL338VH-02P 04 TL338VM2L-04P
é4 .TL338V|\/|—24F’ -24 ;fL338VH—24P .48 ;l'L338V|\/|2L—48P
TL338VM2R TL338VH2L TL338VH2R
e o —— :'f-
. LA TLL
L
wuw it TN

2164

T mml

L=A+5.08 254

2280

254 L=A+5.08 -

22.80

 S—)
| m L -
Py R i o g il 3 W
s YUY w0 t il
508 oo 080 0\
S0P/, b0 52 ] 160 w0 Lt . 100 i
254 L=A+5.08 ASGBP/]| - o160 oLzAsS.08, Astep-)| =) <LzAS08_ 9160
oo 47 T o 25 “‘Qﬁ’—gﬁ g;ﬁ'a’:/’ 25
2160 7 = 160 o b B W 160
&, r
AN . 508 254 8
1254 254 5.08
5.08 (ELE) A5 0812
AR IR Technical data A B4R Technical data A IR Technical data
Pitch ( /8186 ): 5.08mm Pitch ( 18]EE ): 5.08mm Pitch ( [8]EE ): 5.08mm
Approval ( TAIE ): AN VDE(Applying) Approval (IAIE ): B \YS VDE(Applying) Approval ( TAIE ): A VDE(Applying)
Rated voltage ( % ): 300V 320V Rated voltage ( BB [% ): 300V 320V Rated voltage ( % ): 300V 320V
Rated current ( B35 ): 20A 18A Rated current ( B85 ): 20A 18A Rated current (37 ): 20A 18A
Wire range ( %1% ): 28-12AWG  0.2-2.5mm’* Wire range ( 412 ): 28-12AWG  0.2-2.5mm’ Wire range ( %1% ): 28-12AWG  0.2-2.5mm’
Screw (#842 ): M3.0 Screw (1242 ). M3.0 Screw (4842 ): M3.0

#1S Part Number

#1S Part Number

#1S Part Number

Pitch ( a1EE ): 5.08mm Pitch ( [a]#E ): 5.08mm Pitch ( [a)#E ): 5.08mm
Approval ( TAIE ): A-\e Approval (IAIE ): A Approval (TAIE ): AN
Rated voltage (B JE ): 300V Rated voltage ( BB [% ): 300V Rated voltage ( BB [% ): 300V 320V
Rated current ( 3% ): 25A Rated current ( B83% ): 25A Rated current ( B83% ): 12A 14A
Wire range ( %1% ): 28-10AWG Wire range ( %1% ): 28-10AWG Wire range ( %12 ): 30-14AWG  0.2-1.5mm’
PCB hole Dia(PCB B ): ®1.4-1.5mm PCB holeDia(PCB &1z ): ®1.4-1.5mm Screw (#8242 ): M3
Screw (#842): M3.0 Screw (4842 ): M3.0
#1S Part Number #S Part Number #1S Part Number
1R%% (Poles) S (Model) %% (Poles) S (Model) 1R%L (Poles) £S5 (Model)
04 TL324VH2-04P 06 TL324VH3-06P 02 TL332VM-02P
48 TL324VH2-48P 72 TL324VH3-72P 24 TL332VM-24P
TL332VH2 TL332VH3 TL338V
- - -
- - - =t T
g8ey .
' P
- ‘
254 1A+5.08 1985 L=A5.08
= i g ) f T
2.54 $U U 100 -
i | 050 508 =
254 A=5.08x(P-1)
. L=As508
#160 | \ S
o, & 21@ o ;_[
23t 5.08
A=5.08x(P-1
# A ¥4 Technical data A B4R Technical data KA YR Technical data
Pitch ( J81EE ): 5.08mm Pitch ( [a]EE ): 5.08mm Pitch ( [&]EE ): 5.08mm
Approval (A ): A VDE(Applying) Approval (TAIE ): A VDE(Applying) Approval (IAIE ): A VDE(Applying)
Rated voltage ( BBJE ): 300V 320V Rated voltage ( BJE ): 300V 320V Rated voltage ( BJE ): 300V 320V
Rated current ( B3 ): 12A 10A Rated current ( 3% ): 12A 10A Rated current ( 3% ): 20A 24A
Wire range ( %12 ): 30-14AWG  0.2-1.5mm’ Wire range ( %12 ): 30-14AWG  0.2-1.5mm? Wire range ( %12 ): 28-12AWG  0.2-2.5mm?
Screw ( $8# ): M3 Screw ( 1842 ): M3 Screw ( #84% ): M3
#15 Part Number #5 Part Number #5 Part Number
&% (Poles) A5 (Model) &% (Poles) #5 (Model) k% (Poles) #15 (Model)
04 TL332VH2-04P 06 TL332VH3-06P 02 TL338V-02P
48 TL332VH2-48P 72 TL332VH3-72P 24 TL338V-24P

1R%x (Poles) S (Model) %% (Poles) S (Model) 1R%% (Poles) S (Model)
04 TL338VM2R-04P 04 TL338VH2L-04P 04 TL338VH2R-04P
48 TL338VM2R-48P 48 TL338VH2L-48P 48 TL338VH2R-48P

74 www.tielee.com %

f;‘-‘ www.tielee.com 75



TL SERIES - Raising Clamp PCB Screw Terminal Block

TL338VH3L

36.60

3180

350

080

080
1524 _|107]] 160

TL338VH3R

VIV 554
100 o
SIPBY| g1 0

1509001 15045001

15014001 IATF16949 c“‘us N c€ @ (S: c?c

350

080 080 080

TLB21-001

LLL

2000

(]
hag
(]
(]

f“’ = L-As508 #1524 _| 1015 ][ 160 VLY Umu
"3] 254 254 W < 200
2 ‘i} e 9160 9160 s =
3 9160 4160 !
=i Dot 2
e | g 5
lksabiei ) lsiopig | 254
AR YR Technical data A IR Technical data AR Technical data
Pitch ( [&]%E ): 5.08mm Pitch ( [a]EE ): 5.08mm Pitch ( [&]%E ): 2.0mm. 5.08mm
Approval (IAIE ): AN VDE(Applying) Approval (TAIE ): AV VDE(Applying) Rated voltage ( BB JE ): 50V
Rated voltage ( BB JE ): 300V 320V Rated voltage ( % ): 300V 320V Rated current (S.S): 10A/3A
Rated current ( B35 ): 20A 18A Rated current ( B33 ): 20A 18A Wire range ( %12 ): 26-16AWG

Wire range ( %1% ):

28-12AWG  0.2-2.5mm’

Wire range ( %12 ):

28-12AWG  0.2-2.5mm’

PCB hole Dia(PCB B ):

®1.4-1.5mm/® 1.0mm

Screw ( #8#2 ): M3.0 Screw (#1242 ): M3.0 Screw (484 ): M2.5
#5 Part Number #5 Part Number #5 Part Number
%% (Poles) A5 (Model) R (Poles) AIS (Model) &% (Poles) A5 (Model)
06 TL338VH3L-06P 06 TL338VH3R-06P - TLB21-001
72 TL338VH3L-72P 72 TL338VH3R-72P

TLB21-003

o ———

20.00

8.60

15.00

A 12

210

=T

i

|

'H.Tpﬂ, i

25,

03
20.00

9100

2525 50

25]25]2

[* S soud
2 - &--9-———
s 51253

A IR Technical data

Pitch ( [E)8E ):

2.50mm. 5.0mm

Rated voltage ( B JE ): 150V

Rated current ( B33 ): 15A/5A

Wire range ( %1% ): 26-14AWG

PCB hole Dia(PCB &Ef2):  ®1.4-1.5mm/®1.0mm
Screw (#2842 ): M3.0

#1S Part Number

% (Poles) S (Model)

- TLB21-003

76 www.tielee.com ‘%E:

? www.tielee.com 77



How to order

MO D0 CONVR - D000 -d0 PO -0

78 www.tielee.com %

Color: M=Gray, G(G12)=Green
5=Double pitch, None=Standard pitch

Poles
Special code

C=Long pin near to side cover, D=Short pin near to side cover, V=180°, R=90°

Series number

Pitch: 0=3.50, 1=3.81, 2=5.00, 3=5.08, 4=7.50, 5=7.62, 6=9.52, 7=10.00, 8=10.16, 9=2.54

TLM SERIES - PCB Spring Terminal Block

TLM-004VT-3.50(TLM-004VT-3.81)

"\l |

S0, 080

_{on] B8 pasonp-n

A-380P-1)
LAk 20

S—

550 140
780

[t

o ollg o o

350 2110
_ 2|38 A
L

4 $$ & $*EI
T

SR Ee Ml AN CE & & @

TLM-004VT-5.00(TLM-004VT-5.08)

1A=5.08X(P-1I)
LzAet20

114,00 Mox]
2

E

b m—

00 550 140
[ 5% asoonp-p 180

® @ {e o

550
840

s gllo o

500 s110
T T

L

140

TLM-004VT-7.62

8

160
210 A=162XIP-1}

LoArh20

(1,00 Max|
1720

AR Technical data

B ARER Technical data

AR ER Technical data

Pitch ( [a]EE ): 3.50mm(3.81mm) Pitch ( [8]BE ): 5.00mm(5.08mm) Pitch ( [&]5E ): 7.62mm

Approval (TAIE ): s & Approval (TAIE ): A & Approval ( TAIE ): A &
Rated voltage ( HJE ): 300V 160V Rated voltage ( B[ ): 300V 320V Rated voltage (EE[% ): 300V 630V
Rated current ( B35 ): 12A 17.5A Rated current (B85 ): 12A 17.5A Rated current (B85 ):  12A 17.5A

Wire range ( %1% ):

28-16AWG 0.2-1.5mm’

Wire range ( 412 ):

28-16AWG  0.2-1.5mm®

Wire range ( 412 ):

28-16AWG  0.2-1.5mm®

PCB holeDia(PCB E1% ):

®1.1mm

PCB holeDia(PCB &12 ):

O1.1mm

PCB holeDia(PCB B2 ):

O1.1mm

S Part Number

#1S Part Number

#1S Part Number

3 (Poles) #JS (Model) %% (Poles) #S (Model) R (Poles) S (Model)
02 TLM-004VT-3.50-02P(TLM-004VT-3.81-02P) 02 TLM-004VT-5.00-02P(TLM-004VT-5.08-02P) 02 TLM-004VT-7.62-02P
24 TLM-004VT-3.50-24P(TLM-004VT-3.81-24P) 24 TLM-004VT-5.00-24P(TLM-004VT-5.08-24P) 16 TLM-004VT-7.62-16P
TLM-004RT-3.50(TLM-004RT-3.81) TLM-004RT-5.00(TLM-004RT-5.08) TLM-004RT-7.62 THR
L=A+4.20 L L=A+4.20 L L=Asb20
__w A=3S0K(P-1] 2 | A - 210 A=500X(P-11 2 A K i
T = - 00K 2 o _ o AT2X(P-1 2 | A s
o B 'l s - J j 162 o0 s om0 | J
7{ -4 m m i b— - 7{ Fo-—-&—-¢
S e ‘,‘, §Jg I I \\\\ E:Ie \‘\‘ E:I o
1 1 1 1 MaRARIE | eyt e
it AL H I ’\’
8.40 840 840
i i ‘i; //jri' i v
ey ey J E J E Bl
UL U :’L ""j innimninninbin o °
N 1 A ]
o = | | i | - =
NS — H_.T_, L u
C e Gl
350 | = =
# A ¥4 Technical data R ¥R Technical data A B Technical data
Pitch ( a1EE ): 3.50mm(3.81mm) Pitch ( [a]E ): 5.00mm(5.08mm) Pitch ( [a1EE ): 7.62mm
Approval ( IAIE ): Al Approval ( IAIE ): s Approval ( TAIE ): s
Rated voltage (FEJE): 300V 160V Rated voltage ( BB ): 300V 320V Rated voltage (FEJ£): 300V 630V
Rated current ( B35 ): 10A 17.5A Rated current ( B85k ): 12A 17.5A Rated current (3% ):  12A 17.5A

Wire range ( %1% ):

28-16AWG  0.2-1.5mm’

Wire range ( %412 ):

28-16AWG  0.2-1.5mm®

Wire range ( %1% ):

28-16AWG  0.2-1.5mm®

PCB hole Dia(PCB E1Z ):

O 1.1mm

PCB hole Dia(PCB & ):

D 1.1mm

PCB hole Dia(PCB B2 ):

D 1.1mm

#1S Part Number

#1S Part Number

#1S Part Number

1R%% (Poles) S (Model) %% (Poles) S (Model) 1R%% (Poles) S (Model)
02 TLM-004RT-3.50-02P(TLM-004RT-3.81-02P) 02 TLM-004RT-5.00-02P(TLM-004RT-5.08-02P) 02 TLM-004RT-7.62-02P
24 TLM-004RT-3.50-24P(TLM-004RT-3.81-24P) 24 TLM-004RT-5.00-24P(TLM-004RT-5.08-24P) 16 TLM-004RT-7.62-16P

f;‘-‘ www.tielee.com 79



TLM SERIES - PCB Spring Terminal Block

TLM-004AT-3.50(TLM-004AT-3.81)

1509001 15045001

18014001 IATF16949 L‘“‘Us N c € @ @

TLM-004AT-5.00(TLM-004AT-5.08)

12.70

TLM-004AT-7.62

TLM SERIES - PCB Spring Terminal Block

TLM-004RS-3.50(TLM-004RS-3.81)

LAk 2 m
_Jow AS3SOXP-1
38X 1)

-

350
381]

1325
14.40

1509001 15045001

18014001 IATF16949 c“xus “ c € @ @

TLM-004RS-5.00(TLM-004RS-5.08)

L=A+k20 L
_ A500K(P-1]
ogg ST
o500 " 080
1598 & &r

TLM-004RS-7.62

1325
1640

& & ®//® @‘:Fs \ = & @” & T =
o6 4 & oI ® P @ e-% °
350l i{\; M@ 5.00 ? | Ef 162 A\ ME
w | G 422 ; 2 S0 A \e120 0 | 120 -
L T ~
_ 2% 2%
= i S| % | | |
&"‘ E 3.50 035 E . g ih ﬁ ﬁ
5.00_{310° 3.10 - 080 X
710 210 @:J SOX(P-1) 5,00 20 ¢ M,LS 00X(P-1) 2 7’:{7 szxr:jﬂ
A= 6P-1 o e 20 21
L=A+4.20 L=A+4.20 L=A+4.20
H A BE Technical data HABE Technical data HABE Technical data
Pitch ( [E]EE ): 3.50mm(3.81mm) Pitch ( [B]8E ): 5.00mm(5.08mm) Pitch ( &)3E ): 7.62mm
Approval (AIE ): AV Approval (IAIE ): AV Approval (IAIE ): AV
Rated voltage ( B8JE ): 300V 160V Rated voltage ( B8JE ): 300V 320V Rated voltage (B[% ): 300V 630V
Rated current (B35 ): 12A 17.5A Rated current (B3 ): 12A 17.5A Rated current ( B3% ): 12A 17.5A
Wire range (412 ):  28-16AWG 0.2-1.5mm’ Wire range (412 ):  28-16AWG 0.2-1.5mm’ Wire range ( %1% ): 28-16AWG 0.2-1.5mm?
PCB hole Dia(PCB EfZ): ®1.2mm PCB hole Dia(PCB Ef2): ®1.2mm PCB hole Dia(PCB &1£ ): ®1.2mm
#1S Part Number #5 Part Number #5 Part Number
%% (Poles) 5 (Model) 1R% (Poles) A5 (Model) & (Poles) #-S (Model)
02 TLM-004AT-3.50-02P(TLM-004AT-3.81-02P) 02 TLM-004AT-5.00-02P(TLM-004AT-5.08-02P) 02 TLM-004AT-7.62-02P
24 TLM-004AT-3.50-24P(TLM-004AT-3.81-24P) 24 TLM-004AT-5.00-24P(TLM-004AT-5.08-24P) 16 TLM-004AT-7.62—-16P

TLM-004VS-3.50(TLM-004VS-3.81)

L=A+b.20

_ o AS3S0KP-1
(A=3.81xP-1I
080

e~

TLM-004VS-5.00(TLM-004VS-5.08)

LA 20
_fmw A5 00(P-1
TAS.08XP-1)

’.:5 ~ 080
IEDE]m m

I
A B4R Technical data A ¥4 Technical data A ¥4 Technical data
Pitch ( [a]E ): 3.50mm(3.81mm) Pitch ( a1EE ): 5.00mm(5.08mm) Pitch ( a1EE ): 7.62mm
Approval (TAIE ): A & Approval (TAILE ): A & Approval (TAIE ): A &
Rated voltage ( BB [% ): 300V 160V Rated voltage ( 8% ): 300V 320V Rated voltage ( B JE ): 300V 630V
Rated current ( B3 ): 12A 17.5A Rated current (B3 ): 12A 17.5A Rated current (837 ): 12A 17.5A
Wire range (#4412 ):  28-16AWG  0.2-1.5mm’ Wire range (442 ):  28-16AWG  0.2-1.5mm’ Wire range ( %1% ): 28-16AWG  0.2-1.5mm*
#5 Part Number S Part Number S Part Number
L& (Poles) A5 (Model) #RE (Poles) A5 (Model) & (Poles) A5 (Model)
02 TLM-004RS-3.50-02P(TLM-004RS-3.81-02P) 02 TLM-004RS-5.00-02P(TLM-004RS-5.08-02P) 02 TLM-004RS-7.62-02P
24 TLM-004RS-3.50-24P(TLM-004RS-3.81-24P) 24 TLM-004RS-5.00-24P(TLM-004RS-5.08-24P) 16 TLM-004RS-7.62-16P

TLM-004VS-7.62

L=A+b.20 L
210, A=162XP-1)
162

150

AR Technical data

AR R Technical data

A EIE Technical data

TLM-004AS-3.50(TLM-004AS-3.81)

a0 [ A

1210
|
==
==
%
T
1245

TLM-004AS-5.00(TLM-004AS-5.08)

210 A

27

12.45

TLM-004AS-7.62

- e — o

270

—
—
450
1245

Pitch ( [a]E ): 3.50mm(3.81mm)

Pitch ( [a1EE ): 5.00mm(5.08mm)

Pitch ( [a]#E ): 7.62mm

Approval ( IAIE ): s Approval ( TAIE ): Al Approval ( INIE ): s

Rated voltage (EB[&): 300V 320V Rated voltage (EEJ% ): 300V 320V Rated voltage (EB[&): 300V 630V

Rated current ( B3} ): 12A 17.5A Rated current (B3 ): 12A 17.5A Rated current (B83% ):  12A 17 5A

Wire range ( %412 ): 28-16AWG 0.2-1.5mm’ Wire range ( %1% ): 28-16AWG  0.2-1.5mm* Wire range ( %1% ): 28-16AWG 0.2-1.5mm?
#S Part Number #1S Part Number #1S Part Number

%% (Poles) S (Model) 1R%% (Poles) S (Model) 1R%L (Poles) S (Model)

02 TLM-004VS-3.50-02P(TLM-004VS-3.81-02P) 02 TLM-004VS-5.00-02P(TLM-004VS-5.08-02P) 02 TLM-004VS-7.62-02P

24 TLM-004VS-3.50-24P(TLM-004VS-3.81-24P) 24 TLM-004VS-5.00-24P(TLM-004VS-5.08-24P) 24 TLM-004VS-7.62-24P

80 www.tielee.com %

| ’/:%%\ _ 2%
Sy | e ERRS als
e G
\ Ly \_
7 B oo 253 5.06) e ki i o
s 10.50 3 - g 293 |
Ln L0 (:;?:;r(::;) 1;‘07?] L0 (:gzgis’;gl ﬁT 10.50 210 azoxp-) |
L-Avk20 1A%4.20 .70 L=A420
# A ¥4} Technical data R ¥R Technical data A B Technical data
Pitch ( a1EE ): 3.50mm(3.81mm) Pitch ( [a]E ): 5.00mm(5.08mm) Pitch ( [a1EE ): 7.62mm
Approval (TAIE ): s Approval (TAIE ): A Approval (IAIE ): s
Rated voltage (% ): 300V 160V Rated voltage ( B8 [% ): 300V 320V Rated voltage (FEJE): 300V 630V
Rated current ( B8t ): 12A 17.5A Rated current (3% ): 12A 17.5A Rated current (3% ):  12A 17.5A
Wire range (472 ):  28-16AWG 0.2-1.5mm’ Wire range (412 ):  28-16AWG 0.2-1.5mm’ Wire range ( %1% ): 28-16AWG 0.2-1.5mm’
#1S Part Number #1S Part Number #1S Part Number
1R%x (Poles) S (Model) %% (Poles) S (Model) 1R%% (Poles) S (Model)
02 TLM-004AS-3.50-02P(TLM-004AS-3.81-02P) 02 TLM-004AS-5.00-02P(TLM-004AS-5.08-02P) 02 TLM-004AS-7.62-02P
24 TLM-004AS-3.50-24P(TLM-004AS-3.81-24P) 24 TLM-004AS-5.00-24P(TLM-004AS-5.08-24P) 16 TLM-004AS-7.62-16P

f;‘-‘ www.tielee.com 81



1809001 15045001 @
15014001 IATF16949

Al Y C€ @ @

TLM SERIES - PCB Spring Terminal Block TLM SERIES - PCB Spring Terminal Block 15014001 INTF16919 s N CE & @

TLM-006-3.50 TLM-006-5.00 TLM-006A-3.81 TLM-212V TLM-212R TLM-212V-A175
1“““ “‘ e 3 = o e
t B T opil] oy, T2 L'.’ a i -
- -i ] T L i W
I [} i
I B mgpee L BT — : '1 . X
F‘ N vy | === o N
|
= y
== L= 3 1 ] o A L=A+4.90 L=As6.40
A P‘, s . < 1[Q a ( = 5 - [Zo et B [Sog, LAb40 AT50P-1
3 p 3o i = \ — 150 140 0 150 ol
Y W g S Q4 i (A2 1 f ) P o
(Ll _ 41 oS0 i ofeN\c/o = + Do oDD ] o T4
I U U U = U U U zg e 055 === @@@ e BB g /y 3
150 10 055 50| ‘ [_oss | Ty = @ @\\ @ @ o
3% A-350XP-1) (AN 3% ASI0XP-1) 570 1 As38IXP-1) 00 WS NW v WS MW [ \ g
LA 10.00 LAk 10 1000 LA 3 w0 | B Aspodpon 20 | B Aoy | 1350
o140 L0 — sl
QZ @ e S 2 | 0 | : #1D = %) = =g
& YD & P18 2 4 NamiE . Jde e o2 _ E\K | El
‘,‘,‘ 5 ‘ i R o ¢lie ¢ o & = |o slle 0 o1 T
5] 500 ri bl " 500 L wm %] 080 ‘t
3% A 235 A 215 A 3 3 ATS0P-1)
L L L ~
H A BE Technical data HABE Technical data HABE Technical data HAEIRE Technical data HABE Technical data H A BE Technical data
Pitch ( [B]8E ): 3.50mm Pitch ( [8]8E ): 5.00mm Pitch ( [8]BE ): 3.81mm Pitch ( [818E ): 5.00mm Pitch ( [B]BE ): 5.00mm Pitch ( [8]8E ): 10.00mm
Approval (TAIE ): A Approval (TAIE ): A Approval (TAIE ): A Approval (IAIE ): s Approval (TAIE ): oA Approval (IAIE ): A
Rated voltage ( BJE ): 300V 160V Rated voltage ( BJE ): 300V 320V Rated voltage ( BJE ): 300V 160V Rated voltage ( BBJE ): 300V 320V Rated voltage ( BBJE ): 300V 320V Rated voltage ( BJE ): 300V 320V
Rated current ( B3 ): 10A 17.5A Rated current ( B3 ): 10A 17.5A Rated current ( B3 ): 10A 17.5A Rated current ( B3 ): 20A 24A Rated current ( B3 ): 20A 24A Rated current ( B3% ): 20A 24A
Wire range ( 442 ): 26-16AWG  0.2-1.5mm? Wire range ( 412 ): 26-16AWG  0.2-1.5mm? Wire range ( 412 ): 26-16AWG  0.2-1.5mm? Wire range ( %12 ): 26-12AWG 9225 Wire range ( 412 ): 26-12AWG  §2;25m™ Wire range ( 412 ): 26-12AWG  9Z.25m
PCB hole Dia(PCB E% ): ®1.4mm PCB hole Dia(PCB EZ ): ®1.4mm PCB hole Dia(PCB EZ ): ®1.4mm PCB hole Dia(PCB &£ ): ®1.4mm
#15 Part Number #15 Part Number #1S Part Number #5 Part Number #15 Part Number #15 Part Number
1R (Poles) 15 (Model) %% (Poles) S (Model) 1R (Poles) S (Model) #R#x (Poles) 5 (Model) 1R% (Poles) A5 (Model) &% (Poles) #-S (Model)
02 TLM-006-3.50-02P 02 TLM-006-5.00-02P 02 TLM-006A-3.81-02P 01 TLM-212V-01P 01 TLM-212R-01P 02 TLM-212V-A175-02P
24 TLM-006-3.50-24P 16 TLM-006-5.00-16P 16 TLM-006A-3.81-16P 24 TLM-212V-24P 24 TLM-212R-24P 12 TLM-212V-A175-12P
TLM-006A-5.08 TLM-012V TLM-012R TLM-212R-A175 TLM-212V-9999 TLM-212R-9999
R o T e % =
, - u : - -
3 b | 1 J
] '. LU - - ] - - =
I BCERE muEs -:.I ~ = s 0
i ket - =
=t L=Asb 90 1350 L=Ast.90 Ao A e
& Ll _ _ 350 ey | 140 P 60 LeAsb0 A;;:,(ﬁpf% Lkt A:wtn‘;x?ﬂ) LA6GAD A:wéo’;x?;?} 140
},‘/‘ O[? g N OBEI =S 150 140 w 150 | e [T ™ 1 1000 s 1000 140 3 000
/ J=g5gys =5H5H \ T § ! L\ 4
i (< o 3 7 3 ELj )) e o Ve & ) o 5 4 ) °© ® i
mu N 7 055 ==l === h @ 3 ' g - 0 CJ 2 o g E /1
= 1 10 T 0 0 0 e \\l e ol o © @\\ ©| ° o e & \ @ @
25 A=S.08XP-1 00 350 080 ESOUL b \ ki A\
L=As531 » 125 1 A-350xP-1) 25 | GMJ g 125 | A=350xiP-1 1350
= L Y i
& $ & 1. 5 A 140 125 [ EM = =] =>) 8 ED\ 8
W g g o o 410 o
) T 568 15 &
o j};{:’ o ™ 150 w o m 0o __| J
5 “L 4 3 A=T504(P-1) A=N.004(P-1) A=10.004(P-1)
FAR IR Technical data A IR Technical data A IR Technical data AR Technical data KA YR Technical data A HHE Technical data
Pitch ( [a]E ): 5.08mm Pitch ( [a1EE ): 3.50mm Pitch ( [a]EE ): 3.50mm Pitch ( a1EE ): 10.00mm Pitch ( [a)#E ): 10.00mm Pitch ( [a]§E ): 10.00mm
Approval (NI ): Al Approval (AIE ): Al Approval (IAIE ): A Approval (TAIE ): Al Approval (IAIE ): Al Approval (IAIE ): Al
Rated voltage ( BB [% ): 300V 320V Rated voltage (% ): 300V 160V Rated voltage ( BB [% ): 300V 160V Rated voltage ( EJE ): 300V 320V Rated voltage ( BB [% ): 300V 320V Rated voltage ( BB [% ): 300V 320V
Rated current ( 3% ): 10A 17.5A Rated current ( B3 ): 10A 17.5A Rated current ( 3% ): 10A 17.5A Rated current ( B3 ): 20A 24A Rated current ( 3% ): 20A 24A Rated current ( 3% ): 20A 24A
Wire range ( 472 ): 26-16AWG ~ 0.2-1.5mm’ Wire range ( %1% ): 26-16AWG ~ 0.2-1.5mm? Wire range ( 412 ): 26-16AWG ~ 0.2-1.5mm? Wire range ( 412 ): 26-12AWG 9223 Wire range ( 412 ): 26-12AWG 9223 Wire range ( 412 ): 26-12AWG  92:25m™
PCB hole Dia(PCB H%): ®1.4mm PCB hole Dia(PCB &Ef% ): ®1.4mm PCB hole Dia(PCB E% ): ®1.4mm PCB hole Dia(PCB &Hf%): ®1.4mm
#S Part Number #1S Part Number #1S Part Number #1S Part Number #S Part Number #1S Part Number
&% (Poles) 2 (Model) #REL (Poles) A2 (Model) #RE (Poles) S (Model) R (Poles) #U-S (Model) REL (Poles) 2 (Model) #REL (Poles) S (Model)
02 TLM-006A-5.08-02P 01 TLM-012V-01P 01 TLM-012R-01P 02 TLM-212R-A175-02P 02 TLM-212V-9999-02P 02 TLM-212R-9999-02P
16 TLM-006A-5.08-16P 24 TLM-012V-24P 24 TLM-012R-24P 12 TLM-212R-A175-12P 12 TLM-212V-9999-12P 12 TLM-212R-9999-12P

82 www.tielee.com %

f;‘-‘ www.tielee.com 83



TLM SERIES - PCB Spring Terminal Block

1509001 15045001

15014001 IATF16949 c“‘us N c € @ @ \

TLM SERIES - PCB Spring Terminal Block

1509001 15045001

18014001 IATF16949 DNUS N c € @ @

TLM-404V

-

i

e,

TLM-404VA

i

TLM-404R

L=7.50xP+180 18.50 L=750xP+180 18.50 7.50xP+180
= 180 p— 1.80 180 ;&,‘
= = =
T & = B
i E Giiia . &
| (. 655 v ot o = j
e < 080
6.5 ) ss | L F T LLJ 170 «‘— ELTIN I J 1320 ||, 190
750 260 750 _ 7.50<(P-1)
L2 750xP+180
A=150x(P-1) L5080 A=750x(P-1] L2750+ 180 sl 150
655 A=750x(P-1) _ 1685 __AsIS0p-1 _ [ B 5
T [ 150 s o\[@ »\\é
I & ¢lle & ¢ o |- [lle e g 3 il L9210
Fal i " 1 3 = ~ & SO b
o olle o o oll__e
A B4R Technical data A ¥4 Technical data KA YR Technical data
Pitch ( j&)8E ): 7.50mm Pitch ( [EJ5E ): 7.50mm Pitch ( [8]BE ): 7.50mm
Approval (IAIE ): Al Approval (IAIE ): Al Approval (IAIE ): Al
Rated voltage ( /% ): 300V oo ey Rated voltage (BBJE): 600V 1000V Rated voltage ( B [E ): 300V i
Rated current ( B3} ): 40A 41A Rated current ( 83% ): 36A 41A Rated current ( B3 ): 40A 41A

Wire range ( 412 ):

=
24_8AWG 0.2-6ym sol /st

Wire range ( %442 ):

-
24-8AWG ?Ozmrengvsng‘ sol / str

Wire range ( %412 ):

——
24-8AWG 026y sol /si

S Part Number

#15 Part Number

#1S Part Number

TLM-704V TLM-704VA TLM-704R
e g i -
. ‘ mms
.o . L
~ o .
il i J %
e " ..-:1_-||.r"-'.' $ T =
270 - 10.00xP+180 29.00
;A | I Y I I EZo%
! § o] S|
250 100
100 B30 250 || 1500
1500
10.00xP+1.60 = 10.00xP+1.80 AL:1100 5007;*1”50 -
10.00x(P-1) 250 10.00x(P-1) =10.00x(P- Q
250__|[fB00 - 00 | o170 45 | foq
1 20 | Toe bea\vas &
o [ee0 oo pee ﬁyfg sl [ o s I 3
& i ;I D i 14 & | 300 004 pos |
250 I 250 i — A\ M
5.00 ET b 500 s oo "
AR Technical data A ¥4 Technical data A IR Technical data
Pitch ( [&]#E ): 10.00mm Pitch ( [a1EE ): 10.00mm Pitch ( [a]EE ): 10.00mm
Approval (IAIE ): A\ Approval (TAIE ): s Approval ( TAILE ): A
Rated voltage ( B JE ): 300V oo oy Rated voltage ( BB JE ): 600V 1000V Rated voltage ( B/E ): 300V oA apy
Rated current ( B3% ): 70A 76A Rated current (837 ): 66A 76A Rated current ( B3 ): 70A 76A
Wire range ( %1% ): 20-4AWG  0.75-16mm’ Wire range ( %1% ): 20-4AWG 0.75-16mm’ Wire range ( %1% ): 20-4AWG 0.75-16mm*
#1S Part Number S Part Number #5 Part Number
R (Poles) A5 (Model) #RE (Poles) A5 (Model) REL (Poles) A5 (Model)
01 TLM-704V-01P 02 TLM-704VA-02P 01 TLM-704R-01P
12 TLM-704V-12P 12 TLM-704VA-12P 12 TLM-704R-12P
TLM-704RA TLM-215A TLM-405A
o A
A=150x(P-1)
29.00 5.0x(P-1) 55 150
ﬁ 280 5.00 | i
Lo I \\
H% S| : & e‘a\}\/‘ea | o ole @
=) =~ = n
I g o | | I g
° N @‘\‘\e Pl ® ®
W\ IR L=750P-11+850

) 250 100 [
j% S0 250 15.00_|

105 L=5.0x(P-11+6.50

1R¥L (Poles) S (Model) R (Poles) A5 (Model) %% (Poles) S (Model)
01 TLM-404V-01P 02 TLM-404VA-02P 01 TLM-404R-01P
16 TLM-404V-16P 16 TLM-404VA-16P 16 TLM-404R-16P
TLM-404RA TLM-404V-11.50 TLM-404R-11.50
i s Ty ==
g == s [, ST
i- B i - -. . . ri I I Il I I? - . -
' ' im & B
CBGG e |
i ! d 1 : .
' 4
. ] - | 4 'S iy . .
1.50xP+1.80 180 24.15 850 " 215 L=1150xP-2 20 o
BB o = ..m u: ‘..°.c, = &B
2 o’ 3 =
: Nk 2y =
6.5 /Y S . % I
170 g 08 10
150 H’t = 320 || 190 i o B ”dﬁ sol s
7.50x(P-1] 6P 180 260 16.00 A B2 | A<1150x(P-1)
_ 655 750x(P-1) & - L
120 = s ;‘L 5 9210
s e B3 8 s — (=ug
«Q I E 655 usoj %) 9 i‘I:
g il \ — - 5
N282.10 L
# A ¥4 Technical data H AR R Technical data #HABH]E Technical data
Pitch ( [EE ): 7.50mm Pitch ( &8 ): 11.50mm Pitch ( [a]%E ): 11.50mm
Approval (TAIE ): A Approval (IAIE ): A\ Approval (TAIE ): R\
Rated voltage (B JE ): 600V 1000V Rated voltage (B JE ): 300V 1000V Rated voltage ( BB [% ): 600V 1000V
Rated current ( B33 ): 36A 41A Rated current ( B33 ): 40A 41A Rated current ( B3} ): 40A 41A
Wire range ( %412 ): 24-8AWG Q- sol /it Wire range ( 472 ): 24-8AWG  9Zorm, Wire range ( %442 ): 24-8AWG rezey
PCB hole Dia(PCB &f& ): ®2.10mm PCB hole Dia(PCB EZ ): ®2.10mm
#1S Part Number #1S Part Number #S Part Number
R (Poles) #U-S (Model) R (Poles) A2 (Model) R (Poles) AJS (Model)
02 TLM-404RA-02P 02 TLM-404V-11.50-02P 02 TLM-404R-11.50-02P
16 TLM-404RA-16P 12 TLM-404V-11.50-12P 12 TLM-404R-11.50-12P

84 www.tielee.com ‘%E:

10,00+P+180 - -
445 10.00x(P-1) K s =T
Tw J ‘i@ ° = A o[ )
R R W M
g T - 906 ° o -y
o170 080 ui; w w 100 = Z;ﬁ;u 425 | [ AsIs0dp-)
230 500 a0 lus| ™ om0 | | Ao 1%
# A ¥4 Technical data R ¥R Technical data A B Technical data
Pitch ( [&]EE ): 10.00mm Pitch ( [a]%E ): 5.00mm Pitch ( [a1EE ): 7.50mm
Approval (TAIE ): s Approval (IAIE ): UL(Applying)  VDE(Applying) Approval ( TAIE ): s
Rated voltage ( BB JE ): 600V 1000V Rated voltage ( BBJE ): 300V 320V Rated voltage ( B/E ): oV d2p) e
Rated current ( B3 ): 66A 76A Rated current ( 3% ): 20A 32A Rated current ( B33 ): 41A 40A
Wire range ( 412 ): 20-4AWG 0.75-16mm’ Wire range ( 412 ): 24-12AWG  0.2-4mm® Wire range ( %1% ): 24-8AWG 92~y
PCB hole Dia(PCB E7%): ®1.40mm PCB hole Dia(PCB &1 ): ®2.00mm
#1S Part Number #1S Part Number #1S Part Number
R (Poles) #J-S (Model) #REL (Poles) S (Model) ¥ (Poles) A2 (Model)
02 TLM-704RA-02P 01 TLM-215A-01P 01 TLM-405A-01P
12 TLM-704RA-12P 12 TLM-215A-12P 12 TLM-405A-12P

? www.tielee.com 85



TLM SERIES - PCB Spring Terminal Block

1509001 15045001

15014001 IATF16949

s AN C€ @ @

TLM SERIES - PCB Spring Terminal Block

1509001 15045001

18014001 IATF16949 DNUS N c € @ @

TLM-405AA

425 1750,

First Pl

BuckPN_/ ‘}

L=750x(P-1)+8.50

TLM-405AB

425

A=T50<(P-1}

750,

First PIN:
Front PN

4
£
#
]

150 J_a n

L=7.50x{P-1)+850

TLM-705A

10.00x(P-1)
00

TLM-705AA-15.00

B.00x(P-1)

15.00

First PIN:

BuckPN_/

L=15.00x(P-1)+1150

A=1500<P-1l

TLM-705AB-15.00

First PV

=

| S
an] 500 W

Frant PN //

15.00
3290

L5.00x0P- 111150

| o

ODGE UDoIl OOGH 000

H\
T e

B0 | 250 oL 20
500 120

A=15.00x{P-1

TLM-250C(TLM-250C-9999)

2.5xP+1.5
(6.0 x P+1.5]

JisiE

13.00

LONGPH\V 2509)1_@
2
1o4 .\L

® O+

o oo)

LsHoRT PIN

HAEIRE Technical data

B ARER Technical data

# AR ¥R Technical data

Pitch ( [&]E ): 15.00mm Pitch ( [a]EE ): 15.00mm Pitch ( [8]8E ): 2.5mm(5.00mm)

Approval (IAIE ): UL(Applying)  VDE(Applying) Approval (TAIE ): UL(Applying)  VDE(Applying) Approval (IAIE ): N

Rated voltage ( BB JE ): 1000V 1000V Rated voltage ( BB [% ): 1000V 1000V Rated voltage (BB/E ): 250V 250V

Rated current ( B83% ): 66A 76A Rated current ( B3 ): 66A 76A Rated current (EB3% ):  2A 2A

Wire range ( %1% ): 18-4AWG 0.75-25mm?* Wire range ( 412 ): 18-4AWG 0.75-25mm? Wire range ( 1% ): 20AWG 0.2-0.5mm’
PCB hole Dia(PCB Ef%): ®1.70mm PCB hole Dia(PCB &1 ): ®1.70mm PCB holeDia(PCB E1Z ): ®1.2mm

#1S Part Number #1S Part Number #5 Part Number

#R#x (Poles) S (Model) 1R% (Poles) #IS (Model) %% (Poles) 5 (Model)

02 TLM-705AA-15.00-02P 02 TLM-705AB-15.00-02P 02 TLM-250C-02P(TLM-250C-9999-02P)
12 TLM-705AA-15.00-12P 12 TLM-705AB-15.00-12P 24 TLM-250C-24P(TLM-250C-9999-24P)

o0
= ° 0 S
e T i
Y 1 RITATIRITY
2| s s 2| |en | uw ’—@J 150 [ o0 [820] |1ogo] 120 % am
" B0 W5 ATS0P-1) B0 \25 A-TS0P-1) 29 500
2190 29 A=15.00x(P-1)
B ARER Technical data AR Technical data A IR Technical data
Pitch ( [&]%E ): 7.50mm Pitch ( [8]EE ): 7.50mm Pitch ( J81EE ): 10.00mm
Approval (TAIE ): AV Approval (TAIE ): AV Approval (IAIE ): UL(Applying)  VDE(Applying)
Rated voltage ( /% ): 600V 1000V Rated voltage ( BBJE ): 600V 1000V Rated voltage ( BJE ): o) o
Rated current ( B3k ): 38A 41A Rated current ( B3 ): 38A 41A Rated current ( B3 ): 72A 76A
Wire range ( 412 ): 24-8AWG 02-6gm” Wire range ( %1% ): 24-8AWG 02-6gm? Wire range ( %1% ): 18-4AWG 0.75-25mm’
PCB hole Dia(PCB E7%): ®2.00mm PCB hole Dia(PCB &1% ): ®2.00mm PCB hole Dia(PCB &1 ): ®1.70mm
#}S Part Number #15 Part Number #S Part Number
1R%¢ (Poles) #15 (Model) % (Poles) #5 (Model) & (Poles) S (Model)
02 TLM-405AA-02P 02 TLM-405AB-02P 01 TLM-705A-01P
12 TLM-405AA-12P 12 TLM-405AB-12P 12 TLM-705A-12P
TLM-705AA TLM-705AB TLM-705A-15.00
0P 500P-1)
00y 10 -1l
2y \\ e - 10.00x(P-1 o 15.00 el 220
W ‘ LI — ‘ ‘ o110
First PIN: e wosl] ot ‘ \‘ o see oo || eee  eos A
[y, (‘{’ 2 ;’;ﬂr’; Sl y/ 2
3 - m\\ - M
g | 3
L=10.00xP+1.50 ﬁl—’ L=15.00x(P-1)+11.50

T

TLM-250D(TLM-250D-9999)

TLM-002C(TLM-002C-9999)

TLM-002D(TLM-002D-9999)

w0 g Lo 0 A 500 |80 P 00 1] 2s0f Il 220
330 So0 J - 290 500 1w
A=15.00xIP-1) A=15.00x(P-1) A=15.00xP-1|

% K %4 Technical data AR Technical data #HABH]E Technical data
Pitch ( [a1EE ): 10.00mm Pitch ( [a1EE ): 10.00mm Pitch ( [a]%E ): 15.00mm
Approval (IAIE ): UL(Applying)  VDE(Applying) Approval ( IAILE ): UL(Applying)  VDE(Applying) Approval (TAIE ): UL(Applying)  VDE(Applying)
Rated voltage (% ): 600V 1000V Rated voltage (% ): 600V 1000V Rated voltage ( BB [% ): 300V 1000V
Rated current ( B33 ): 66A 76A Rated current ( B3 ): 66A 76A Rated current ( 833} ): 72A 76A
Wire range ( %1% ): 18-4AWG 0.75-25mm* Wire range ( %1% ): 18-4AWG 0.75-25mm* Wire range ( %1% ): 18-4AWG 0.75-25mm?
PCB hole Dia(PCB &Ef& ): ®1.70mm PCB hole Dia(PCB &f% ): ®1.70mm PCB hole Dia(PCB EZ ): ®1.70mm
#1S Part Number #1S Part Number #S Part Number
R (Poles) A5 (Model) R (Poles) A5 (Model) B3 (Poles) EIS (Model)
02 TLM-705AA-02P 02 TLM-705AB-02P 02 TLM-705A-15.00-02P
12 TLM-705AA-12P 12 TLM-705AB-12P 12 TLM-705A-15.00-12P

F ) g
[ _— - - -
e 350 P+1.50
12.00 BT 12.00 (7.00x P+1.80) 12.00 350xps180
i) =r=tr= — 1
BN ; SO0 .
° )| K el8 o\ 8 i @8] _ e\ 8
SJce 4 L ® it ® «
L : L Ol
0.40 1.50] | 125 =Y ) o —los
|5.00 Tdo U
%00y =280 040 1211 F U g 4. 0.40
5.00 0.80 | 5.00
LONG PIN _2.50 2 3.50 |.1.60
\ < i?“?t* (7.00)
oxé?oo Lﬂl 140 ©12 3.50(7.0/7.5) 340 017 350(7.0/75)
0ol o e ol 3HJO&O1LGO Lg o—-é'&'ﬁ‘ﬂ'o
{ ) L oo e ojle o o] & :»aonooo;
LsHORT PIN < ¥
# A ¥4 Technical data AR Technical data AR HIR Technical data
Pitch ( [a]§E ): 2.5mm(5.00mm) Pitch ( [8]EE ): 3.50mm(7.0mm) Pitch ( [a1%E ): 3.50mm(7.0mm)
Approval (IAIE ): L\ Approval (IAIE ): Al Approval (TAIE ): Al
Rated voltage (EB/&): 250V 250V Rated voltage (/% ): 300V 250V Rated voltage (EB[%): 300V 250V
Rated current (B83% ):  2A 2A Rated current (B85 ):  8A 2A Rated current (83 ):  8A 2A
Wire range ( %1% ): 20AWG 0.2-0.5mm’ Wire range ( %412 ): e 0.5-0.75mm? Wire range ( 4% ): Pt 0.5-0.75mm?
PCB holeDia(PCB &£ ): ®1.2mm PCB holeDia(PCBE{Z): ®1.2mm PCB holeDia(PCB EfZ ): ®1.2mm
#1S Part Number #1S Part Number #1S Part Number
R (Poles) 2 (Model) &% (Poles) S (Model) &% (Poles) AJS (Model)
02 TLM-250D-02P(TLM-250D-9999-02P) 02 TLM-002C-02P(TLM-002C-9999-02P) 02 TLM-002D-02P(TLM-002D-9999-02P)
24 TLM-250D-24P(TLM-250D-9999-24P) 24 TLM-002C-24P(TLM-002C-9999-24P) 24 TLM-002D-24P(TLM-002D-9999-24P)

86 www.tielee.com ‘%E:

? www.tielee.com 87



TLM SERIES - PCB Spring Terminal Block

1509001 15045001

15014001 IATF16949 c“‘us N c € @ @

TLM SERIES - PCB Spring Terminal Block

1509001 15045001

15014001 IATF16949 BNUS N c € @ @ {

TLM-900V

254XP+25k

254

7
I

B0

\
i
105 254

\)
ggézuok{o ©

i
0010 0
i

1264

TLM-900R

B

TLM-200V(TLM-300V)

L

A 2.60
AT
OfC /OIoIO 5 i <[
=\==| = ¢ & @\\@ LS
(13.40)
) ) ) " e
— s V] ==
o s
LTV T, #l i
T5.08A=5.00X(P-1) 260 3 .50

(A=5.08X(P-1))
L=A+1.50

TLM-210A(TLM-210A-9999)

“~aa e

(150

TLM-210B(TLM-210B-9999)

TLM-207

H A BE Technical data

HABE Technical data

A EIE Technical data

Pitch ( {8188 ): 2.54mm Pitch ( (8] ): 2.54mm Pitch ( [a18E ): 5.00mm(5.08mm)
Approval (IAIE ): AN Approval (IAIE ): AV Approval (IAIE ): ™
Rated voltage ( BB JE ): 150V Rated voltage ( BJE ): 150V Rated voltage ( BB [% ): 300V 320V
Rated current ( 3% ): 2A Rated current ( B85} ): 2A Rated current ( B3k ): 10A 17.5A
Wire range ( %12 ): 26-20AWG Wire range ( %1% ): 26-20AWG Wire range ( %12 ): 22-14AWG 0.2-1.5mm?
PCB hole Dia(PCB &12):  ®1.2mm PCB hole Dia(PCB &f2):  ®1.2mm PCB hole Dia(PCB #1&): ®1.4mm
#15 Part Number #1S Part Number #1S Part Number
1R%% (Poles) #5 (Model) &% (Poles) #5 (Model) R4 (Poles) 715 (Model)
02 TLM-900V-02P 02 TLM-900R-02P 02 TLM-200V-02P(TLM-300V-02P)
24 TLM-900V-24P 24 TLM-900R-24P 24 TLM-200V-24P(TLM-300V-24P)
TLM-300R TLM-003 TLM-211
@. 20 '
r £ - “F A b ] > L . i ' ‘. ‘ '
i “ m‘ LY i
. = " L] - -
[ I - .. F - =
SOBELE 142 L=350xP+150 o L5,004P+150
e m [T

@@}

/"
EREEEBE

1160

E{fﬁﬂ%ﬁfﬁldﬂ

I

| | | = <} =] =R ] a
L Tz - ) ‘ L—YE
2l 208 - 275 4,001 5.00 | 080
AT 060 P A=5.00x(P-1)
L
A 0120
$100 —— == D
: - I
- el = T T ® & o—
s | |
| =5.08xP+2.54 ET
A IE Technical data A IE Technical data A IE Technical data
Pitch ( [B]8E ): 5.08mm Pitch ( [8]8E ): 3.50mm Pitch ( &)3E ): 5.00mm
Approval (AL ): N Approval (IAIE ): AV VDE(Applying) Approval (TAIE ): AV VDE(Applying)
Rated voltage ( BB JE ): 300V 320V Rated voltage ( BJE ): 300V 160V Rated voltage ( BBJE ): 300V 320V
Rated current ( B35 ): 10A 17.5A Rated current ( B3 ): 10A 15A Rated current ( 3% ): 13.5A 17.5A
Wire range ( 1% ): 22-14AWG  0.2-1.5mm? Wire range ( 1% ): 26-16AWG  0.34-1.5mm’ Wire range ( 412 ): 26-14AWG  0.34-1.5mm’
PCB hole Dia(PCB &f2):  ®1.2mm
#5 Part Number #5 Part Number #1S Part Number
1R (Poles) 5 (Model) %% (Poles) 15 (Model) R (Poles) 5 (Model)
02 TLM-300R-02P 02 TLM-003-02P 02 TLM-211-02P
24 TLM-300R-24P 24 TLM-003-24P 24 TLM-211-24P

1 | O MM m M g D_D\:Bﬂ
EREE SEEFE s gl [
T T 1 = \ 4
Tl Tyl = 1 1 f—= i
o], ol f Lol WMH* =
T o ? s _,ié H 040 H Hbma
Lh650 TAS10 00X(P-1IT o AeS0p-1 Lin
L=A+6.50 L=5.00xP
9130 4"’” |
i 1 TOI ] N & 415
I 15 W ]
! \ (\( 112 N gtsl A B
I i @ 1 e & U4 &
| ] | i [ it
IS S S Lodo b
.00[ 500 1000 L.00[ 500 1000 Sl 5
E A “l:: A : =5
L L
# A SR Technical data AR Technical data AR Technical data
Pitch ( [a]EE ): 5.00mm(10.00mm) Pitch ( [8]EE ): 5.00mm(10.00mm) Pitch ( [&]EE ): 5.00mm
Approval (TAIE ): UL(Applying) Approval (IAIE ): UL(Applying) Approval (TAIE ): A VDE(Applying)
Rated voltage (EBJE ): 300V Rated voltage (EB[&): 300V Rated voltage ( BB [% ): 300V 320V
Rated current (3% ):  10A Rated current (E83% ):  10A Rated current ( B3 ): 10A 17.5A
Wire range ( 412 ): 22 ~14AWG Wire range ( %1% ): 22-14AWG Wire range ( 412 ): 20-16AWG  0.5-1.5mm’
PCB hole Dia(PCB B2 ): ®1.3mm PCB hole Dia(PCB Ef# ): ®1.3mm
#1S Part Number #1S Part Number #1S Part Number
B2 (Poles) A2 (Model) 3 (Poles) #IS (Model) R (Poles) A5 (Model)
02(02) TLM-210A-02P(TLM-210A-9999-02P) 02(02) TLM-210B-02P(TLM-210B-9999-02P) 02 TLM207-02P
20(12) TLM-210A-20P(TLM-21 0A-9999-12P) 20(12) TLM-210B-20P(TLM-210B-9999-12P) 24 TLM207-24P
TLM-214R TLM-201R(TLM-301R) TLM-202R(TLM-302R)
-
-
. i
o e :
1 - l..‘.l . . l
- e -
L5 00xP+150 \ T
) walal
0)p 00 j - [in)[=)[in][in]
== s
ol : G000 .
= i _I1.05 5.0
350 s.ua_! ousa L Lglr os H A5.0x(P_1) 508 233
- 0% | 5.0 =
A=5.00(P-1) J 250 2\:238 (T;Wm ASOEX P
[25.0x P =508 x P+1
= 37 r—-lﬁ:: fsxx(:;j: 7
= [——JF%E o o&o J>_§I
° g o o 0 o o o
FH AR Technical data AR #E Technical data FARBHR Technical data
Pitch ( [818E ): 5.00mm Pitch ( B)3E ): 5.00mm(5.08mm) Pitch ( [8]8E ): 5.00mm(5.08mm)
Approval (TAIE ): AV VDE(Applying) Approval (IAIE ): AV Approval (IAIE ): AV
Rated voltage ( BB JE ): 300V 320V Rated voltage (BBJE ): 300V 320V Rated voltage (BBJ/E ): 300V 320V
Rated current ( 3% ): 8A 17.5A Rated current (EB3% ):  10A 24A Rated current (EB3% ):  10A 24A
Wire range ( %1% ): 26-14AWG  0.2-1.5mm’ Wire range ( 412 ): 20-14AWG 0.2-1.5mm? Wire range ( 1% ): 20-14AWG 0.2-1.5mm?
PCB holeDia(PCB H1% ): ®1.3mm PCB holeDia(PCB BE1%): ®1.2mm PCB holeDia(PCB EfZ): ®1.2mm
#£S Part Number #1S Part Number #15 Part Number
tR#x (Poles) A5 (Model) R (Poles) A5 (Model) %% (Poles) 15 (Model)
02 TLM-214R-02P 02 TLM-201R-02P(TLM-301R-02P) 02 TLM-202R-02P(TLM-302R-02P)
24 TLM-214R-24P 24 TLM-201R-24P(TLM-301R-24P) 24 TLM-202R-24P(TLM-302R-24P)

88 www.tielee.com ‘%E:

? www.tielee.com 89



TLM SERIES - PCB Spring Terminal Block Rorioen Brrests M N CE & & @ & TLM SERIES - PCB Spring Terminal Block Rottost xrtiento M A CEEE @

TLM-203(TLM-303)(TLM-403) TLM-203B-5.0 TLM-203B-7.5 TLM-213-10.0 TLM-304

. amuw
| -‘1. 334%

P a behe™ {l‘
‘aaadd e 08 ?FEE&J

—

L - . | L = : " l’;"l g
5.00/5.08 x P+1 L75xP-172
kil 2 I
L \
g MWL)HEB . 5 S L EH il
| -y 4|2 @ @ @ oo /’/ ==] =
LT —12 73 e U_U_UE/
070 - = Il ﬂfm IW 125 105 u 1.00 || 4
10.0 5.0 e
2 e L 2
5.00/5.08 o A z0m - A-0.0XP-1)
g [s0g]s00
s 254 g | e 3
s 1 5.00 L = P 1.05 _5.08 @
i Zmm 105 _
T N EnndB R Hre e
Vo o ol 3 S8 elb o g T e KK ©
g LA - AN S L ) g
T o o ofo o o
m - e :
HABE Technical data AR Technical data HABE Technical data HAEIRE Technical data H A BE Technical data
Pitch ( [a]EE ): 5.00mm(5.08mm)(7.50mm) Pitch ( [8]8E ): 5.00mm Pitch ( [a]E ): 7.50mm Pitch ( [&]E ): 10.0mm Pitch ( [8]EE ): 5.08mm
Approval (A ): AV Approval (TAIE ): Al Approval (TAIE ): Al Approval (IAIE ): AV Approval (TAIE ): AV
Rated voKage (EBfE): 300V 320V Rated voKage (/& ): 300V 320V Rated voKage (/& ): 300V 630V Rated voltage ( B [E ): 300V 1000V Rated voltage ( BBJE ): 300V
Rated current (B85 ):  15A 16A Rated current ( B3 ): 15A 16A Rated current ( 3% ): 15A 16A Rated current (3% ): 16A 16A Rated current ( 83 ): 15A
Wire range ( 412 ): 28-12AWG  2.5mm’ Wire range ( 1% ): 28-12AWG  0.2-2.5mm’ Wire range ( 412 ): 28-12AWG  0.2-2.5mm’ Wire range ( %1% ): 20-12AWG  0.2-2.5mm’ Wire range ( k1% ): 24-14AWG
PCB hole Dia(PCB EfZ): ®1.2mm PCB hole Dia(PCB &£ ): ®1.2mm PCB hole Dia(PCB Ef% ): ®1.2mm PCB hole Dia(PCB &1% ): ®1.2mm
#1S Part Number #15 Part Number #1S Part Number #15 Part Number #15 Part Number
1R (Poles) 5 (Model) %% (Poles) 15 (Model) 1R (Poles) S (Model) #R#x (Poles) 5 (Model) %% (Poles) 5 (Model)
02 TLM-203-02P(TLM-303-02P)(TLM-403-02P) 02 TLM-203B-5.0-02P 02 TLM-203B-7.5-02P 02 TLM-213-10.0-02P 02 TLM-304-02P
24 TLM-203-24P(TLM-303-24P)(TLM-403-24P) 24 TLM-203B-5.0-24P 24 TLM-203B-7.5-24P 12 TLM-213-10.0-12P 24 TLM-304-24P
TLM-203B-10.0 TLM-213 TLM-213-7.5

= .HZ..LI'.J-'.L_E:-

e ——

| SEEEE
B [BEE
T,

14.5REF

109
14.5REF

40

36

125

S : = 060
25 e
25 81 B
:!L f} r
FF eie e o
Tt &
16, i
JL
A=5.0XIP-1)
L=5.0XP+1.5
H AH I’ Technical data HA$IR Technical data HAYIE Technical data
Pitch ( [8]EE ): 10.0mm Pitch ( [E]EE ): 5.00mm Pitch ( [&]EE ): 7.50mm
Approval (IAIE ): A Approval (TAIE ): A Approval (TAIE ): A
Rated voKage (B JE ): 300V 1000V Rated voltage ( BJE ): 300V 320V Rated voltage ( BB [% ): 300V 630V
Rated current ( B23% ): 15A 16A Rated current ( 3% ): 16A 16A Rated current ( B3} ): 16A 16A
Wire range ( 412 ): 28-12AWG  0.2-2.5mm’ Wire range ( %1% ): 20-12AWG  0.2-2.5mm’ Wire range ( %1% ): 20-12AWG  0.2-2.5mm’
PCB hole Dia(PCB &1 ): ®1.2mm
#2 Part Number #1S Part Number #5S Part Number
R34 (Poles) #IS (Model) % (Poles) A= (Model) B3 (Poles) EIS (Model)
02 TLM-203B-10.0-02P 02 TLM-213-02P 02 TLM-213-7.5-02P
24 TLM-203B-10.0-24P 24 TLM-213-24P 16 TLM-213-7.5-16P

90 www.tielee.com {: ? www.tielee.com 91



How to order

TLB- O OO (HW) - O - 0000 -00P-00

92 www.tielee.com %

Screw: S=Slot screw, C=Cross screw
Color: T=Natural, W=White

Poles

Special code

A=High temperature material

H=High base, W=Wire protector
Series number

Pitch: 1=8.00, 2=10.00, 3=12.00, 4=13.50, 5=14.50, 6=16.50, 7=11.00, 8=14.00, 9=18.50

TLB SERIES - Terminal Strip

TLB-100(TLB-100H)

15.70
(18.70)

1509001 15045001

18014001 IATF16949 c“xus “ c € @ @

TLB-100W(TLB-100HW)

15.70
(18.70)

TLB-200(TLB-200H)

HAEIE Technical data

# AR ¥R Technical data

H AR Technical data

Pitch ( [8]EE ): 8.00mm Pitch ( [8]8E ): 8.00mm Pitch ( [8]8E ): 10.00mm

Approval (IAIE ): N Approval (IAIE ): N Approval ( IAIE ): LY

Rated voltage ( B8J£ ): 250V 450V Rated voltage ( EBJE ): 300V 450V Rated voltage (EBJE ): 250V 450V

Rated current (3% ):  20A 32A Rated current (3% ):  20A 24A Rated current (3% ) 30A 41A

Wire range ( %1% ): 24-12AWG 1-4mm’ Wire range ( 1% ): v 0.75-2.5mm? Wire range ( %1% ): 22-10AWG 2.5-6mm’
Screw (12% ): M2.5 Screw (8% ): M2.5 Screw ( 18%2 ): M3

#5 Part Number #15 Part Number #15 Part Number

R (Poles) £S5 (Model) &% (Poles) A5 (Model) RE (Poles) £S5 (Model)

01 TLB—100—01P(TLB—100H-01P) 01 TLB—100W—-01P(TLB—100HW—-01P) 02 TLB—-200—02P(TLB—200H—02P)
12 TLB—100—12P(TLB—100H—12P) 12 TLB—100W—12P(TLB—100HW—12P) 12 TLB—-200—12P(TLB—200H—12P)

TLB-200W(TLB-200HW)

D3 5,
—2:50_|

16.00
(19.00)

w

3.30

TLB-300(TLB-300H)

12.0x(P-1)+7.50 10.00

18.50

(20.50)
—
k@;
—
N

TLB-300W(TLB-300HW)

18.50
(20.50)

A EIE Technical data

A B4R Technical data

KA EIE Technical data

Pitch ( a1EE ): 10.00mm Pitch ( [a]E ): 12.00mm Pitch ( [a1EE ): 12.00mm

Approval (TAIE ): L\ Approval (TAIE ): L\ Approval (IAIE ): L\

Rated voltage (FEJE ): 250V 450V Rated voltage (EB[%): 300V 750V Rated voltage (FEJE ): 300V 750V

Rated current (83 ):  30A 32A Rated current ( B33 ):  30A 57A Rated current (B3 ):  30A 41A

Wire range ( 472 ): e 0.75-4mm’ Wire range ( 442 ): 22-10AWG ool Wire range ( %12 ): 22-10AWG 1.5-6mm’
Screw (#842 ): M3 Screw (1242 ). M3.5 Screw (4842 ): M3.5

#1S Part Number #1S Part Number #1S Part Number

1R%% (Poles) S (Model) %% (Poles) #-S (Model) 1R%% (Poles) S (Model)

02 TLB-200W-02P(TLB-200HW-02P) 02 TLB-300-02P(TLB-300H-02P) 02 TLB-300W-02P(TLB-300HW-02P)
12 TLB-200W-12P(TLB-200HW-12P) 12 TLB-300-12P(TLB-300H-12P) 12 TLB-300W-12P(TLB-300HW-12P)

f;‘-‘ www.tielee.com 93



TLB SERIES - Terminal Strip

1509001 15045001

15014001 IATF16949

AN €A E @

TLB-100-T(TLB-100H-T)

6.40

8.4(12.2)

TLB-200-T(TLB-200H-T)

A Tatr
-r"".
FEL

10x(P-1)+6.6

9.30(12.30)

TLB-700-1P

18

[SOISY)
SN

5 : /
: o | &l 6 ]
1) 8] 1] 7 2
17.00 10.00 6.60 @ ©3.40
F A B’ Technical data A HIE Technical data A IE Technical data
Pitch ( [818E ): 8.00mm Pitch ( [8]8E ): 10.00mm Pitch ( 8]8E ): -
Approval (IAIE ): Al Approval (TAIE ): AV Approval (IAIE ): UL(Applying) VDE(Applying)
Rated voltage ( BBJE ): 250V 450V Rated voltage ( B[ ): 250V 450V Rated voltage ( B8[E ): 300V 450V
Rated current ( B3 ):  20A 32A Rated current ( EB3% ):  30A 41A Rated current (B3 ): 20A 32A
Wire range ( 412 24-12AWG 1-4mm? Wire range ( 412 ): 22-10AWG 2.5-6mm’ Wire range ( 412 ): 22-12AWG  1.5-4.0mm’ Sol 6mm’
Screw ( #8%2): Screw ( 1842 ): Screw ( 1842 ): M3.0
#15 Part Number #15 Part Number #5 Part Number
&% (Poles) #15 (Model) 1R%% (Poles) A5 (Model) 1R% (Poles) #15 (Model)
02 TLB-100-T-02P(TLB-100H-T-02P) 02 TLB-200-T-02P(TLB-200H-T-02P) 01 TLB-700-1P
12 TLB-100-T-12P(TLB-100H-T-12P) 12 TLB-200-T-12P(TLB-200H-T-12P)
TLB-700-2P TLB-700-3P TLB-700-4P
- " r S = e
- - = -_—
_ -

-0
o

15.6
S
£y

15.6

2,
%
32

g 09

N o e
- | HOKTEO8 |

1 n n

43

0 8 00

15.6

A HE Technical data

A B4R Technical data

AR Technical data

Pitch ( [a]EE ): 11.00mm Pitch ( [a]E ): 11.00mm Pitch ( [a)#E ): 11.00mm

Approval ( AIE ): UL(Applying) VDE(Applying) Approval (TAIE ): UL(Applying) VDE(Applying) Approval (TAIE ): UL(Applying) VDE(Applying)
Rated voltage (BB [% ): 300V 450V Rated voltage ( BB [% ): 300V 450V Rated voltage ( BB [% ): 300V 450V

Rated current ( B3 ): 20A 32A Rated current ( 3% ): 20A 32A Rated current ( 3% ): 20A 32A

Wire range ( %1% ): 22-12AWG  5-4gmm* Wire range ( 412 ): 22-12AWG  §5-4gmm Wire range ( 472 ): 22-12AWG  5-43mm™

Screw (1842 ) M3.0 Screw (1242 ). M3.0 Screw (484 ): M3.0

#1S Part Number #1S Part Number #S Part Number

&% (Poles) A5 (Model) 1R% (Poles) A5 (Model) %% (Poles) -5 (Model)

02 TLB-700-2P 03 TLB-700-3P 04 TLB-700-4P

TLB SERIES - Terminal Strip 1200001 et M N CEA & @
TLB-400 TLB-400W TLB-500
b - B L] L
J p [ #
L L g L i
j n AL 5 N ki e *
alEi® alni®
alui? alal®
| o2
11.00
13.00
1} 1
| 25.40 | 30.20
H A BE Technical data HABE Technical data HABE Technical data
Pitch ( [B]8E ): 13.50mm Pitch ( [B)3E ): 13.50mm Pitch ( &)3E ): 14.50mm
Approval (IAIE ): N Approval (INIE ): N Approval (INIE ): AV
Rated voltage ( BB JE ): 300V 750V Rated voltage ( BJE ): 300V 750V Rated voltage ( B JE ): 300V 750V
Rated current ( B3 ): 50A 76A Rated current ( B83% ): 50A 57A Rated current ( B3% ): 65A 76A
Wire range ( 42 ): 20-8AWG Comm%ol Wire range ( 442 ): RN 2.5-10mm’ Wire range ( 442 ): 18-6AWG 6-16mm’
Screw ( 1842 ): M4 Screw ( #24% ): M4 Screw ( #242 ): M5
#1S Part Number #5 Part Number #5 Part Number
1R (Poles) 5 (Model) R (Poles) 5 (Model) R (Poles) A5 (Model)
02 TLB-400-02P 02 TLB-400W-02P 01 TLB-500-01P
12 TLB-400-12P 12 TLB-400W-12P 12 TLB-500-12P
TLB-500W TLB-600 TLB-600W
" * h = h h
" h . - & n - ’ J ] h &
d - L
| : a4 [ f - * i w . ﬁ a ] L
1 N * ol . i o -
- . ey s =
QL0 L0 O«
000 o000
16.5x(P-1)+12.9 ; 16.5x(P-1)+12.9 14.00
: : delala | D . -
= J ‘ </ ‘ S0 2|
30.20 16.50 12.90, 16.50 12.90, 1 36.90
A B4R Technical data AR Technical data #HABH]E Technical data
Pitch ( [a]E ): 14.50mm Pitch ( [a1EE ): 16.50mm Pitch ( [a]%E ): 16.50mm
Approval ( IAIE ): s Approval ( TAIE ): s Approval ( INIE ): s
Rated voltage ( BB [% ): 300V 750V Rated voltage (% ): 600V 750V Rated voltage ( BB [% ): 600V 750V
Rated current ( B3% ): 65A 76A Rated current (37 ): 85A 101A Rated current ( 833} ): 85A 76A
Wire range ( %412 ): 18-6AWG 4-16mm” Wire range ( %1% ): 16-4AWG 4-25mm? Wire range ( %1% ): 16-4AWG 4-25mm?
Screw (4842 ). M5 Screw (4842 ): M5 Screw (484 ): M5
#S Part Number #1S Part Number #S Part Number
%% (Poles) S (Model) 1R%x (Poles) S (Model) tR% (Poles) S (Model)
01 TLB-500W-01P 02 TLB-600-02P 02 TLB-600W-02P
12 TLB-500W-12P 12 TLB-600-12P 12 TLB-600W-12P

94 www.tielee.com %

f;‘-‘ www.tielee.com 95



TLB SERIES - Terminal Strip

s Y C€ @ @

R TLB SERIES - Terminal Strip

1509001 15045001 @
1S014001 IATF16949

Al AY C€ @ @:

TLB-800-1P

- 001

N Q4.1

TLB-01

TLB-800-2P TLB-800-3P

17.60

21

21
i
&

o O
(@) )
o

TLB-02
i .".
r A '
i' i

TLB-03

S

S

H A B#E Technical data

HAEIRE Technical data H A BE Technical data

HABE Technical data

AR Technical data

A EIR Technical data

Pitch ( [8]EE ): - Pitch ( [8]EE ): 14.00mm Pitch ( [8]BE ): 14.00mm Approval (IAIE ): VDE(Applying) Approval (IAIE ): VDE(Applying) Approval (TAIE ): VDE(Applying)
Approval (TAIE ): UL(Applying) VDE(Applying) Approval (IAIE ): UL(Applying) VDE(Applying) Approval (TAIE ): UL(Applying) VDE(Applying) Rated voltage ( BBJE ): 450V Rated voltage ( BBJE ): 450V Rated voltage ( BB JE ): 450V
Rated voltage ( BJE ): 300V 750V Rated voltage (B8/& ): 300V 750V Rated voltage ( BB JE ): 300V 750V Rated current ( B3 ): 24A Rated current ( B3 ): 32A Rated current ( BB ): 41A
Rated current ( B3% ): 30A 41A Rated current ( B83% ): 30A 41A Rated current ( 83k ): 30A 41A Wire range ( 1% ): 2.5mm? Wire range ( %1% ): 4.0mm? Wire range ( %12 ): 6.0mm’
Wire range ( %1% ): 22-10AWG  5-50mm* Wire range ( %1% ): 22-10AWG  5-50mm* Wire range ( %1% ): 22-10AWG  [5-8omm Screw (124 ) M2 Screw ( 1242 ): M4 Screw ( $242 ): M4
Screw (124 ): M3.5 Screw ( $2%2 ): M3.5 Screw (1242 ): M3.5 #S Part Number #1S Part Number #1S Part Number
#S Part Number #5 Part Number #5 Part Number %% (Poles) IS (Model) %% (Poles) #= (Model) #R%x (Poles) A5 (Model)
&% (Poles) A5 (Model) &% (Poles) A5 (Model) R (Poles) A5 (Model) 01 TLB-01-01P 01 TLB-02-01P 01 TLB-03-01P
01 TLB-800-1P 02 TLB-800-2P 03 TLB-800-3P : : : : : :
10 TLB-01-10P 10 TLB-02-10P 10 TLB-03-10P
TLB-800-4P TLB-900-2P TLB-900-3P TLB-B001-02P TLB-B001-04P
— - - .-
- - = -
. - e - = ..
- o = - -
‘1. - - - r "
. gltt
- »
s " » a ®
14 e 14 18.5
I
11904949/, 1 1©2,~@ o . .o &6
@ -3 -0 0
1w | 14

52

21

0 0 O

@,

185 185

o
&
&

2,

23

1485
° 1
6.30

16 6 116 6™ 0

9'1 .00 978

A IR Technical data

# A ¥4} Technical data H AR’ Technical data R ¥ FE Technical data

A ¥R Technical data

Pitch ( [a]E ): 14.00mm Pitch ( [a)#E ): 18.50mm Pitch ( [81EE ): 18.50mm Pitch ( [a]E ): 15.00mm Pitch ( [a]EE ): 15.00mm

Approval ( IAIE ): UL(Applying) VDE(Applying) Approval (IAIE ): UL(Applying) VDE (Applying) Approval (IAIE ): UL(Applying) VDE(Applying) Approval (TAIE ): UL(Applying) VDE(Applying) Approval (TAIE ): UL(Applying) VDE(Applying)
Rated voltage ( B/E ): 300V 750V Rated voltage ( BBJE ): 600V 750V Rated voltage ( BB JE ): 600V 750V Rated voltage ( BJE ): 300V 320V Rated voltage ( BJE ): 300V 320V

Rated current ( 3% ): 30A 41A Rated current ( 3% ): 50A 57A Rated current ( B3 ): 50A 57A Rated current ( 3% ): 16A 16A Rated current ( 3% ): 16A 16A

Wire range ( 412 ): 22-10AWG  |5-eomm Wire range ( 412 ): 18-8AWG  Z5-19nw Wire range ( %1% ): 18-8AWG 35 1omme Wire range ( 412 ): 22-12AWG  0.5-4mm’ Wire range ( 412 ): 22-12AWG  0.5-4mm’
Screw (1842 ). M3.5 Screw (184 ): M4.0 Screw ( $84): M4.0 Screw (1842 ). M3.5 Screw (1842 ). M3.5

#S Part Number #S Part Number #1S Part Number #S Part Number #1S Part Number

tR# (Poles) S (Model) tR% (Poles) S (Model) 1R%x (Poles) S (Model) tR# (Poles) S (Model) %% (Poles) S (Model)

04 TLB-800-4P 02 TLB-900-2P 03 TLB-900-3P 02 TLB-B001-02P 04 TLB-B001-04P

96 www.tielee.com ‘%E:

? www.tielee.com 97



TPK SERIES - Panel Feed - through Terminal Blocks Rotionn Biriosts AW €D @«

TPK SERIES - Panel Feed - through o
Terminal Blocks

Loll_iel ]

s h le g N FORELSUn o e oo
06 )
1-bmm

HAHIRE Technical data AR Technical data A EIR Technical data
Approval (IAIE ): A VDE(Applying) Approval (AL ): AV VDE(Applying) Approval (TAIE ): A VDE(Applying)
Rated voltage ( BB JE ): 300V 500V Rated voltage ( BBJE ): 300V 500V Rated voltage ( BB JE ): 300V 500V
Rated current ( 237 ): 30A S (G <o) Rated current ( 3% ): 30A A G so) Rated current ( L3 ): 65A 3 (o sol)
Wire range (442 ): 30-10AWG g2 fuorsa/sr Wire range (412 ): 30-10AWG g2 == Wire range (412 ): 20-6AWG e e
Screw (#2842 ): M3 Screw (1842 ). M3 Screw (#2842 ): M4
#5 Part Number #15 Part Number #5 Part Number
S (Model) S (Model) S (Model)
TPK 4 TPKV 4 TPK 10

TPK 10-VP TPKV 10 TPKV 10-VP

How to order

TPRO DO - (vP) - 00 - L 0

Pl 7=

=
T

3050
®

Screw: S=Slot screw, C=Cross screw

Color: G(G12)=Green, M=Gray BARIE Technical data BARIE Technical data BARIE Technical data
Special code Approval (IAIE ): Ml VDE(Applying) Approval (IAIE ): Al VDE(Applying) Approval (TAIE ): Al VDE(Applying)
. . ) Rated voltage ( B [E ): 300V 500V Rated voltage ( B [E ): 300V 500V Rated voltage ( BB JE ): 300V 500V
VP=Internal part with solder connection or screw connection Rated current ( B3k ): 65A STA (o sol) Rated current ( 3% ): 65A STA (o sol) Rated current ( 3% ): 65A STA (o sol)
Z=Splicing column, None=Without splicing column Wire range (442 ): 20-BAWG  immrmaeellsr Wire range (442 ): 20-BAWG  immrmaeellsr Wire range (442 ): 20-BAWG  immrmaeellsr
. N " _ a _ 2. Screw (#842 ): M4 Screw ( #842): M4 Screw (#842): M4
Max wire range: Q@irm?®, 10=10gligg™16=16mm #1S Part Number #1S Part Number #1S Part Number
V=Vertical, None=Horizontal A2 (Model) 5 (Model) A5 (Model)
TPK 10-VP TPKV 10 TPKV 10-VP

98 www.tielee.com {: ? www.tielee.com 99



TPK SERIES - Panel Feed - through Terminal Blocks

1509001 15045001

15014001 IATF16949 I:N‘US N c€ @ @ c{ic

TPK SERIES - Panel Feed - through Terminal Blocks

1509001 15045001
15014001 IATF16949 @

TPK 16

TPK 16-VP

TPKV 16

TPKV 25

53.60
&
R 3
I:lg
45.00

1510 $4.30

TPKV 25-VP

5360

|
I
l'l
o'
P, 9330 210 2330 21 2330
] ey
A HE 8@@%% LMD .2
34,60 2890 910.00 910,00 3610 289 $10.00
3 {W
< °_ o¥. o
i ° 16
©
°
A EIR Technical data A EIR Technical data A EIR Technical data
Approval (IAIE ): Al VDE(Applying) Approval (TAIE ): i\ VDE(Applying) Approval (TAIE ): i\ VDE(Applying)
Rated voltage ( B JE ): 600V 800V Rated voltage ( BBJE ): 600V 800V Rated voltage ( BBJE ): 600V 800V
Rated current ( B3 ): 85A T (@5mn so) Rated current ( 3 ): 85A T (@5mn s Rated current ( 3 ): 85A N )
Wire range ( 412 ): 20-4AWG  Jotammsol s Wire range ( %12 ): 20-4AWG  Jontammsol s Wire range ( %12 ): 20-4AWG  9a; 1 sollsir
Screw ( #2%2 ): M5 Screw ( #2%2 ): M5 Screw ( 12%2 ): M5

o =
1-6mm

A YR Technical data A IR Technical data

Approval (IAIE ): A VDE(Applying) Approval (TAIE ): A\ VDE(Applying)

Rated voltage ( BBJE ): 600V 800V Rated voltage ( BBJE ): 600V 800V

Rated current ( B3k ): 115A 1988 @5 so) Rated current ( 3% ): 115A 198 (3smm’ sal)

Wire range (442 ): 10-2AWG  §g25mm /s Wire range ( %472 ): 10-2AWG  §52mm =0l /o

Screw ( $242): M5 Screw (1842 ) M5

#15 Part Number

#15 Part Number

#15 Part Number

#1S Part Number #5 Part Number
£S5 (Model) #S (Model)
TPKV 25 TPKV 25-VP

15 (Model) 15 (Model) #15 (Model)
TPK 16 TPK 16-VP TPKV 16
TPKV 16-VP TPK 25 TPK 25-VP

39.70

210, 9330

4850

45.00

8430
15.10

4850

¢12.00

KA YR Technical data A ¥4 Technical data A Technical data

Approval (TAIE ): A VDE(Applying) Approval ( IAIE ): s VDE(Applying) Approval (TAIE ): A VDE(Applying)
Rated voltage ( BB [% ): 600V 800V Rated voltage ( BBJE ): 600V 800V Rated voltage ( BBJE ): 600V 800V

Rated current ( B3 ): 85A T (25 so) Rated current ( B3 ): 115A 190 (@5 sol) Rated current ( B3% ): 115A N )
Wire range ( 472 ): 20-4AWG 95 iammsol /s Wire range ( %1% ): 10-2AWG  Ge2omm sol/sir Wire range ( 412 ): 10-2AWG G20 sol /st
Screw (4842 ). M5 Screw (#8%2): M5 Screw (484 ): M5

#S Part Number #5 Part Number #S Part Number

£S5 (Model) £S5 (Model) £S5 (Model)

TPKV 16-VP TPK 25 TPK 25-VP

100 www.tielee.com ‘%E:

? www.tielee.com 101



TLF SERIES - Fuse Terminal Block

How to order

TLFOO00 e/sw-0dpP-0d 0

Screw: S=Slot screw, C=Cross screw

Color: M=Gray...

Poles

E=Earth screw thread, S=Earth screw, W=Wire protector
Series number

TLF SERIES - Fuse Terminal Block

TLF-100-01P

28.00

(26.10)

>
L

18.80
=

=

|50 |

|

16.80

18.80

140

|
10.00
00, 4
I &

@)
oefed |
520 @33 L}

A
kY
&

(

20.00

Iraaw|

%ﬂ I
Jzlz Hlg

(26.70)

i
SECTION:A-A

A
L=10.00x{P-2)+20.80

HAHIRE Technical data

H A B#E Technical data

102 www.tielee.com ‘%E:

Approval (IAIE ): W Fuse Approval (TAIE ): L\ Terminal block AV Fuse
Rated voltage ( BB JE ): 300V 250V Rated voltage ( BBJE ): 300V 450V 300V 250V
Rated current ( B3k ): 13A 6.3A Rated current ( B3} ): 30A 20A(with W) 24A 13A 6.3A
Wire range ( %1% ): 20-14AWG  0.5-2.5mm* Wire range ( 412 ): 18-10AWG  18-12AWG(with W) 0.5-2.5mm’ 20-14AWG 0.5-2.5mm’
Screw (#8#2 ): M3 Screw ( #8%2): M3
#5 Part Number #1S Part Number
R (Poles) #IS (Model) &% (Poles) A5 (Model)
01 TLF-100-01P 02 TLF-100(TLF-100E)-02P
06 TLF-100(TLF-100E)-06P
TLF-100-01P+TLF-100-01P TLF-100-01P+TLF-100(TLF-100E)
SECTION:A-A
kY LY —
< & & gls
. é]f - — El
Ad — T 300

3 L sw L=10.00x(P-2)+34.30
# A ¥4} Technical data A ¥4} Technical data
Approval (IAIE ): AV Fuse Pitch ( [a]%E ): 10.00mm
Rated voltage ( BB JE ): 300V 250V Approval (TAIE ): A Terminal block R Fuse
Rated current ( B83% ): 13A 6.3A Rated voltage ( BBJE ): 300V 450V 300V 250V
Wire range ( %1% ): 20-14AWG  0.5-2.5mm? Rated current ( 3% ): 30A 24A 13A 6.3A
Screw ( #84): M3 Wire range ( %1% ): 18-10AWG 0.5-2.5mm’ 20-14AWG 0.5-2.5mm?
RIS (Model) Screw (184 ). M3
TLF-100-01P+TLF-100-01P RIS (Model)

TLF-100-01P+TLF-100(TLF-100E)-02P

TLF-100-01P+TLF-100(TLF-100E)-06P

? www.tielee.com 103



104 www.tielee.com %

ERIES - Fuse Holder

09001 5001 @
014001 IATF16949

AN €A E @

FH-278-A

n
<
(7]
[ny]
—t—

§ i

i
§
9.40

BN

E

5,
JE
i
S Jg

FH-278-NA

i
[amy
p
[yl
—
%
9.40

T
5 ﬁg

50

- 2260 - 15.00
#150 9150

Q} 2260 Q} 15.00 N
AR Technical data KA YR Technical data
Fuse link ({RBE 42 ): ®5.0°20 Fuse link (RG22 ): ®5.0°20
Approval (TAIEF ): A Approval (TAIE ): UL(Applying) VDE(Applying)
Rated voltage ( EJE ): 250V 250V Rated voltage ( BBJE ): 250V 250V
Rated current ( B33k ): 10A 6.3A Rated current ( B85 ): 10A 6.3A
Rated Power ( T ): 1.6W Rated Power ( & ): 1.6W

FH-145-A FH-150-A

M\e % §L #130
Mq P o
110 050
B T 800 \_550 m

AR Technical data FKAREIE Technical data
Fuse link ({RB& £ ): ©5.0"20 Fuse link (fRB&£2 ): ©5.0°20
Approval (IAIE ): Al Approval (A ): A
Rated voltage ( BBJE ): 250V 250V Rated voltage ( BJE ): 250V 250V
Rated current ( B3k ): 10A 10A Rated current ( 3% ): 10A 10A
Rated Power ( T ): 2.5W Rated Power ( T ): 2.5W

f;‘-‘ www.tielee.com 105



s Y C€ @ @ ‘

TQQ & TQS SERIES-Fast connector for PCB 1501001 1ATE16549

TQQ-A-5.0-XXP-X Pitch 5.08mm
TQQ-B-5.0-XXP-X Pitch 7.62mm

TQQ-A-2.8-XXP-X Pitch 5.08mm
TQQ-B-2.8-XXP-X Pitch 7.62mm

TQQ & TAS SERIES - PCB Fast Connector

TQQ-C-2.8-XXP-X Pitch 10.16mm
TQQ-D-2.8-XXP-X Pitch 12.70mm
TQQ-E-2.8-XXP-X Pitch 15.24mm

RERE

TQQ-C-5.0-XXP-X Pitch 10.16mm
TQQ-D-5.0-XXP-X Pitch 12.70mm
TQQ-E-5.0-XXP-X Pitch 15.24mm

| o || | pi |
A=Pitchx(P-1} A=PitchxP-1)
L=Ak12 L=Ak12
w3 ol p—re—
o1 i g < o1 | g
e E
AL Technical data AR Technical data
Approval (IAIE ): s Approval ( TAILE ): s
Housing ( #4%} ): PC UL94V0 Housing ( #1#} ): PC UL94V0
Admissible ambient air temperature Admissible ambient air temperature
(BREE): -30°C to 125°C (ERERE): -30°C to 125°C
Wire range ( 835718 F%1E AWG ): 18AWG Wire range ( B F1E F%1E AWG ): 16AWG
Standard color ( #RERE ): Black Standard color ( FREBE ): Black
Rated Current ( ZUEH R ): 6A Rated Current ( SUEE R ): 10A
Rated Voltage ( BlEBE ): 300V AC Rated Voltage ( FUEHE ): 300V AC

Product pitch & poles
(7= SRIEEE R AIEL):

5.08 (2P~17P) / 7.62 (2P~11P) / 10.16 (2P~9P)
12.70 (2P~7P) / 15.24 (2P~6P)

Product pitch & poles
(7= RIEBE R AL ):

5.08 (2P~17P) / 7.62 (2P~11P) / 10.16 (2P~9P)
12.70 (2P~7P) / 15.24 (2P~6P)

TQQ-A-6.3-XXP-X Pitch 5.08mm
TQQ-B-6.3-XXP-X Pitch 7.62mm
TQQ-C-6.3-XXP-X Pitch 10.16mm
TQQ-D-6.3-XXP-X Pitch 12.70mm
TQQ-E-6.3-XXP-X Pitch 15.24mm

1090

TQQ-A-2863-XXP-X Pitch 5.08mm
TQQ-B-2863-XXP-X Pitch 7.62mm
TQQ-C-2863-XXP-X Pitch 10.16mm
TQQ-D-2863-XXP-X Pitch 12.70mm
TQQ-E-2863-XXP-X Pitch 15.24mm

i
W |y

i n I T T T
1 LAk Lehd
" . il w ;
How to order ] Ed g] wlt G| zj
TAB SPECIFICATION
TQO -0 - XXP - X
268 50 63 2863 Lot o]
(e]] (¢}
°l o
Color: (=Black BARE Technical d BABE Technical d
echnical data echnical data
Poles l:l D I:] D Approval (IAIE ): BT Approval (IAIE ): s
Tab specification : 2.8 /5.0 /6.3 / 2863 PITCH CODE P Housing (#4%}): PC UL94V0 Housing ( #1%}): PC UL94V0
- Q: Horizontal A A S S - . f%rglzs%%e)?mbent air temperature _30°C to 125°C ?%n&s;;%e)?mblem air temperature _30°C to 125°C
L s: Vertical , Wire range (B FEREE AWG ). 14AWG Wire range ( BIF B BAE AWG ). 14AWG
Sorios Pitch/P 8 | 5.08 | 762 | 10.16 | 1270 | 15.24 Standard color (5REE ) Black Standard color (B REE ) Black
Rated Current ( $EER ): 16A Rated Current ( $UEER ): 16A
Rated Voltage ( #EH E ): 300V AC Rated Voltage ( #EH [E ): 300V AC
Product pitch & poles 5.08 (2P~17P) / 7.62 (2P~11P) / 10.16 (2P~9P) Product pitch & poles 5.08 (2P~17P) / 7.62 (2P~11P) / 10.16 (2P~9P)
(=S ER AR ): 12.70 (2P~7P) / 15.24 (2P~6P) (= SEERAE ): 12.70 (2P~7P) / 15.24 (2P~6P)

106 www.tielee.com ‘%E:

? www.tielee.com 107



1509001 15045001 @
15014001 IATF16949

s Y C€ @f @ @ g

TQQ & TQS SERIES-Fast connector for PCB ) e OEM's Abilities

TQS-A-5.0-XXP-X Pitch 5.08mm
TQS-B-5.0-XXP-X Pitch 7.62mm

TQS-A-2.8-XXP-X Pitch 5.08mm
TQS-B-2.8-XXP-X Pitch 7.62mm

TQS-C-2.8-XXP-X Pitch 10.16mm
TQS-D-2.8-XXP-X Pitch 12.70mm
TQS-E-2.8-XXP-X Pitch 15.24mm

il

08

o151 NJ

TQS-C-5.0-XXP-X Pitch 10.16mm
TQS-D-5.0-XXP-X Pitch 12.70mm
TQS-E-5.0-XXP-X Pitch 15.24mm

oo
| |
L‘ [
WL L

}ﬁ\: |

Mmoo

- -

206 *Pwm i A#ﬂ#

AcPietlP-1

LAk 12

|
[
B4
i

O

|
|
L
\
i

|
f
|
|
|
i
|

150 NL

AR Technical data

A ¥R Technical data

Approval (IAIE ): Al Approval (IAIE ): Al

Housing ( #1%} ): PC UL94V0 Housing ( #4#} ): PC UL94V0
?%n};\ils;;%efmblent air temperature _30°C to 125°C /(Adﬁr}\lls%%e):amblent air temperature _30°C to 125°C
Wire range ( Bk Fi& BL4E AWG ): 18AWG Wire range ( B 715 412 AWG ): 16AWG
Standard color ( ¥R EBIE ): Black Standard color ( FRERE ): Black

Rated Current (FIEE R ): 6A Rated Current ( FUEHE R ): 10A

Rated Voltage ( HUEBE ): 300V AC Rated Voltage ( FUEHE ): 300V AC

Product pitch & poles
(=S EBE R ALER ):

5.08 (2P~17P) / 7.62 (2P~11P) / 10.16 (2P~9P)
12.70 (2P~7P) [ 15.24 (2P~6P)

Product pitch & poles
(F=SEBERAE):

5.08 (2P~17P) / 7.62 (2P~11P) / 10.16 (2P~9P)
12.70 (2P~7P) / 16.24 (2P~6P)

TQS-A-6.3-XXP-X Pitch 5.08mm
TQS-B-6.3-XXP-X Pitch 7.62mm
TQS-C-6.3-XXP-X Pitch 10.16mm
TQS-D-6.3-XXP-X Pitch 12.70mm
TQS-E-6.3-XXP-X Pitch 15.24mm

=]

fi
|
l
|
|
1
|

206 Pitch

AcPitchalP-1)
Lebsbll

TQS-A-2863-XXP-X
TQS-B-2863-XXP-X
TQS-C-2863-XXP-X
TQS-D-2863-XXP-X
TQS-E-2863-XXP-X

Pitch 5.08mm
Pitch 7.62mm
Pitch 10.16mm
Pitch 12.70mm
Pitch 15.24mm

h
|
|
|
i
i

-
Liﬂ' A A
L L

KA YR Technical data A IR Technical data
Approval (TAIE ): Al Approval (IAIE ): s
Housing ( #%} ): PC UL94V0 Housing ( #1#} ): PC UL94V0
(A%rr&sf;kf)}ée):amb@m air temperature _30°C to 125°C ?Sﬁr};;%e)?mblem air temperature _30°C to 125°C
Wire range ( BimFIE %IE AWG ): 14AWG Wire range ( B F1E FB%1E AWG ): 14AWG
Standard color ( ¥RAERE ): Black Standard color ( FRAEBE ): Black
Rated Current ( #EER ): 16A Rated Current ( ZUEHER ): 16A
Rated Voltage ( FIEHE ): 300V AC Rated Voltage ( #EHBE ): 300V AC
Product pitch & poles 5.08 (2P~17P) / 7.62 (2P~11P) / 10.16 (2P~9P) Product pitch & poles 5.08 (2P~17P) / 7.62 (2P~11P) / 10.16 (2P~9P)
(= REERAE): 12.70 (2P~7P) / 15.24 (2P~6P) (= miE R ArE ): 12.70 (2P~7P) / 15.24 (2P~6P)

108 www.tielee.com -

Customized products

At Tianli, we are continually developing various kinds of products to provide more choices for our customers.

Tianli can also offer the manufacture of special products according to a customer's own design. We have
a large Design Department, equipped with the latest design aids, and we also have our own assembly and
moulding machinery in-house. Based on these, we can maximumly reduce our development cost.

Because we deem quality as the most important service we can offer to our customers, both the present and
future clients can be assured of complete satisfaction.

Terminal Project Plastic Molding / Injection

Stamping Project

% www.tielee.com 109



Pitch 2.50mm, 3.50mm, 3.81mm series cross reference list

1509001 15045001 @
1S014001 IATF16949

s Y C€ @ @‘

1509001 15045001 @
1S014001 IATF16949

Al AY CE @ @:

TLPHC-001V | TLPHW-001V
TLPHC-001R|TLPHW-001R

TLPS-001V

TLPS-001R

TLPS-001RL

TLPSW-001V

TLPSW-001R

TLPSW-001RL

TLPS-002V [ J

TLPSW-002V [

TLPS-003V

TLPS-006V

TLPS-007 [ ]

TLPSW-007 [ J

TLPSL-007

TLPSD-007

TLPSDL-007

TLPSDW-007

TLPS-009V

TLPS-009R

TLPSW-009V

TLPSW-009R

TLPSD-010

TLPSDL-010

TLPSDW-010

TLPS-011 [ J

TLPSW-011 [

TLPSD-020

TLPSDW-020

TLPSDL-020

TLPS-100V

TLPS-100R

TLPS-100RL

TLPSW-100V

TLPSW-100R

TLPSW-100RL

TLPS-101V

TLPSW-101V

TLPS-107

TLPSW-107

TLPSL-107

TLPS-109V

TLPS-109R

TLPSW-109V

TLPSW-109R

TLPS-111

TLPSW-111

TLPHL-001V
TLPHL-001R

TLPH-03V

TLPHC-004

TLPHW-004

TLPHDC-005V
TLPHDC-005R

TLPHDW-005V
TLPHDW-005R

TLPHC-006V
TLPHC-006R

TLPHDC-007V
TLPHDC-007R

TLPHDL-007V
TLPHDL-007R

TLPHDC-008V
TLPHDC-008R

TLPHDW-008V
TLPHDW-008R

TLPHDC-010V
TLPHDC-010R

110 www.tielee.com ‘%E:

TLPHDW-010V
TLPHDW-010R

TLPHDC-020V
TLPHDC-020R

TLPHDW-020V
TLPHDW-020R

TLPHC-100V
TLPHC-100R
TLPHC-100RL

TLPHW-100V
TLPHW-100R
TLPHW-100RL

TLPHL-100V
TLPHL-100R
TLPHL-100RL

TLPHC-104

TLPHW-104

TLPHDC-105V
TLPHDC-105R

TLPHDW-105V
TLPHDW-105R

TLPHDC-108V
TLPHDC-108R

TLPHDW-108V
TLPHDW-108R

TLPHS-112 | TLPHSW-112 | TLPHSWA-112

? www.tielee.com 111



Pitch 5.00mm, 5.08mm series cross reference list

1509001 15045001
15014001 IATF16949

s Y C€ @ @‘

PCB Headers
BN

Plugs
B2 asT

TLPS-200V
TLPS-200R
TLPS-200RL
TLPSW-200V
TLPSW-200R
TLPSW-200RL
TLPS-201V
TLPSW-201V
TLPS-201R
TLPSW-201R
TLPS-201RL
TLPSW-201RL
TLPS-207
TLPSW-207
TLPS-214V
TLPSW-214V
TLPS-225
TLPS-313V
TLPSW-313V
TLPS-300V
TLPS-300R
TLPS-300RL
TLPSW-300V
TLPSW-300R
TLPSW-300RL
TLPS-301
TLPSW-301
TLPS-302V
TLPSW-302V
TLPS-302R
TLPSW-302R
TLPS-302RL
TLPSW-302RL
TLPS-305V
TLPS-305R
TLPSW-305V
TLPSW-305R
TLPS-308
TLPSW-308
TLPS-309
TLPSW-309
TLPS-312V

TLPSW-312V

TLPH-200V
TLPHC-200V
TLPH-200R
TLPHC-200R

TLPHW-200V
TLPHW-200R

TLPHDC-200V
TLPHDC-200R

TLPHDW-200V
TLPHDW-200R

TLPHD-203V
TLPHDC-203V
TLPHD-203R
TLPHDC-203R

TLPHDW-203V
TLPHDW-203R

TLPH-201R
TLPH-201RL

TLPH-225

TLB21-002

TLB21-004
TLB21-007

TLPH-300V
TLPHC-300V
TLPH-300R
TLPHC-300R

112 www.tielee.com ‘%E:

1509001 15045001
15014001 IATF16949

s Y C€ @ @

TLPHW-300V
TLPHW-300R

TLPH-300A
TLPHC-300A

TLPHW-300A

TLPHDC-300V
TLPHDC-300R

TLPHDW-300V
TLPHDW-300R

TLPHD-303V
TLPHDC-303V
TLPHD-303R
TLPHDC-303R

TLPHDW-303V
TLPHDW-303R

TLPHS-304

TLPHSW-304

TLPHSWA-304

TLPHW-306

TLPHC-313V | TLPHW-313V
TLPHC-313R | TLPHW-313R

? www.tielee.com 113



Pitch 7.50mm, 7.62mm, 10.16mm, 15.00mm series cross reference list

PCB Headers
B% NG

Plugs
5B
TLPS-400V
TLPS-400R
TLPS-400RL
TLPSW-400V
TLPSW-400R
TLPSW-400RL
TLPS-500V
TLPS-500R
TLPS-500RL
TLPSW-500V
TLPSW-500R
TLPSW-500RL
TLPS-501
TLPSW-501
TLPS-502
TLPS-505V
TLPS-505R
TLPSW-505V
TLPSW-505R
TLPS-516V
TLPSW-516V
TLPS-800V
TLPSW-800V
TLPS-900V

TLPSW-900V

TLPH-400V
TLPHC-400V
TLPH-400R
TLPHC-400R

TLPHW-400V
TLPHW-400R

TLPH-500V
TLPHC-500V
TLPH-500R
TLPHC-500R
TLPH-500RL
TLPHC-500RL

1509001 15045001

15014001 IATF16949

TLPHW-500V
TLPHW-500R
TLPHW-500RL

TLPHC-501V
TLPHC-501R
TLPHC-501RL

s Y C€ @ @‘

TLPHW-501V
TLPHW-501R
TLPHW-501RL

TLC series cross reference list

TLCP-002

TLCH-002V [ ]
TLCH-002R [
TLCHP-003 [ ]

TLCH-001V [ ]
TLCH-001R [ ]

TLCH-100V
TLCH-100R
TLCH-200V
TLCH-200R
TLCH-200VA
TLCH-200RA
TLCHM-200V
TLCHM-200R
TLCHM-200VA
TLCH-300V
TLCH-300R
TLCHM-300V
TLCHM-300R
TLCHW-300V
TLCH-400V
TLCH-400R
TLCH-400VA
TLCH-400RA
TLCHM-400V
TLCHM-400R
TLCHM-400VA
TLCH-500V
TLCH-500R
TLCHM-500V
TLCHM-500R
TLCHM-202
TLCH-203
TLCH-403
TLCH-403L

TLCP-001

TLCPL-001 | TLCP-100

TLCPL-100 | TLCP-200 | TLCP-200A

TLCP-200F | TLCP-200FA

TLCPM-200

TLCPM-200A

TLCPL-200

TLCPL-200A | TLCP-300

TLCP-300F

TLCPM-300 | TLCPW-300

114 www.tielee.com ‘%E:

aAlcom

1509001 15045001
15014001 IATF16949

s Y C€ @ @

TLPHC-516V TLPHW-516V L Lo TLPHC-900V TLPHW-900V
TLPHG-516R TLPHW-516R e S0 PSR TLPHC~900R TLPHW-900R
.
.
o
.
.
0
TLCPL-300 | TLOP-400 | TLCP-400A | TLCP~400F | TLGP~400FA | TLOPM-400 | TLCPM-400A | TLCPL-400 |TLCPL-400A| TLOP-500 | TLCP-500F | TLCPM-500 | TLCPL-500 | TLCPM-201 | TLCP-203 | TLCP-403 |TLCP-403L
°
°
. ° .
° ° .
° ° °
° ° °
°
°
°
° . °
° . °
°
.
.
°
°
°

Singel 3 | B-2550 Kontich | Belgium | Tel. +32 (0)3 458 30 33 | info@alcom.be | www.alcom.be
Rivium 1e straat 52 | 2909 LE Capelle aan den ljssel | The Netherlands | Tel. +31 (0)10 288 25 00 | info@alcom.nl | www.alcom.nl

? www.tielee.com 115



